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( Solution and Colloid)

»>whpE

(solution)

(cdlloid)

1.1



(system) :
( ) : (dis-

persion system) : ;

(dispersion phase), (disperson medi-
um) ,
1 ] 1 = 1
: 1-2
1-1
1-2

/ nm

<1
1 100

> 100




1.2 7

1.2

1.2.1
B
Cs

Ns B . Sl

S L,
S ,

mol

Ns
=Y (1-1)
mol; V , Sl m’
mot L *
mol

c(KMnQ;) =0.10 mot L c(%KMnO4):O.1O mot L

: 15.8g 3.16¢g

1.2.2

o B
kg

1L KM nQO,

bh=—— (1-2)

Sl mol kg L ma , Sl



1.2.3

tion) ,

XB

1.2.4

1-1

90 g,

1.2.5

: B (mole frac-
Ne
XB :_n (1 = 3)
X _L Xa = D
B_nA+nB A_nA+nB
Xa+ Xg =1
, Z xi=1
1 B )
ms
Wg =~ 1-4
o= (1-4)
., m , Wa B ,
w(NaCl) =10% Nad
,100 g NeCl 10 g, 90g m(NaCl) =10g, m(H:0) =
_ m(NeCl) _ 10 g _
n(NaCl) M(Nad) ~58 g mal 0.17 mol
m(H, O) 90 g
H,O) = = — =5.0 mol
n(H.0) M(H.O) 18 0 g md "’ mo
_ n(NaCl) _ 0.17 md _
X(NaCl) =" NaCl) + n(H,0) ~ (0 17+ 5 0) mol - 0 03
x(H,0) = n(H 0O) 5.0 md

n(Nadl) + n(H,0) ~ (0 17+5 0) ma_ 0’



1.3 9

e M Ms _pms  Wsp 1.5
T VT MeVT Memip Mem M (1-5)
Ms B
2.
P m,
_Ne__Ns _ Nep
RVA mp m
- y B ] m
ma,
_ nsg_ nsg_
Cs = m—mA—be (1 6)
&= b (1-7)
1-2 p=1.84g mL ", 96.0%, 500 mL
c(H:90,) =0.10 mol L' H,SO, ?
(1-5)1
(HSQ,) = w(HSO:)x p  0.96x 1.84g mL 'x 1000 mL: L * C18.0mg L
23 ) =T M(H.SOr) 98.0g ma T
c(A) V(B) = ¢ (A) V' (B)
0.10 mot L *x 0.500 L
V(H,S0,) === ——=—=—=22—-0 0028 L=2 8 mL
(H2S0y) 18 mot L ° m
2.8 mL , 400 mL ,
500 mL
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ligative property)

1.3.1

(saturated vapor pressure), (p)

(vapor pressure lowing)
(Roult F M) 1887

P=p°X Xa

0

p , Sl Pa; p .

Xa + Xs =1, Xa=1- Xs,
p=p'x (1- X)=p - P X
P - P=p X
p-p A p,
Ap=p - p=p X
Ap , Pa

1.3.2

(boiling point)  “ (

(1-8)

Pa; Xa

(1-9)



1.3 1

( 1-1)
AA BB
Tp
Tb
373.15 K :
101.3 kPa( )
373.15 K 101.3
kPa,
, , 1-1
A Ty = Kpx bg (1-10)
A Tb y K ; Kb ’
K kg mol™" - kg mol " b , mot kg "
Kb : Ko
: 1-3 Kb
1-3 To Kb
T K Ky K kg mol ~*
(H,0) 373.15 0.52
(CeHs) 353.35 2.53
(CCly) 351.65 4.88
(CH; COCH,) 329.65 1.71
(CHCl3) 334.45 3.63
(CGHs0C, Hs) 307.55 2.16
(freeing point) :
101.3 kPa :




y l - 1 y y
AC BB ,
ATi= Kix ks (1-11)
A Tf ] K 1 Kf ’
K- kg mo " - kg mo'; bs , mol kg *
1-4
Ks
1-4 Tt Ks
T/ K K{ K- kg mol ~*
(H,0) 273.15 1.86
(CsHo) 278.66 5.12
(CsHsNO,) 278.85 6.90
(CioHg) 353.35 6.80
(CH3;COOH) 289.75 3.90
(CgHip) 279.65 20.2
1-3 1.0% , 273.05 K
A Tf = |<fx h3!
e _1me
b = M N = Me
AT = Kix — 22—
f = f mAx MB
Kix ms
Ms = max A T;

, ma + M= Ma, me/ ma= 1.0%



1.3 13

_1.83 K kg ma "x 1.0% _ 1
Me =" 273 15- 273 05 k0 183 kg md

183

: -22.4 CaCl> 2H.0O : - 55

1.3.3

(diffuson)

: (' semiper-
meable membrane) ? ,
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(osmosgs)
(osmo-
SIS pressure)
Mx V=ngx Rx T
M=cx Rx T (1-12)
M , Pa: R ,  8.31kPa L mol *
K™™' T , K
1-4 , 5.18 g, 298.15 K
413 Pa,
MN=gx Rx T
\. —mex Rx T_518gx 8 31x 10° Pa L. mol"* K *'x 293 15 K
° Nx V 413 Pax 1L
=30569 g ma *
30569

(isotonic solution)



1.4

(reverse osmosis)

1-5 NaCl HAC
1-5 NaCl HAC
A T¢(NaCly K A T;(HAc) K
bg mot kg1t
0.1000 0 .348 0 .186 187 0 .188 0 .186 101
0.0500 0 176 0 0930 189 0 0949 0 0930 102
0.0100 0 0359 0 0186 193 0 0195 0 0186 105
0.0050 0 0180 0 0093 194 0 0098 0 0093 1 06
1-2 , 10
-7
10 m , ,
, Fe(OH)s
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1.4.1

(disperson degree)

(specific surface) :

s= o (1-13)
S , m*:S , m:
Vv , m®
) 1 1 1 Cm )
6 cm’, 6x 10°m * 10" cm
, 1000 | 6x 10" cm’, 6x 100 m *
10’ 10°° 10 "m,

(surface energy) :



1.4 17
1.4.2
! Ag’ Agl
Agl 1 100 nm ,
KI ,
I,
-
K+
(counterion) ,
’ 1-3 Kl Agl
,Agl
1-3 :
{(Agl)w nl - (n- X)K+}X_- WK *
( AgNO;

{(Fe(OH)3)m NnFeO"- (n- x)Cl "} " xc”

+

{(ASs)w NHS™- (n- x)H"}*"- xH
{(H.SIO;) w NHSIO;- (N - x)H+}X'. xH

+



1.4.3

1.
1869 (Tyndall)
(Tyndall effect)
?
1 100 nm,
400 760 nm,
2.
, (Brown)
3.

: (electrophoresis)
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b U )
FeCI3 ]
FeO' , Fe(OH); FeO’
HZS H3ASO4 ) )
AS H2S HS | A S HS
H2 SiOs HSIOs  SIO5
H,SiOs HSIO; + H' SO + 2H"
1.4.4
1.
(kinetic sta-
bility) , :
, 20 , 1 mm
25s | 2.5 cm; 100 nm ,

: 1nm 2.5 cm 280 ,

(coagulation stability) ;



(coagulation)
Ba " >Sr”

Rb">K" " >Na" >Li";:
>(:a2+ > MgZ+



1.5

1-6 Agl

mmot L1t 10 Pm mmot L 1! 10" “m
LiNO, 165 2.31 Mg(NO;), 2.60 3.32
NaNO; 140 1.76 Ca(NO3), 2.40 3.00
KNO; 136 1.19 Sr(NO3), 2.38 3.00
RbNO; 126 1.13 Ba(NO;), 2.26 2.78

1.5

1.5.1

(polymers)

1000



(sating out)

(protective effect)
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1.5.2

(surface active substance)

: ( )
( ) —OH,—COOH,—NH:-,
NH, —NH;
1.5.3
(emulsion)
( )
0.1 S0pum
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(emulsifying agent) ,



3. 273.15K

o N o 0o b~
N

(1) ;

(2) :

(3)

10.

11. ?
12.

2. 5.0% (G2 H20n1)

(1) 0.1 mo kg'ng H.> O

KCI X
(2) 0.1 mol L™ 'GsH12 G
1 mol L *CaCl, (
4. (GCs 2 Os)
0.543
(1) ;
(2) 37
5. 20 , 59
kPa

2
?
, 273.15 K ,
2
?
?
0.03, 1.0

5.0% (CsHi2 Os)

( )

,0.1 mot kg™ *CHs COOH ,0.1 mot kg *

0.1 mo L ‘CaCl,
)

0.1 mot L *KCl ,

, 500 mL, 0.366

)9.5% H,10.2% O 80.3% C 5.00



g 0.100 g 5.18 , ?

7. : ;

b(Cl”) = 0.57 mot kg™*, b(SCG; ") = 0.029 mot kg ', b(HCO; ) = 0.002 mot kg™ *,
b(Na") = 0.49 mo- kg *,b(Md*) = 0.055 mo- kg ', b(K") = 0.011 mot kg *
b(Ca") = 0.011 mot kg *

8. , : -3.0 ,
500 g (CeHs O:) ?

9. Hs AsO;

2H3AsSO; + 3H.S AsS + 6H: 0

1 1

10. 10.0mL 0.0l mot L' KCl 100 mL 0.05 mo: L™ "  AgNO;
AC 2
11. 20.00 mL ,
0.53mL 4.0mot L' * KO , 1.25mL 0.05mot L' Na SO

1

0.74 mL 0.0033 mo L Na PO,

12. Cadculate the mass of solute present in each of the following solutions:

(1) 2.0L of 0.050 mot L *sodium hydroxide, NaOH.

(2) 100.0 mL of 0.0020 mot L *barium hydroxide, Ba(OH), .

(3) 0.080 L of 0.050 mol L~ *sulfuric acid, H.SOx .

(4) 1.50 L of 0.850 mol L *phosphoric acid, Hs PO, .

13. The sugar fructose contains 40.0% C,6.7% H, and 53.3% O by mass. A solution of
11.7 g of fructose in 325 gof ethand has a bailing point of 78.59 . The boiling point of ethand
is 78.35 ,and K, for ethanol is 1.20 K- kg mol™ *. What is the madecular formular of fructose ?

14. A sample of HgCl, weighing 9.41 g is dissolved in 32.75 g of ethand, C, Hs OH. The
bailing point eevation of thesolutionis1.27 . Is HgClL an dectrayte in ethand ?Show yaur ca-
cuations. ( Ko =1.20 K- kg mol™ ")

15. Cadculate the percent by mass and the moldity in terms of CuSO. for a solution prepared
by dissolving 11.5 g of CuSO, 5H, O in 0.100 0 kg of water. Remember to consider the water
released from the hydrate.

16. The cdl walls of red and white blood cells are semiper meable membranes. The concentra-
tion of solute partidesin the blood is about 0.6 mot L ' . What happens to blood cdls that are
place in pure water 2In a1 mol L™ *sodium chloride solution ?
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( The General Principle of Chemical
Reaction)

3. Qp.A UA, Hy, A Hy At Hy JAF Si A S,
Sn ArGmArGm At Gn

4. K
A G, K

5.




2.1

2.1.1
1.
: (reactant)
(product)
0= Z veB (2 - 1)
B VB B
(stoichiometric number) vs (2-1)
( ),
¥V 2N+ 3 2H: NH;
0 = NHg-jIZNz-E/ZHz
Vs
v (NH;) =1 V(N)= -1 2 V(H2) = -3 2
2. &
: GB 3102.8—93
(extent of reaction), ¢ , mol &

, 3




2.1 3
o€ =vs 'dns dng = vedk (2 - 2)
(2 -2)
Ne(€) - Mo (80) = Vo€ -&o) Ane=veAE  (2-3)
Ns (&), Ne(§o) & &o B '€ o
: 0, (2-3)
A ng = Vg & =vp A N (2 - 4)
] y AnB
Vg , Ezva'lA ns =1 mol, 1 mol
0= Z vegB
aA + bB gG+ dD
1 mal
E=Va'ANa=Vvs Ane=VéAns=vVp Anp= 1mol (2 - 5)
A ns = vsé , amol A bmol B , gmol G
dmol D

N2(g) + 3Hz(9) 2NHs(9g)
A n(NHs;) = 1 mol

& =AnNn(NHz;Y v(NH;) = 1 mol 2 = 0.5 mol

SN:(Q) + SHi(g)  NHs(g)

A n(NHs;) = 1 mol

& = An(NH;3) v(NH;3) = 1 mol



A ng ) A ng
2-1 c(Cr,G") 0.02000mot L' KCr,O 25.00 mL c(F€")
0.120 0 mol L~* FeSO: ,

2+

6F€ " + CraOF " + 14H" 6Fe " + 2CF" +7H.O

25.00 mL K;Cr, O, )

An(FE " )=0-c(F€ ) V(FE™)
=0-0.1200 mot L™ 'x 25.00x 10 °L
= - 3.000x 10 *moal
E=v(FE ) 'An(FE")

= - %x (-3 000x 10°*)ma =5.000x 10" “mol

An(Cr,3 )=0-¢(Cr ) V(CLG )
=0-0.020 00 mok L™ *x 25.00x 10 °L = - 5.000x 10 *md
£=v(CrL0: ) 'An(CLC )
= - 1x ( - 5.000% 10" *)md = 5.000x 10" *mol

b B )

2.1.2

, ( )
, 298.15 K, 100 kPa

HAC pH, HAC ;

(thermodynamic system)

. (open system)

. (closed system) :

. (isolated system) :



2.1 3

2.1.3
(state) (p) (T) (p)
(V) (n) (U) (H) (9)
(G)

(state function)

p; Va n1 T

pV = nRT
1 2

Ain AR T AN
=(-Mm),ATT=(T2-T1)
2.1.4
( process)
(isotherma process) ;
(isobar process) ;
(isovolume process)
(pa[h) ) (p11V1) (pZ,VZ),




2.1.5

(heat) (work)

J kJ
( )
Q
, Q ( , Q>0);
, Q ( , Q<0)
GB 3102—93
( , W>0);
( , W<0)
(volume work) (expansion work), - pAV
Wi )
W= -pAV + W (2-6)
2.1.6
(thermodynamic energy) (internal energy),

u, (J  KkJ)



2.2 5
U y ]
U ,
AU AU>0,
A U<DO,
A U, U
(law of energy conservation and transformation)
: : (first law
thermody namics) : :
, AU
AU=Q+ W (2-7)
2-2 , 200 kJ,
120 kJ,
(2-7)

AU( )=Q+ W

=200 kJ + (- 120) kJ= 80 kJ
AU( )=0Q+ W

= (- 200)kJ + 120 k= - 80 kJ

80 kJ , 80 kJ

AU( ) + AU( ) =0

2.2



2.2.1
1 Qv
AV = 0, - PAV=0
, W= -PAV+ Wi=0
(2-7)
AU = Qv
QV:AU: U - Us (2-8)
(2_8) ) QV
U
Qv AU
2 Qo A H
Qr
p( )= = p= p,
AU=Q- AV (2 -9)
Q=AU + pPAV
=U,- Ui+ p(V2- Vi)
=(U+ pV2)- (Ui + p V1) (2-10)
(2 - 10) U, p,V : (U+ pV)
(U+ pV) (enthalpy), H, J kI,
H=U}+ pV (2 - 11)
U
H (2 - 10)
H _— AH

Qp: H.- Hi=AH (2-12)



2.2 37

(2 -12) , ,
AH>O0, A H<O,
AH QD;
1 AH )
AH= Q, A H
(2 -12) (2-9),
AU=AH- pAV (2-13)
: pA V : , AH
=AU
1mv ] y (2' 13)
AH =AU +An(g) RT (2-14)
An(g) =¢ Z VB(g) (2-15)
Z VB(g) (
VB )
2-3 298.15 K 100 kPa ,2 mal H: 483.64 kJ
AH AU ( 2H, (g) + O:(g) = 2H.O(9))

AH = Q= -483.64 kJ
An(g) =& 3 Ve =vB‘1AnBZ Ve =(-2mol -2)(2-2-1)= -1 mol

AU =AH-An(g) RT
= (-483.64) kJ- ( -1) molx 8.314x 10 °kJ md " K 'x 298.15 K
= - 481.16 kJ

, ,PAV( An(g)RT) AH
, , A H AU,
A U A H

2.2.2

(Hess G H) “



) Qe =4 H(
Qv
( )
C O, CO
CO,),
C(s) + G:(9)

co(g) +=50:(g)

Qv =A U(

( C
(1) (2)
CO; (g) A H:

CO:(9) A H;

(1) - (2) C(s) +%Oz(g) CO(g) A H:=AHi-A H:
| 2.2
C(s) + 0:(9g) CG: (9)
CO(g) +1 20,(g),  CO(g) + ¥ 20:(g) CO.(g)

AHi=AH:+A Hs
AHs=AH: -AH:

2.2.3

CO

(1)

(2)

(3)



2.2 Ce)

: (standard state)
T p (p =100 kPa)

: 298.15 K

ArH
ArHn =" (2 - 16)

A Hm Jmol™t kJ mao *
&

, ArHm (T) T

C( ) + 0:(9) CO: (9) A, Hm = -393 509 kJ mal ~*




N2(g) + 3H:(Q) 2NHs(g) A/ Hm=-92.4kJ mo "
Ha(g) +%Oz(g) H:O(I) A Hm = - 285.830 kJ mol "
ArHm
(T, p) ! B
B )
. €
. B , g.l,s
, aq
° ) AI’ Hm
(298.15 K) 298.15 K,
H.(g) + 12(Q) 2H1(9g) ArHn=-25.9kJ mo *
298.15 K 1 mol H(g) 1 mal 12 (Q)
2 mol HI(g) : :
4. At Hnm
T , B ,
B T (stan-
dard molar enthapy of formation), A+Hm (B3, T) : kd mol *
f (formation) , B B ( og,l,s
) T
; B : B
ve=1

,H.O(!) At Hm (H20,1) = -285.830 kJ mol **

AU, S, A, G,



2.2 4

H2(g,298.15K, p ) +%Oz(g,298.15K, p ) H.0(1,298.15 K, p )
A Hn = -285.830 kJ mol "'
C 1
C( ) C( )  ArHm = +1.895kJ mol !
At Hn (C, ) = +1.895kJ mol "
T
( ) B(aq)
AiHn (B,® ,ag, T), kJ mol "' “ " o “ o
”! ] ] B
, B ve=1 ,

298.15 K, H. (g)

U 2H,(g) + aq H' (aq) + e’
ArHm =AtHm (H 0 ,a1,298.15 K) = 0 kJ mol ™"

298.15 K, 100 kPa

At Hn
5. Ac Hn
T B ( ) :
1mol B (standard molar
enthalpy of combustion), , AcHn , kJ mol *
, B ve=1 (
) B C CO:(g) , H H.O(l), S S0, (g), N

Nz(g),C|2 HCI(aq) ,



)
6.
T
2-3
ArHn +AcHn () =ArHa ()
Aer+Z ('VB)Ame( )=ZVBAme(
Aer:ZVBAme( )+ZVBAme(
= ZVBAme (B)
0= Z vsB
AerZ Z VBAme(B)
ArHp = Z (-ve)Ac Hm (B)
(2-17)  (2-18) . (2-18)
ArHm
2-4 298.15 K ,100 k Pa C:(9)

Ac Hn (CH4 ,g)

CHs (g) + 202(Q) CO:(g) + 2H0O(1)

)

(2-17)

(2 -18)
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Ac Hm (CH4 ,g) Ar Hm = Z VBAf Hm (B)

At Hm (CO2,Q) +2A¢ Hn (H20,1) - 2A¢ Hm (O2,9) - Ar Hw (CHa ,Q)
[(-393.51) + 2x (-285.85) -2x 0- ( -74.81)]kd mol *

- 890.40 kJ mal " *

2-5 AcHm (GHs,g) = - 1560 kd mol %,

CHs(g) +7 20,(g)  2CO,(g) + 3H.O(l) Ac Hm = - 1560 kJ mal ™~ *
Ar Hn =Ac¢ Hy (GHe,Q) = Z velAi Hn (B)

= 20t Hw (COy, Q) + At Hm (H20,1) - A¢ Hn (G Hs , Q)
Ai Hm (C2He ,g) = 2A1 Hm (CO2 ,g) +3A1 Hm (H2O,1) - Ac Hm (C2Hs , Q)
=[2x (-393.5) +3x (-285.8) - ( - 1560)]kJ ma "*
= -84.4kJmd "’

2.3

2.3.1

?

? 19 70 : (Berthelot P)



(Thomson J) : (ArH<O0),
2Fe (s) + 3 20, (g) Fe,Os () ArHm = -824.2 kJ mol "'
H.(g) + 1 20:(9) H.O (1) ArHn = -285.8kJ mol™*
HCl(g) + NHs(g) NH.CI(s) ArHm = -176.0 kJ mol ~*
NO(g) + 1 20:(g) NO:(g) A Hy = -57.0kd mol *
: : (ArH>0)
101. 3 kPa, 0 ,
CaCO:s (s) CaO(s) + CO.(g) A, Hm =178.5kJ mol **
H. O , H.O
y HZO ) 1
, COz,
N2 s () 2NO, (g) + 1 20:(0Q) A:Hn =109.5 kJ mol ~*
T>484.8 K -1
Ag2COs (S) AgO(s) + CO:(Q9) ArHn =81.3 kd mol
2.3.2
1.
(entropy) ,
S, Jmol % K™! Q , S
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Q
S= kn Q (2-19)
k : ,
oK ,
, Q=1, S (0K) = 0,
ST (0K)=0 , T S(B, T)
, 1 mol B Ar Sn(B) B
Sn(B, T)( B ve=1):
ArSi(B) = So(B, T) - Sn(B,0K) = Su(B, T)
. S (B, T) ,  298.15
K | S» (B) ,  298.15 K ,
S (B) :
At Hm (B) =0
Sw(H" ,aq) = 0
298.15 K
Sn (B, T)
: ; : : (
)
. S (B,g, T) > S

(B,I, T) > S (B,s,T); S (H.0,09,298K)=232.73 mo - K ', S
(H.0,1,298 K) = 69.93 ma * K ', S (H.0,s,298 K) = 39.33 J mol -
K-l

S (HF,g,298 K) = 137.8 3 mol " K'', S (HC,g,298 K) = 186.9
Jmol " K", S (HBr,g,298 K) = 198.7J mol " “ K™ ', S (HI,g,298 K) =

1

206.53 mol - K~ ,
S (CHs:CH,OH, g, 298 K) = 282.5J3 mol " K",

S (CHsO CHs,g,298 K) =266.5J mol " K™ *
, S (0s:,0,298 K)=238.9J mol ™% K'*, S (SO,

9,298 K) =248.2 3 mol " K *



2 ArSn(T)
| Ar Sy Aer,
0= Z VB
Arsn:Z Vs Sm (B) (2 - 20)
2-6 298.15 K Ar S

CaC0s (s) CaO(s) + CO:(Q)
A Sy = Z vs Sn (B)
=1x S§,(Ca0,s) +1x S, (CC,g9)+ ( - 1) Sy (CaCOs,S)

=(39.75 + 213.7-92.9) J ma % K ' =160.53 md " K*

2.3.3
’ AI’ H Ar S
1878 (Gibbs G W) ,
AH- TAS<O0
G=H-TS (2 - 21)
G (Gibbs function), , kJ mol *
H , G
, G A G
AG= G- G=AH-TAS (2 -22)
A G
AG<O0
AG=0
AG>0 ( )

(2 -22) A G AHAS T, AHAS
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T A G , 2-1
2-1
AH AS T AG
+ - 2N>0(9) 2N3(g) + 0, (9)
+ - + 30,(9) 205(9)
N + i CaCOs(s) Cao(s) + CO;(9)
; NHs;(g) + HCI(g) NH,CI(s)
’ 2 - 1 ’
2.3.4
Af Hm y T ’
B , 1 mol
Ar Gm y B T y Af Gm
(B’B1 T) ’ k‘J mOI_l ' ! B
, B ve=1
, B At Gm (BB, T) ,
At Gm (B,298 15 K)
= 0kd mol*
, At Gn (B, aq)

A¢Gm (H' ,aq,298 15 K)

OZZ vsB

A Gn B A{Gn(B,298 15 K)
BiGn =y VehiGn (B) (2 - 23)

Aer = Ar Hm = TAr Sm
1 ’ H,S,G



208 15K A, H(298 15 K) A, S(298 15 K)
, A.G , A, G(298 15 K)
(2-23)  AG(T), (2 - 22)

ArGn (T)= A Hn (298 15 K) - TA, Sn (298 15 K)

2-7 2NO(g) + O (g) 2NO:(g) 298.15K
Ar Gn

A Gm = Z VAt Gm (B)

(2x 51.31 - 2x 86.55)kJ md
-70.48 kd mol " * <0,

2-8 2NaHCO:; (s) Na&CO; (s) +CQO:(g) + H.0(g)

NaHCO: (s) . AGny <O,

Ar Hm = TArSn < O
Ar Hm = ZVBAf Hm (B)

= [( -1130.68) + (- 393.509) + ( - 241.818) - 2x ( - 950.81)]kJ mol *
=135.61 kd mol !
Ay Sy = Z ve Sn (B)

=[134.98 + 213.74+ 188.825 - 2x 101.7 ]I md " K™*
= 334.153 mol -~ K '
135.61x 10° I mo ' - Tx 334.15 3 mol * K~

135.61x 10° J mol ™ *
> S — =~ 405.84 K
334.15J mad " K 1! 05.84

1

<0
T
NaHCO:; (s) 405.84 K

,Aer
) A Gn ) A Gn



2.4

2.4
2.4.1
1.
(reversible reaction)
Hz2(g) + 12(9)
2.

G
B
(chemica equilibrium)

Ha(9) + 12(9)

H2(g) 12(9)

2HI(9)

H2(g9),12(g) HI(9),

2HI(9)
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427 y Hz(g)1|2(g) Hl(g) ) Hz(g)’
l2(g) HI(9) , , 2-2
2-2 H(9) +12(9) 2HI1(9)
| kPa | kPa DZ(HI)
p(H,) p(l2) p(HI) p(H,) p(12) p(H1) | P(H2) p(l2)
1 66.00 43.70 0 26.57 4.293 78.82 54 .47
2 62.14 62 .63 0 13.11 13.60 98.10 53.98
3 0 26.12 2.792 2.792 20.55 54.17
4 0 27 .04 2.878 2.878 21.27 54 .62
Hz(g)+ |2(g) 2Hl(g) A Gy =
. ( dynamic equilibrium) 2-2
, : H2(g) 12(9) HI(9)
( )
( ) ,
2.4.2
1.
(vs)
( ) , 2-2
: ( ) (equi-
librium constant) , Ke Ko

0= Z veB



2.4 51

Ke= ] ()’ (2 - 24)
Ke , Cs B
(p=cRT),
Ko
Kp = |'E| (pe)’e (2 - 25)
Ps B
Ke , K,
( )
2NQ: (g) N. O (g)
Ko = p(N2O:) p~“(NO,)
Pa~' kPa'
2.
GB 3102—93 ,
( ) ( ) :
( ) , C
(c =1mot L") p (p =100 kPa) ( )
0= Z VBB(g)
K =T] (ped p )'s (2 - 26)
0= Z vsB(aq)

K =T] (of c)e (2 - 27)




[] (pd P )e, [] (cdc )'e

(pd p )e,(cd c)e ( Ve )
c = 1mot L 7, . (2-271) ¢ K
(pe/ p ) , (cd ¢ ) ; “ 17,
Clz (9)
MnO,(s) + 2Cl (ag) + 4H" (a) Mn*" (aq) + Cl(g) + 2H.O(l)
c(Mn’") P(Cl
_ C p
K =2"0a ) ? aH) °
C C
( ) ( )
Vs
K K

N2 + 3H: 2NH3

Ki = [p(NHa) p 1°[p(H) p 1 °[p(N) p 177
][2N2+?/ 2H, N H;

Ko =[ p(NH:Y p 1'[p(H2Y p 1 **[p(NYy p 1777
Ky # Kz,K1:(K2)2

( )
( ) , CO:(9) NH; (aq)

CO.(g) + 2NHs(ay) + H.0(l) 2NH, (ag) + CO3 (&) (1)
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=[C(NH4+)/ c 1’[c(CC Y ¢ ]
[ p(CO2) p ][c(NHs) ¢ ]°

(1) CO:(g) NHs(aq) : (), (b), (c), (d)
, (1) (a),(b), (c), (d)
( OH" (a) (d) , H.COs (b) (c)
OH"
H2COs )
2NHs(agq) + 2H.O(l) 2NHs (ag) + 20H  (aq) (a)
CO.(g) + H.O(l) H.COs (aq) (b)
H.COs (aq) CO5 ™ (ag) + 2H" (aq) (c)
+) 2H" (ag) + 20H (aq) 2H20(1) (d)
CO:(g) + 2NHs(ag) + H20(1) 2NHs (agq) + CO5  (aq) (1)

« - Le(NHi) ¢ 1"[e(COs Y ¢ ]
" T [ p(CO) p J[C(NHs) ¢ ]2

= Ka Kb Kc Kd

K
— ¢ ) C )
4.
B
(o)
a = x 100% (2 - 28)
2-9 (1),(2) 700 K , (3)



4

(1) PCk(g) PCL (g) + Ck(g) Ki = 11.5
(2) P(s) + 32 d.(9) PCL () K, =1.00x 10°°
(3) P(s) + 5 2C:(g) PCl (g)
(2) - (1)=(3),
Ks = Ko/ Ki
= 1.00x 10*/ 11.5= 8.70x 10%°
2-10 N:O:(9) N> O (Q) 2NG: (9) , 298 K
0.116, 200 kPa N, QO (g)
N. Qs (Q) 1 md, a
Nz O (9) 2NO:(9)
/ mal 1 0
/ mal 1-a 20
/ mal n =1-a+20= 1+qa
A 1;3' 12-30(' P
K = [p(NG:Y p 1"[p(NOs) p 17"
2 1
= A (pip) T2 (prp) =016
a=0.12 =12%
2-11 10.00 L PC:(g) d2(g)
523 K
PCk (g) + Cl2(g) PCls (9)
, p(PCls) = 100 kPa, K = 0.57
(1) PCk(g) Ck(9) ;
(2) Ck(9)
: (1) PCL(g) Ck(g) x kPa
PCk (g) + Cl2(g) PCls (9)
/ Pa X X 0
/ kPa x-100 x-100 100
K = [p(PCs) p 1[p(CL) p ] '[p(PCLY p ] *
0.57 :% X =232
100
n(PCls) = n(Ck)
_ P(PC:) V(PCs)
RT
232x 10°Pax 10.00x 10" °m’  _ 0.534 m

~8.314 Pa nf- mol" % K *x 523 K
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_ n C|2 _ Clz
(2) a(Ch) _A—H o) 100%_u—2(02)x 100%
Z%X 100% =43.1%
2.4.3
1.
2.3.3 :
A Gn<O
ArGn=0
A Gn>0
: A G
A Gn
Aer:Aer'l' RT|I"IQ (2'29)
(2-29) Q : Q
K : Q
( ), K
’ ’ Aer: 01
B ’
Q K,Q= K/,
0=A:Gn + RTIn K
A Gn = - RTInK (2 - 30)
(2 - 30)
, T Ar G, T
Ar Gm Aer(T):Aer (298.15
K) - TA: S (298.15 K) ,
(2 - 30)
(2 - 30) , A+ Gn . K
) 1 ) Ar Gm ) K )
,Aer
2.
(2 - 30) (2 - 29)
A;Gn= - RTINK + RTInQ (2 - 31)



(2 -31) : (reaction isotherm)
; A Gn K
Q (2-31)
K
Ar Gm: = RT |n_
Q
K Q ]
Q < K ArGn< 0
Q=K ArGn=0
Q > K ArGn>0
2-12 H1(g) U 2l2(g) +¥ 2 Ha(g) 320 K K

p(HI,g) =40.5 kPa, p(l2,9) = p(H.,g) =1.01 kPa,
A, Gn (T) =A; Hn (298 15 K) - TA, Sn (298 15 K)
=[( 62.438/ 2) - 26.48]kd mol * - 320x [(260.9 2) + (130.684 2)
- 206.549] x 10" °k3d ma !
= 8.18kd ma '
A Gy = - RTInK
INK = -A, G/ RT
-8.18 kd mol Y (8.314x 10 *kd mol " K *x 320 K) = - 3.08
K = 4.6x 10 °
Q=[p(l,g) p 1"*[ p(Hz,9)Y p 1"*[p(HI,g) p "
= (1.01 100)x (40.5 100) " =2.49x 10 °
Q<K

AGn= - RTInK + RTInQ
={-8.314x 10 ’x 320x ( - 3.08) + 8.314x 10 >x 320x In[ (1.0 100)
x (40.5 100) ']} kI mo*
= -1.63kd mol '<0
2-13 (CsHsCo Hs )
(1) GHsGHs(g) + 7 2 0 (g) CsHsCH CH.(g) + H.O(g)
(2) G Hs G Hs (g) GsHsCH CH2(g) + H:(g)
298.15 K , , ?
G Hs G Hs (g) GsHsCH CH:(g) H. O(g)

At Gm (298.15)/ kd mol” " 130.6 213.8 - 228.57

(1):  ArGn = Z veAr Gm (B)

= (213.8 - 228.57-130.6)kd mol ' = -145.4 kI md ' <0



2.4

- RT InK
-A: Go/ RT
=145.4x 10/ (8.314x 298.15) = 58.65
K =2.98x 10™
(2): A Gn = Z Vel Gn (B)

A, G
In K

(213.8 - 130.6)kd md ' = 83.2 kI mol ' >0

InK = -A, G/ RT
= - 83.2x 10’/ (8.314x 298.15) = - 33.56
K = 2.65x 10"
(1)
2.4.4 —
, : (
),
1 ( )
( Q=K), ( )
( ) Q ), Q< K
, , Q K,
: ( )
), Q>K ,
( ) :
® ( )l



N2(g) + 3H:2(g)  2NHs(g)
(p: ) , K
K = [p(NHsY p I°[pe(N2) p 17 [ pa(H2) p |77
( ), R = 2p

P2(N2) = 2pi(N2)  pe(H2) = 2pa(He)  po(NH:) = 2pi(NHs)
Q=[po(NH:sY p 1°[p(N) p 1 "[pa(HeY p 1°7°
=[2p(NHs) p 1'[2p(N2) p ] '[2pu(He)/ p 177

=14 K
Q< K
p. =12p , Q=4K > K ,
>ve(g)#z 0
’ZVB(g) :0’
C(s) + H.0(g) CO(g) + H2(9)
2-14 N2Ox () 2NO; (g) 101.3 kPa 325 K
N2 Qs () 50.2%
(1) K ;
(2) 5x 101.3 kPa N2 (Q) a
: (D) , N(N2Q:) = 1 moal, NoOe (Q) a
Ne O (9) 2NCG: (9)
ng/ mol 1 0
ng mol 1-a 20

n / mol l1-a+20=1+a
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1-a 20

ps/ kPa x 101.3 kPa x 101.3 kPa
1+a 1+a
K = [p(NGY p I°[ p(N20:)/ p 17"
2a x101.3kPa2x l-a 101.3kPa ot
1+a 100 kPa 1+a 100 kPa
_4x 0.502 101.3 _
=1.0.502" 100 ~ 137
(2) , K
_ _4a® 5% 101.3
K L. 100 =1.37
a=0.251=25.1%
3.
) ) Q 1
Qz K (T.),
, K (T2) Q,
Aer :Aer = TArSn
Aer = - RT InK
ArHn A:Sy
= - + -
In K T = (2 - 32)
,Aer ArSn Tl T2
K1 Kz ,
n Kk o QcHm AcSe
N/ =""RT, R
ink, = . ArHn ArSh
Nk ="~ "RT, R
Ki (T: ArHn 1 1
In = - - - 2-33
Kz ( T2) R T T2 ( )
,Aer< 0, T ,K1>K2,
( Q>K ), ( ) ,
Aer>0, ,K1<K2, ( Q<K)’



600K ,K =1.61x 10 8,
K

T

1
0 400

: (Le Chatelier H L)

),
(Le Chatélier’ s principle)

2-15 BeSQ, () BeO(s) + SOs(g)
A Hy =175 kJ mo ™', 400 K
(2 - 33)
Kl Tl Ar Hm L
nR(T)_ Acbn
Kz (T2) R T
g L61x 10°°  175x 100 1
Ka -7 8.314 60
K, =3.88x 10 *°
4.
1907
( )
(
2.5.1

(rate of reaction)

B (
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0= Z VB
(GB 3102.8—93)
_&
E‘dt
1 dng
_va dt (2-34)
B!
( )
_&
V=v
_1_ dne
_VBX Vdt (2-35)
(2 - 35) V ,
, v Si mot L % st
_ 1 do
V_va dt (2-36)
doy/ dt :
(2 - 36)
(ty2),
2.5.2
1.
min( ), h( y( )

t]/2=0 693 k,



HC (9)

(1)
(3)

H.(g) + Cl2(9) 2HCI(9g)
H.(9) Cl2 (9)
Cl(g) + B 2Cl(g) + B

Cl(g) + Hz2(9)

H(g) + Clz(9g)
Cl(g) + Cl(g) + B

(

(

HC(g) + H(9)
HCl(g) + CI(g)

(elementary reaction),

SC:Cl2
2NO2
NO, + CO

C|2(g) + B
),
)
)
H2(9) Cl2(g)
SO: + Clz
2NO+ O
NO+ CO
(c'®)

(-Ve)

HCI(g)

(1)
(2)
(3)
(4)

(1)
(2)
(3)

(2)



2.5

aA + bB + gG + dD+
v=kc a (2 -37)
(2-37) , (rate
equation)
Vi1 = kC(SOzClz)
Vv = k& (NO»)
vs = kc(NO:) ¢(CO)
3.
(2 - 37) a, b, A,B,
(reaction order) n A,B,
n= a+ b+
n:0 ’ n= 1 ’ n= 2 '
’ (a+ b+ ) :
2NO+ 2H; N, + 2H.0
v = k& (NO)c(Hz), v = k& (NO) & (H:)
1 b (2 =
37)
V = KCaG (2-38)
, X = ay=Db XY
X,y .
4.
k (rate constant)



(2 -38) :

(x+y)
, mot L % s ¢,
s, mol “ L s ', n mol (" P L
k
Ci2H22011 + H20 CeH1206 + GeHi1206
v = kc(H20) c(Ci2H220n1)
H.O , H., O ,
) k )
vV = KC(C12H22011)
, K = ke(H20) , (
)
2-16 298.15 K , 2NO+ O 2NO;
-1
f-mok L / mob LY st
c(NO) c(0O,)

1 0.010 0.010 1.6x 102

2 0.010 0.020 3.2x 1072

3 0.010 0.030 4.8x 102

4 0.020 0.010 6.4x 102

5 0.030 0.010 1.44x 1071
(1)
(2)
2 (1) (2-38),

v = k' (NO) c(C)

1,2,3 ,  c¢(NO) v ¢(0) , Vv ¢(0:),y=1;
1,4,5 . () ,v ¢ (NO) ., v ¢(NO), x=2

v = k€ (NO) c(O)
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n=x+y=2+1=3

(2)
k= v [Z(NO)c(®)]
=1.6x 10 “mol L % s/ [(0.010 mol L *)?(0.010 mot L™ )]
= 1.6x 10'mad "% > s *
2.5.3
1.
HI(g) , 450 ,  HI(9)
1x 10 °mol L 7, 3.5x 10° - L % st
, ?
( activating
molecular)
2 -4
, , AN
(NA E) E E+AE
Ex
, Eo
100%,
Eo



Eo ) (activation energy),  Ea
kJ mol ~* , ,
( )
( ) CO NO,
( 2-5), co C NO
@)
; ; CO C
NO; N
2-5
2.
, 20 30 ,
(Eyring H)

, (activating complex)

> 500 K
NO:(g) + CO(g) NO (g) + CGC:(9)

., CO(g) NO:(g) ,

o)
NO.(g) +CO(g) [N O C O] NO (g) + CO:(Q)




2.5

N O ,O C
2-6 a
(NO; + CO)
, b (NO + CO)
, C
E. , E,
, Ea
, Ea
A Hmn= Es
- Ea2
2.5.4
1.
2.

NO(g) + CC: (9)



1889

2-17

0.0280 mad

T
T2

-1 L. S_l,

(2 - 41)

(2 - 40)

Inm: -E_

(var t Hoff JH )

10 K, 2 4

V(T+10K) _ kK(T+10 K) _
v(T+10 K _k T+10 K _o 4

NG (g) + CO(g)
650 K

In— = -

k _  E
ke R

v(T) k( T)
Ea
k= Ae RT
( ), A
k 'R T
1Ea 1
_ B
Ink = - R.|_+InA
Ea,
In ki= - E{ RT:+ InA
Ink. = - E{ RT>+ InA
ok E 1 1
nkz_- R T T,

(Arrhenius S A)

(2 - 39)

=

(2 - 40)

(2 - 41)

NO (g) + CO:(g) 600 K

0.220mol % L s,

1
T
A

+Inm

[

1



2.5

0.0280 _ E, 1 1
0.220 © 83143 mol X K ! 600K 650 K

E.=1.34x 103 mol ' =134 kJ ma " *

2-18 2N, 0s () ANO, (g) + O (g) 318K 338K
k =4.98x 10 ‘s’ Kk =4.87x 10 °s ', E. 298K
ks
nk_ & 1 1
n k- R T1 T
n4-98x 107 _ Es 1 1
4.87x 10°° 8.3143 md % K ' 318K 338K
Ea= 1.02x 10°0J mo ‘= 102 kJ md '
298 K ks :
n4-98x 10%s" "t _ 1.02x 100 I md " _1 1
ke 8.3143 ma % K'' 318K 298 K
ks = 3.74x 10 °s™*
3.
(catalyst)
, ( negative catalyst),
(catalysis) :
: V205,
) ;
A G
A Gn>0 )

: ( 2-7 ),
) 503 K ,

2H1(9) Ha(g) + 12(9)



10

6

10

2 -
, 184.1 kJ mol " *; Au
104.6 kJ mol " *, 80 kJ mol " *,
H2 Oz 1 )
(heterogeneous catalysis)
( - )
( ) 1 1 1
«C )
, ( )
(enzyme)
(enzyme catalyss)
( ), ( )
10 H + ’ ’ 37
H* 10



2.6 71
) ) NH3
CO
37
pH 7.35 7.45
2.6

H. SO, , S0O2(Q)
SG:(g) + ¥ 20:2(9) SOs(Q)

(Ar Sn <0)

2-3
SO ,

SOz (9)
ArHm = -98.89 kd mol '
(Ar Hm <0)1



2-3 SO
T K 673 723 773 823 873
a (SO,) %~ 99.2 97.5 93.5 85.6 73.7
p kPa 101.3 506.5 1013 2533 5065
a(S0,) % " 97.5 98.9 99.2 99.5 99.6
:7%S0,,11%0,,82%N, * :101.3 kPa; * * 1723 K
19 Pt Pt
, 20 , V20s , K2O
, SO, 673 K 773 K
VZOS ,SOZ
: : SO; , Oz
; SO, O,
: , SO,
(101.3kPa); V.05 ( ),K:O( ),S0 ;
673 773 K; :SG; 7% 9%;0, 11%;N, 82%
1.
(1) 1 (2) 1 (3) ;(4) ; (5)
(6) ;(7) ; (8) ; (9) ; (10)
(11) ; (12) ; (13) ;(14)
2. X
(1)A/H=Q; (2)A,U=Q; (3)A/H=A,U
3. : ?

4' A H;Ar H’AI’ Hm,Ar Hm 1Af Hm ] & 1A S,Ar SIAF Sn |AI' Sn A G,Ar G;Ar Gm ,Ar GT] ]
At Gy ? ?

5. N2(9) +OG:(9)  2NO(g) N2(g) +3H:(g)  2NHs(g) 427



8. ? ?
9. A(g) +B(9) 2C A+ Hm <0, , ,
k
A
1. (101.3 kPa) : 80 L 160 L,
25 kJ ,
2.
15
GHs(l) + 5 Oz2(9) 6CQC: (g) + 3H20(1)
25 ,100 kPa ,0.25 md 817 kJ ,  GsHs
Ac Hm Ar Um
3. (Ci2H22 O11)
Ci2H22 O (s) + 120G (0Q) 12C02(g) + 11H0O(l)
30% , 70 kg 3000 m (
), , 2 D Ho (CoH2Oun) =
- 2222 k3 mol " *
4. , A Hn
(1) FesOGi () +4H(9) 3Fe(s) + 4H20(9)
(2) 2NaOH(s) + CO: (Q) NaCGO; (s) + H.O(I)
(3) 4NHs (9) + 50 (9) 4NO(g) +6HO(9)
(4) CH;COOH(I) + 20, (9) 2C0O,(g) + 2H, O(1)
5. , (Cz H. ,g) Af Hn
(1) GH (g + 9 20:(9) 2C0G: (g) + H20(9) ArHn = -1246.2 kd mol ™ *

(2) C(s)+ 2H. O(0)

(3) 2H.0O(9) 2H, (9) + G (9)

CQG: (g) + 2H2(9)

A: Hn =90.9 kd mol ™ *
A, Hn =483.6 kd ma '

6. A; Ho (298.15 K)

(1) Fe(s) +CU# " (aq)

FE* (ay) + Cu(s)



4

37

(2) AgCi(s) +Br™ (ag) AgBr(s) +ClI™ (ag)
(3) Fe0s(s) +6H" (an) 2F€ " (aq) + 3H.0(1)

(4) cd" (aq) +2Zn(s) Cu(s) +zn’ " (a)
7.
CHCH,OH ~ CHCHO ° CHCOOH ° CO,
1 ma C, Hs OH Ar Hi A Hn(  T=298.15 K)
8. 208.15 K A, Hn A S» A G,

(1) 2CO(9) + G:(9) 2CC (9)
(2) 4NHs (g) +50: (g) 4ANO(g) + 6H: O(g)

(3) FeeOs(s) +3CO(Q) 2Fe(s) + 3CO: (g)
(4) 2S0: (9) +O:(9) 2S0s (9)
9.
(1) MnOz(s) + 2H2(Q) Mn(s) + 2H:2O(Q)
(2)MnG; (s) + 2C(9) Mn(s) + 2CO(Qg)
25 ,100 kPa ?

?
10. Ar Sn
(1) Zn(s) + 2HCI(a) ZnCh (aq) + H.(9)
(2) CaCOs () CaO(s) + CO:(9)
(3) NHs(g) + HC(g) NH. Cl(s)
(4) CuO(s) + H:(g) Cu(s) + H.O(I)
11. 25 ,100 kPa CaCGs () CaO(s) +CO2(g) ArHm ArSn,
(1) ?
(2) : ? ?
(3)
12.

Ci2H:2011 (s) + 120:(0) 12C0O: (g) + 11H O(l)

A Gn 30% , ( 3.89)
2 ( CoHOn  ArHy = -2222 kd mol™ .S, =

360.2 3 md "t K1)

13. K
(1) CaCOs (s) CaO(s) + CO:(9) (2) 2SO (9) + 0:(9) 290;(9)
(3) C(s) + H20(9) CO(g) + H:(9) (4) Agd(s) Ag’ (ag) + O (aq)

(5) HAc(aq) H" (aq) + Ac’ (aq)



(6) SIO.(s) + 6HF(aq)

H.[SiF] (ag) + 2H O(1)

(7) Hb(a) ( ) + 0:(9) HDbO: (aq) ( )

(8) 2MnO; (aq) + 590: (ag) + 6H" (&) 2Mn’ " (ag) + 5S0: (ag) + 3H.0(1)

14. 298.15 K :

(1) CuO(s) + H:(g) Cu(s) + H.0 (g) K, = 2x 10"

(2) ¥ 20,(g) + H(g) H.O(qg) K; = 5x 107
CuO(s) Cu(s) + ¥ 20G:(9) K

15. 298.15 K

(1) SNOx(s) + 2H:(Q) 2H,0(g) + Sn(s) Ki = 21

(2) H,O(g) + CO (g) H. (g) + CO:(g) K; = 0.034
2CO(g) + SO (s) Sn(s) + 2CO, (g) 298.15 K

K

16. 2NO(g) + O:(g) 2NO, (g) 1500 K

p(NO) =150kPa, p(Cx) = 450 kPa, p(NOz2) = 0

P(NO), p(C) K

17. CO(g) + H.O(g) CO:(g) + H(g) 750 K K =
2.6,

(1) H:O(g) CO(9) 11 ,CO(9) ?

(2) H.O(g) CO(g) 41 ,CO(g) ? ?

18. 317 K, N2 Qs (9) 2NO;(g) K = 1.00 400 kPa

800 kPa N, O, (Q) :
19. 2033 K 3000 K N O,
N2(9) + C:(9) 2NO(9)
NO 0.80% 4.5% K ,

20. CO(NH: )2 A¢ Gn = - 197.15 kJ md ',

298.15 K A Gn K
2NHs (g) + CC:(9) H. O(g) + CO(NH; )2 (s)

21. 25 2H, O (Q) 2H,0(g) +0:(g) ArHs -210.9kd md ' A/ S»
131.8 3 md " * K * 25 100 K | ?

22. Ag O AgO(s) 2Ag(s) + 1 20G: (g)
Ar Hn ,Ar Sy : AgO P(Ce)

?

23. 2902 (g) + O (g) 2S0s (g) 427 527 K 1.0x
100 1.1x 107, A+ Hm

24.. 2H: (g) + 2NO(g) 2H.0(g) + N (Q) v = kc(H) ¢ (NO)

; p(NCG:) = 25 kPa



76

) rv2 ?
25. A + B C, 1.20L , A 4.0md,B 3.0mol ,v
0.0042 mot L™ % st ,
26. 301K 4 h , 278 K 48 h

27. G ,37 84.8 kd mol
A 4.2x 10°h"° 37 G

28. 40 (37 )
1.25

29. ,

T K 645 6/5 715 750
k< 10/ mol"* L min"* 6.15 22.0 77.5 250

(1) Ink-¥ T Ea;

(2) 700 K k

30. Cadculate the values of A Hn ,Ar Sn, A Gy and K at 298.15 K for the reaction
NH,HCOs;(s) = NHs(g) + H.O(g) + CO:(q).

31. From reactions (1) - (5) below, sdect, without any thermodynamic caculations those
reactions which have: (a) large negative standar entropy changes, (b) large positive standar en-
tropy changes, (c¢) small entropy changes which might be either positive or negative.

(1) Mg(s) + Ck(9) MgClz (s)

(2) Mg(s) + l2(9) Mgl (s)

(3) C(s) + O:(9) C (9)

(4) Al;Os(s) + 3C(s) + 3CL(0Q) 2AICL (g) + 3CO(g)

(5) 2NO(g) + Ck(g) 2N OCI (g)

32. Cdculate the vdue of the thermodynamic decomposition temperature ( Tq) for the reac-
tion NH, CI(s) NHs (g) + HCI(g) at the standard state.

33. Calculate A, G, at 298.15 K for the reaction 2NO, (g) N> Os (Q) , Is this reaction
spoontaneous ?

34. It is difficut to prepare many compounds directly from the eements, so A+ Hn vaues for
these compounds cannot be measured directly. For many organic compounds, it is easier to measure
the standard enthapy of combustion Ac Hm by reaction of the compounds with excess C: (g) to form
CO, (g) and H, O(l). From the following standard enthapies of combustion at 298.15 K, deter-
mine A Hy, for the compound.

(1) cycdohexane, G Hi, (1), a useful organic solvent:Ac Hn = - 3920 kd mol ™ *

(2) phend, CsHs OH(s), used as a disinfectant and in the production of thermosetting plas-
tics :Ac Hn = - 3053 kd mol™*.

35. The fdlowing gas phase reaction follows first order kinetics:



FCIO FCIO + O

The activation energy of this reaction is measured to be 186 kd mal '. Thevaueof K at322
is determined to be 6.76x 10" ‘s *.
(1) What would be the vadlue of K for thisreaction at 25 ?

(2) At what temperature would this reaction have a K value of 6.00x 10 st

?



feeng

(green chemistry) (environmental benign che_
mistry),

( ) ( );

(environmental benign technology) (clean tech-
nology )

(1)
(2)

(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)

100%



, (Wacker)

H
CH= CH + H,O ° CHsCHO

1 PdC|2 - CUC|2

CH, CH; + EOZ CH3;CHO
(1) Pd” Pd;
(2) Pd Pd*" ;
(3) Cudl CuCly;

CH. CH:+ H.O + PdCl CHsCHO + Pd + 2HCI
Pd + 2CuCl; PdCl, + 2CuCl

+ 2CuCl + 2HC +%Oz 2CuClz + H20
CH: CH2+%OZ CH:CHO

13 ”

PdCl2 CuCl: ,

, (HCN) ,

(CO) (HC) (NOx) ,



1 Pt, Pd
CO + EOZ CC:

Pt, Pd
HC + O, CO, + HO

Rh 1
NO + CO CO +EN2

Pd,Pt CO HC ; Rh N Oy N2
, 80%

, (6SiO> 2Al,05) @ - Al,Os) ,



( The Basic of Quantitative Analysis)

3.1

(qualitative analysis)
(quantitative analysis)



3.2
: (chemica analyss ) (instru-
mental analysis)
3.2.1
(gravimetric analyss) (titration analysis)
1.
1% : ;
2.
: () :

3.2.2



3.3

1. (optical analysis)
2. (electrochemical analysis)
3. (chromatographic analysis)
( )
X

3.3

3.3.1

100 mg, 10 mL;
10 100 mg, 1 10 mL;
0.1 10 mg, 0.01 1mL



1.
2.
3.
4.
3.3.2
1.
, WsB .
We = % (3-1)



3.4 8
2.
( ) Gs
_ N8
G ="\ (3-2)
Ng B : mol, V : L,
mol L *
3.4
3.4.1
(accuracy)
(error) :
(absolute error) (relative error) (E) ( x)
(xr)
E=x- X; (3 -3)
( Er) ’
_-E
E =_"x 100% (3 - 4)
Xt

2.1751 g

2.1750 g 0.2175 g,
0.2176 g,



E.=(2.1750 - 2.1751)g= - 0.0001 g
E»=(0.2175- 0.2176)g= - 0.0001 g

_ ~-0.0001 o — 0
E = 5 1751 % 100% = - 0.005%
_ ~-0.0001 _
E, = 0.2176 > 100% = - 0.05%

, ; (preci-
sion) , (re-
peatability) (reproducibility)

(deviation)
1 ] 3 = 1



3.4 87

3.4.2
(systematic error) (random er-
ror)
1.
2.



QO
OO

3.4.3

SO

-2



3.5 &8

3.5

3.5.1

Q : :
) Xl,XZ, ,Xn,
x=%(x1+x2+ + Xn =lnzl Xi (3-5)
1 d|
d= x-x (i=1,2, ) (3 - 6)
: d(average deviation) :
A A _
d—nzl|d.|—nzllx. X| (3-7)
d: (relative average deviation):
_d
dr =~ x 100% (3 - 8)
; (3-8) ,
A'B ,

da: +0.15, +0.39,0.00, - 0.28, +0.19, - 0.29, +0.20, - 0.22,
- 0.38, +0.30

n = 10 da= 0.24



ds: - 0.10, - 0.19, +0.91,0.00, + 0.12, +0.11,0.00, +0.10, - 0.69,
- 0.18
n =10 de = 0.24

, B (+0.91,
- 0.69), :
(standard devaition) : ,
o
> (xi-np)
o= - (3-9)
M , ’
Ciml s x (3 - 10)
H= neo Zl |
) ’“
, : S
Z (X - X)2 Z d;
S= — = — (3-11)
sn =0.28, $ =0.40
(relative standard deviation) (CV),
CV = ;Sx 100% (3-12)
3-1 ( ), 35.18%, 34.92%,

35.36%,35.11%,35.19%

. - (35.18+34.92+35 §6+35 11+35.19)% _ o 40,

di =0.03%; b = -0.23%; bk =0.21%;ds = - 0.04%; d& =

0.04%
A . _-(#)0——
d= 1n Z Id|= 0.03+0.23+0 251+0 04+0.04 /0_0_11%
N an_l _ (0.03%)% + (0 23%)2+(05.2il.°f)2+(O.O4%)2+(O.04%)2 0 16%



3.5 a1
s 0.16
CV=""x 100% = x 100% =0.46%
X 35 15
3.5.2
: (confidence interval) ;
, (confidence level ) , P
3-2 X-M, v
) “ y X = ”
- + oo
: 100%
: Mt oOo,Mt 20 + 30 68.3%,95.5%
99.7% , 1000 : + 30
: X
ts
M =Xt — (3-13)
n
S ) n ) t )
3-1
3-1 t
n 50% 90% 95% 99 % 99.5%
2 1.000 6.314 12.706 63.657 127.32
3 0.816 2.920 4.303 9.925 14.089
4 0.765 2.353 3.182 5.841 7.453
5 0.741 2.132 2.776 4.604 5.598
6 0.727 2.015 2.571 4.032 4.773
7 0.718 1.943 2.447 3.707 4.317
8 0.711 1.895 2.365 3.500 4.029
9 0.706 1.860 2.306 3.355 3.832
10 0.703 1.833 2.262 3.250 3.690
11 0.700 1.812 2.228 3.169 3.581
21 0.687 1.725 2.086 2.845 3.153
w0 0.674 1.645 1.960 2.576 2.807
(3 -13) , X ,



3-2 : x=35.21%,s=0.06%
(1) n=4, %% 9%
(2) n==6, 95%

(1) n=4, B% |, sy =3.18

U= x+ <= =(35.21+ 0.10) %
n

99% |, toow =5.84

b= x+ 5=(35.21+ 0.18) %
n
(2) n=6, 95% , tosoe =2.57
u = x+ 5 =(35.21+ 0.06) %
n
, : 95% 99%,
(35.21+ 0.10)% (35.21% 0.18) %; ,
t ! n ’ t y 20
o , n>20 |,
3.5.3
(doubtful vaue) (divergent vaue)
! Q b
Q , Q
1) Q 1
(1) c X1, X2,  , Xn-1, Xn
(2) Q:
Q=" - | (3-14)
, X , Q
Q=" (3 - 15)



3.5 S ¢

Xn , Q
Xn - Xn- 1
Q= Xn - X1 (3-16)

Q , X1 Xn

(3) 3-2 Q( )
3-2 Q

3 4 5 6 7 8 9 10
90% 0.94 0.76 0.64 0.56 0.51 0.47 0.44 0.41
95% 0.98 0.85 0.73 0.64 0.59 0.54 0.51 0.48
99% 0.99 0.93 0.82 0.74 0.68 0.63 0.60 0.57
(4) Q O ) , Q> Q( )

3-3 4 30.34%,30.16% ,30.40%
30.38% Q 30.16% 2 ( 90%)

: 30.16% ,30.34%,30.38% ,30.40 %

_(30.34-30.16)% _
Q=30.40-30.16)% ~° 7

3-2, W% , n=40Q ) =0.76>Q=0.75

3.5.4

:79.58%,79.45%,79.47%,
79.50%,79.62%,79.38%,79.90%

(1) Q 79.90%

_(79.90 - 79 62) % _

Q='79.00-79 38) % 0 >4

3.2 , n=7 , P=90%, Q( )=
0.51, Q>Q( ),79.90



(2) , X:
0
= (79 58+79 45+ 79 A7 +679 50+ 79 62+78 38) % _ 29 50%
(3) d:
0
d= (O.O8+0.05+O.063+0.12+O.12) ) ~0 07%
(4) S.
_ (0.08%)*+ (0.05%)* + (0 03%)> + (0 12%)> + (0 12%)° _
s= P =0 09%
(5) 90%, n=6
3-1 t=2.015
2.015x 0.09
u= 79 50% A % = (79 50+ 0.07) %
3.6
: : 25.00 mL 25.0 mL,
: 10
3.6.1
(significant figures) :
, : 24 .55 mL,
24.54 mL, 24 .53 mL , 3
1 4 1 1
0.2100 g, 0.210 ,
0 , , (0.2100+

0.0001)g + 0.0001, (+ 0.000Y



3.6 %5

0.2100)x 100% = * 0.05%

[13 O" , ’

, : 22.00
mL, “« 0" , ,
0.02200 L, “ , , “ Q"

1 “ U’

, 25.0 mg ug 2.50x 10°
Mg, 25000pug : :

3.6.2

, “ ” , <4 : > 6
: =5 , 5 “ o, 5 :
, O : 5

0.52664 0.5266

0.36266 0.3627

10.2350 10.24

250. 650 250.6

18.0852 18.09

1.
50.1+1.45+0.5812= ?
+ 1 , ,50.1
(+ 0.1), ,

50.1+1.45+0.5812=50.1+1.4+0.6=52.1



2.
2.1879% 0.154x 60.06=2.19x 0.154x 60.1=20.3
+ —L—x 100% = + 0.005%
* 51879 % 0.
+ ﬁx 100% =+ 0.6%
£ ooex 1009 =+ 0.02%
| | 0.154,
, 110001 2.1
¢ pH’pMing ]
| oH = 11.30,
, H c(H") = 5.0x 10 “mot L *
° 8’
8.58
3.7

(titration analysis)



3.7

(titration)
(stoichiometric point, sp)

(indicator) ,
(end point, ep)
: (titration error)

3.7.1

EDTA

n+ n-4

+Y MY

Ag" + X’ AgXi (X:Cl",Br ,I " ,CN ,SCN™ )

3.7.2

99.9%



2.
, , . EDTA
AT AT EDTA , EDTA
, A" EDTA ,
AI’"  EDTA , Znt EDTA
CaCOs , HCl : :
HCI NaOH
) K2Cr, 0Oy NaSOs ,
, , K2Cr2Or NaS0s
NaaSGs, NaaSO; NaSOs ,Na S 05 K2Cr; O
, K>Cr, Oy Kl, K,Cr, O
Kl P NaeS Os P
KM nO, ca ", ca’ CaC, O,
H,SO. , KM nO, ca’ C,0; |
ca’
3.7.3
(standard solution) ,
1.

(standard sub-



stance)
. : 99.9% X
. , , co
Na B;sO; 10H,O Na CO;
, ) , NaB: O 10H20
NaBsO7» 10H20,Na CGs, , H2 C2 Os
2H.0O, K:Cr, O;, CaCOsz, Nao C, 04, KI1G; ,ZNn0O, NaCl , Ag,CU
2.
: 1.226 g K2 Cr, O, : 250 mL
, , 0.01667 mot L' K,Cr,0O;
, 0.1mot L°* NaOH
, 4 g NaOH , , 1L ,
HCI
3.
, B
_nNs
cG =", (3-17)
Ne B .V
(T) ,
T , g mL’ Trek cr0, = 0.005260 ¢ mL ™",
1 mL K:Cr, & 0.005260 g Fe, 1 mL K;Cr, Oy

0.005260 g Fe* , K, Cr, O



100

20.65 mL,

m(Fe) =0.005260 g mL ~*x 20.65 mL =0.1086 g

3.7.4

(3 - 20)
3-4
25.60 mL,

c(NaOH) =

3-5 0.3213g

aA + bB

cC+ dD

(3-21)

(GO 2H O)O0.
NaOH

H.G O + 2NaOH
n(NaOH)

n(H2C204) =

2 m(H2C2 04

3812 g,

NaOH

NaGO, + 2H, O

n(H2C204) =21

m(H2C204' 2H, O)

M(H,C,Os 2H,0)
2H, O)

M(H.C,Os 2H,0O) V(NaOH)
_ 2x 0.3812 g

126.1 g mol” *x 25.60x 10 ° L

CaCQ0;

=0.2362 mot L

CaCGs

1

(3 - 18)

(3 - 19)

(3 - 20)

(3-21)

80.00



mL 0.1000 mol L°* HCI , HCl 0.1000 mot L°* NaOH
, NaOH 22.74 mL, CaCGs

CaCG; + 2HC CeCl, +CO;, + H;O

HCl + NaOH NaCl + H,O
%[C(HCI) V(HQ) - ¢(NaOH) V(NaOH)] M (CaCOs )
w(CaCQs) = - x 100%
%(O.l(]])mj L 'x8000L-0.1000mol L™ ‘x 2.74L)x 100.1g md
= x 100%
0.3213 g< 1000
=89.20%
3-6 K>Cr Oy K, Cr, O; 5.442 g, K;Cr, O
Fe O
Cr,O; + 6F€" + 14H" 2Cr" + 6F€’" + TH, 0
n(Fe) = 6n(K,Cr.0O;) n(Fe) =3n(Fe Q)
Nn(FeQ) =2n(K:Cr, ;)
T _2m(K:Cr, O )x M(FeOs)
Fej0f K,Cr0, = M (KzCr.0O;)x 1000
-1
—44—_ -
-2 2.4 ex 28150 mol__ o gog5es g mL
294.2 g ma 'x 1000 mL
1. ? , ?
(1) ;
(2) ;
(3) ;
(4) : BaSOs ;
(5) : ;
(6) 99% ;
(7) : ;
(8) ;
(9) : ( )
2. ,
3. ?
4. : 3.54,

0.042%,0.041% : 0.04199%,0.4201%



102

? ?
5. ?
0.0372,25.08,6.023x 10" °,100,9.18,1000.00,1.0x 10° ,pH =5.03
6. ? ?
7. ? 2
8. ?
9. ? ?
H.SO, , HCl,NaOH ,KMnQ: ,K,Cr, O; ,H,G Or 2H,0,Na S Os 5H,0
10. H.C: Or 2H20 , , NaOH
, ?
1. + 0.1 mg, + 0.01 mL,
0.1% , ?
?
2. NaOH 0.1 mol L *NaOH 20 30 mL,
(1) (KHGH, O:) ?
(2) (H.C,0x 2H,0) , ?
(3) + 0.0002 g,
(4) ?
3. , , 24.87%,24.93%,
25.05%
4. 41.24%,41.27% ,41.23%  41.26%
5. ,5 :0.160 mg mL *,0.152 mg mL ',0.154
mg mL ',0.156 mg mL *,0.153 mg mL " 95%
6. 20.37%,20.40% ,20.36%
90%
7. 0.12%, 9.56 %
4 6 , (95% )
8. NaOH , :0.1014 mot L~ *,0.1012 mol L™ *,0.1011 mol L™ *,
0.1019 mot L * Q ,0.1019 ( 90%) ?
9. PO SO ( ):

wWw(RG) %:8.44,8.32,8.45,8.52,8.69,8.38;
w(S0.)/ %:1.50,1.51,1.68,1.20,1.63,1.72

Q ,
0% 9%



10. ,
(1) 2.187x 0.854 + 9.6x 10 > - 0.0326x 0.00814
(2) 0-01012x (25.44 - 10 21) x 26.962

1.0045x 1000

(3) —2.82x 50.62
0.005164x 136 6
(4) pH=4.03, H*
11. 1.84, H, SOu ( )  98%, 1L
0.1mot L' H 0 : ?
12. NaOH , 0.5450 mot L', 50.00 mL,
0.2000 mot: L™ * ?
13. 0.1015 mot L ' HCI CaCOs
14. CaCo:; ( ) 0.3000 g, 0.2500 mol L *
HCI 25.00 mL, CO:, 0.2012mot L' NaOH ,
5.84 mL CaCGs
15. , 1.658 g, NH;
25.00 mL 0.2018 mol L ! , HCI 0.1600 mot L™ *
NaOH , 9.15 mL
16.  KIOs NaS, O 0.2001 g K10, Kl ,
Na S Os , , 27.80 mL Na S, Os
? NaS O ”
17. (Pbs ©;) 0.1000 g, , 25 mL 0.02 mot
L " KoCr. O : PbCrO, :
2P " + Cr O + H,O 2PbCro,t + 2H"
., PbCro, Kl , ,  0.1000 mot
L 'NaS O , 12.00 mL Ph; Qs (Pbs O
685.6)
18. (COD) ,
( KMnO:,K:Cr,O;)
( . P (D) : mg L") 100.0 mL,
H2 SO , 25.00 mL 0.01667 mol L™ K2Cr:Or . Ag 04
: : - . 0.1000
mol L' FeSO, : 15.00 mL
( 0, + 4H" + 4e = H,0, 0. K,Cr, & ,3mad O, 2
mol K>Cr, O;)
19. 0.1000 g, NaO: , MnG; ,
MnG; - MnO;,  MnG, MnO; 21.50 mL 0.1000 mol L " FeSO;

M nO,
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20. Four measurements of the weight of an object whose correct weight is 0.1026 g are
0.1021 g,0.1025 g,0.1019 g,0.1023 g. Cdcaulate the mean ,the average deviation, the reative
average deviation(%), the standard deviation, the relative standard deviation( %), the error of
the mean, and the relative error of the mean( %) .

21. A 1.5380 g sample of iron ore isdissolved in acid, theiron isreduced to the + 2 oxida-
tion state quantitatively and titrated with 43.50 mL of KMnO, solution (Fe"* Fe’*), 1.000
mL of which is equivaent to 11.17 mg of iron. Express the results of the analysisas (1) w(Fe);

(2) w(FeGs); (3) w(FeOs).
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4.1.1
, (  HC, HNOs ), (
NaOH,KOH ) ( NaCl,KNO;,Quso, ),
NaOH Na" (aq) + OH (&)
HCI H" (aq) + C (aq)
CuSO:x cu’’ (agq) + SO: (&)
0.02 mot L *
Al (SO, )3 , c (AI°")=0.040 mot L %,
c(SCG ) =0.060 mot L"*
, CHs COOH ( HAc), HCN, H:z S,
H:BO; NHs: H.O ,
HAc H" + Ac’
NHs H,O OH + NH4Jr
(a)
o= x 100%
0.10 mol- L™ *HAc 1.32%,
c(H") = c(Ac )=0.10x 1.32% =0.0013 mot L *
( ; HCl HAC ,
CaCOs , CO; ? ?
4.1.2
100%
, (ionatomosphere) :
(aq)

H* H,0", H*



4.2

(activity)

a=yd c
a Y (activity coefficient) , c

, (1

|=J/22 GZ=12(czZ+0H+ s+ + GZn)

G (mot L°Y), z i

AB (<0.1mok L 1Y),y
- (Debye Huckel)

V2

lgy: = - 0.509| z+ z. | |

4-1  0.010 mol L™ *Nad Na" CI°
I y
=25 ¢ Z = U2[c(Na' ) Z(Na') + c(Cl')Z (ClI")]
= 2 2(0.01x 1 +0.010x 1°) =0.010
lgy: = -0.509| z. z. | 1"?= -0.509x 1x 1x (0.010)"?

y. =0.89
a(Na')=a(Cl')=yd c
-1
=0 gox L0 mol L _ 4 5ne9
1 mo L
<10 , ,
y =1,a=c, ( ),

; , : 1880 1890
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H :
OH~ , ,
y HCl ,NH3 )
NH.CI, , N H, Cl
, N HsOH
( NHs HAc ) , 1905 ( Franklin)
1923 ( Bronsted) ( Lowry)
, (Lewis)
, 1963 ( Pearson)
4.2.1
+
HCI Cl +H"
HAC Ac +H"
NH4 NHs +H"
[ Fe(H20)6]>" [Fe(H.0)s (OH) 177 + H'
H3:POs4 H.POs + H”
H,PO, HPO: +H’
: H”
(conjugated pair of acid base), HCl Cl ,
NHs  NHs, H:PQ/,  HPO:~ Hs PQu - H2POs
,H.PO, . H.PO; - HPO;~ ,H. PO ,
(amphoteric compound) ,
, ( )

: HAc

HAC

Ac ,



4.2 1

HAC H" + Ac’

H, O+ H” HsO"

HAc+ H,O H;O" + Ac’

1 2 2 1

, HAc
1) 1) 1NH3

NH; + H,O OH ™ + NH,

1 2 2 1

1t 2 1+ 2
H+
HClI  NHs ,
1 1 ) H+
HCl + NHs NH; + Cl-
H+
. NH.d NH, ,
NaAc Ac’ .o "
HAC HAc+ H.O HsO" + Ac’
HAc NaOH HAc + OH"~ H,O + Ac
NaAc H.O + Ac’ HAc+ OH "

( ) ,



112

4.2.2
1.
H.O + H,O H:O " + OH~
H H:?,()+
OH
) KW
= C(HO") c(OH") (4- 1)
" C C
c (Lmot L), , c ,
Kw = ¢(HsO" ) c(OH )
Kw (ionization produce of water)
(22 25 )
c(HsO" )= ¢(OH ) =1.0x 10" "mo} L *
Ke =1.0x 100"  pK. =14.00
KW y ]
Kw =1.0x 10" **
H", , c(Hs0" )2 c(OH ): ,
, Kw = ¢(HsO" ) ¢(OH ") c(H:0"),
(4 - 1) c(OH )
2.
) Ka
) y Ka y

Kb y ’ Kb ’
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HAc,NHs ,HS’ H.O Ka
(1) HAc + H,O H3O+ + AC
o Hs0" ) c(Ac’) _ -5
Ky = c(HAC) =1 74x 10
(2) NH, +H,0 HsO" + NHs
. o SO )C+(NH3):5 75x 107
C(NH4 )
(3) HS +H,O H.O" + §°
_UHO)CST) oo
c(HS )
Ka (HAC) > Ka (NH, ) > Ka (HS") , HACc >
NH, >HS’
HAc, NH4 ,HS Ac’ ,NH:, S, H20
Kb
(1) Ac +H,O OH™ + HAc
_C(HAC)c(OH ") _ -
K, = c(HAC C_OH — 5 75x 10"
c(Ac )
(2) NH; + H, O OH™ + NH/
_Cc(NHs)c(OH ) s
Kp = o(NHs) =1 74x 10
(3) S + H.0 HS + OH’
_C(HS )c(OH ) _ 2
Kp = . =7 7x 10
° (S )
Ky , . § " >NH; >
Ac
, Ka y y Kb
Ka Kb , HAc - Ac
Ka Kb
_ Cc(HsO" ) c(Ac’) _ ¢(HAC) c(OH ")
Ka -_ Kb _ _
c(HAc) c(Ac’)
c(HsO" ) c(Ac -
K. Ky = (HsO ) ¢( )x c(HAc)c(_OH )
c(HAc) c(Ac’)

c(HsO" )c(OH ) = Ku

Ka Kb
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Ka X Kb = KW (4 - 2)
(4 -2)
HCl,HCIO, , :
HCl
HCI + H,O H:O" + Cl°
HsO" , K
=~ 10°, HCI Cl~ HcCl ,
Kb ] H
Hs POu
R _ c(H" ) c(H.PO, ) s
H: PO, + H, O HsO" + H,PO; Ko = (HsPO:) =7.6% 10
3
. ) c(H" ) c(HPO;" _
H. PO/ +H20 H:0" + HPO: Ka = (H ) — )=6.3>< 10" °
2 c(H2POs )
] . ] c(H") (PO ]
HPO:  + H20 H:O" + POS K, = L) (2_4 ) _4ax 107
3 c(HPO: )
Kam Kam Ki , Hs PO, > H, PO, > HPQ; -
] Ka ] 1Kb ]
3- - 2 - C(OH-)C(HPOi') -2
PO:  +H:0 OH ™ + HPO; b = - =2.3x 10
! c(PO: )
5. ) ) c(OH ) c(H.PO, ) 7
HPOs + H:20 OH + H2POs Kb = 5. =1.6x 10
2 c(HPO: )
i i c(OH ) ¢(H:PO4) - 12
H:PQ: +H-0 OH ™ + HsPQ: Kb = : =1.3x 10
s c(H2PO: )
PO; > HPO; >H,PO;
) Ka
1
Kb3 ; Ka3 Kb1
4 -2 Hs; PO, Kal:7.6>< 10'3, H, PO, Kb3 NaH, PO,
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: H POs Hs PO4 ,

Kal Kb3 = Ka2 Kb2 = Ka3 Kb1 = KW

_Ke 10x10 Y 12
Koy = Ko, 7 6x10°° =13x10
H2P04- y )
H, PO, + H,0 H:O" + HPQO," Ka, =6.3x 10" °
H:PO; +HO  OH™ +H: PO Ko, =1.3x 10"
1H2PO4_
Ka2> Kb3, HZPO4_ )
3.
a Ka y Kb y Hzo
] Ka ) Kb
] 3 HZO
’ Ka y Kb a
a , AB
G, o}
AB A" + B
/ mot L * o) 0 0
/ mot L ° G- CO Gd G
2
GG (ca) CoOl
K = = =
CaB G- o 1-a
a<5%w ,1-a=1,
Ka Kb (4 - 3)
a= . a= —
G G
G , 0
4 -3 , 0.200 mo- L™ ,NHs H.0 a

0.946% 0.100mol L'  NHs HO a ?
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a < 5%, (4 - 3) ,  cai=cas=Ky
2 2
= s 0-200x(0.00940)- —  0134=1 34%
0.946% 1.34%
4.3
4.3.1 pH
1 pH
() , H:O" ( OH")
pH :
pH= -Ig{c(H:O" ) ¢ }
pH H:O"
pH= -lgc(H")
pH , pOH = -1gc(OH ) :
c(H")c(OH )= K, =1.0x 10 *
-lgf c(H ) c(OH )} = - IgKuw
pH + pOH=pKw = 14.00
pH c(H") , pH

, e(H)  pH ,
pH :

c(H")>c(OH ), pH<7<pOH

c(H")=c(OH ), pH=7=pOH

c(H")<c(OH ), pH>7>pOH

pH  pOH 0 14 : pH<O0, c¢(H")>1 mol
pH>14, c(OH )>1mot L ° (mol

pH (pH_test paper) (acid indica-
tor) pH



Hln

4.3 17
OH OH OH OH on on
+H20 +OH "
C OH C OH o
C @) - H,0 OH H* ©
O c ©
o) @)
( )
O O O O
+OH" c ~ +OH’ C OH A
H* © H °
PKa=9 1 C C
o) @)
) ( )
OH"~ OH
H H H
’ , pH ,
,  PpH
NaO: S N N N(CHs ).
( )
H
+ + +
NaO: S N N N" (CHs):
+OH "
( )
cIn” ;
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Hin H++|n_
_c(H)c(n")
Ka (HIn) = c(HIn)
Ka(Hln)
c(In") _Ka (HIn)
c(HIn) c(H") (4 - 4)
c(n"
, Ka (HIn) ’C((Hln))
c(H")
(4_4)1 C(H+)
c(In")  c(Hin) | c(in ) -
c(HIn) oH = pKa (HIN)
' L cin’) 1
c(In") c(HIn) 7o | wnd
c(HIn)  c(In) %)
c(n )
c(HIn) 10
cn ) 1 1 )
oHm) <10- 10 - 1 = 10 >10
(color change interval) 10 > %((II—?T))_ S 1_10
(4-4)  pH=pKa (HIn)% 1
pKa (Hln)
4-1
- ’ pH = pKa (HIn)
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4-1

pH p Ko (HIn) e
12 28 17 1gLt 20% 1 2

29 40 33 1gL' 90% 1

31 44 34 05gL1? 1

30 46 41 1gL ' 20% 1
40 586 49 1gLt 20% 1 3

44 62 5.2 1gL ! 60% 1

62 76 73 1gL ' 20% 1

68 80 7 4 1gL ' 60% 1

68 84 80 |1gL ' 60% 1
80 100 91 5g L' 90% 1 3
80 96 89 1gLt 20% 1 4
94 106 10 0 1gLt 90% 1 2

, pH=2.4 4.4, pH
=3.1 4.4, ,
. 18
pH=3.1 4.4, 100 pH=2.5 3.7
pH :
(mixed indicator)
(pKa =4.9) (pKa =5.2) , ,
! ’ sz 5.1
g 4 -2
pH : pH
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: pH
pH : pH
4-2
pH
1 1glL-1?
325 pH 3 .2, ;3 4,
1 1glL-?
-1
1 1at 41
1 25¢gL?
1 1glL"1? 43 pH 3 5, 4 05, 14 3,
1 2glL? '
3 1glL1?
5.1
1 2glL1?
1 1glL-1? 6 1 pH 5 .4, 5 8, .6 .0,
1 1glL-1? ' ;6 2,
1 1glL"1?
. 70 pH 7 0,
1 1glL
1 1glL-1?
83 pH 8 .2, ;8 4,
3 1glL?
1 1glL* 50 % 50
3 1glL"? 50% ' ’
-1
1 lgl 99 pH 9 6, 110,
1 1glL"1?
2 1glL?
g i 10 2
1 1glL R
4.3.2 pH
: (proton balance equation) ,
, PBE
, ; (re_

ference level) :

PBE

PBE Hs: O
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1 ()
HA,
HA + H,O H:O" + A~
H,O+H,O H3()Jr + OH"

, HA PBE c(H" )=c(A )+ c(OH)

. _Ka c(HA) o Ku
c(A")= S(H) c(OH )—C(H+)
+. _ Ka c(HA) Kuw
PBE c(H") = o(H) +C(H+)
c(H" )= Ka c(HA) + Ku (4 - 5)
c(HA) Ko = 20Kw  , Ky , H”
(4 - 5)
c(H")= Ka c(HA) (4 - 6)
Ca HA
c(HA)=c- c(H")
(4 -6), cH' )= Kai{G-c(H")} (4-7)
- Ka Ka )2+ 4K,
S(H' ) = + (2)+ Ca (4-8)
G Ka = 20K, , cd Ka = 500
Ca - C(H): Ca, (4'7)
c(H' )= aKa (4-9)
GKa<20 Ky, & Ka=z=500 |, ., c(H")
C(H+)= Ca Ka + Ky (4_10)
4-4 0.10 mot L "HAc pH Ka =1.74x 10" °

P aKi 220 Ky, ¢ Ki= 500,

¢(H")= @Ka = 010x 1 74x 10" °=1 3x 10" *(mot L ")
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pH = 2.89
¥ -3 -1
a=SH ) 10006212310 _mol L, 650021 304
G 0 10 mol L
4-5 0.10 mot L *CHCl, COOH ( ) pH
=010mot L ', K. =5 .0x 107, G@Ka >20K,, & K. <500,
(4-7)
2
(H") == Ka + (Ka) +4Ka @
2
_-50x10°%+ (5.0x10°%)>+4x 50x 10" *x 0.10
- 2
=0 050(mot L)
pH=1.30
4-6 0.050 mot L™ "NH.d pH
NH,’  NHs NHs K, =1.74x 10 °, Ka = Ko/ Ko =
10" " 10
———— =5.75x 10 > 20Ky , >500,
1 74x 10°° @K o K
c(H" )= Ka- = 575%x 10 x 0 050=5 36x 10 °(mol L™ ')
pH =5.27
H” Ka Ko , c(H") c(OH ")
] Cb
o - Ko+t (Ke ) +4Kp
c(OH ) = ( > ) (4-11)
c(OH )= o Ky (4 -12)
4-7 0.10 mok L°* pH
= 0.10mol L', Ky =1.74x 10 °, uKp >20 Ky, o K, >500,
c(OH )= @K, = 010x 1.74x 10°°=1 3x 10 °(mo L 1)
pOH =2 89
pH=14 00 -2 89=11 11
4-8 0.10 mot L *NaAc pH
: Ac”  HAc HAc K, =1.74x 10°° Ac  Kp :

10" *

o = Kl K =100

=5 75x 10 *°
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o Ko >20Kw , @/ Ky >500,

¢(OH )= @K = 010x575x 10°'°=7 58x 10" °(mok L")
pOH=5._12
pH=14.00- 5.12=8.88

Kia > > Ka, Ka/ Ka > 10"°, Hs; OF

2

4-9 0.10 mot L *H. GOy pH
! GO Ka =5.37x 10°%, Ka, =5.37x 10°°, KoM K,

2

G Ka, >20 Kw , &/ Ka <500,

2
_Ka1+ (Kal) +4Ka1C

c(H") = >
_-537x10° %+ (537x 10" *)°+4x5 37x 10" *x 0 10
2
=5 12x 10 *(mol L)
pH=1.29
4 - 10 0.10 mot L™ *N& COs pH
: N& COs oo Ko = Kuw/ Ka :lel-78x 104,
1 2 562x 10
Ko = Ku/ Ka :Luzz-mx 10°°, o Ko >20Ky , & Ko >500,

2 14 17x 10 1 1

C(OH )= K, = 010x178 10 " =422x 10 "(md L ")
pOH=2_37
pH=14.00- 2.37=11.63

, (NaHCO;,
NaH,POs ) (NH4AC) , ,

NaHA ,H2A Ka,
Ka_ ,
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HA  + H,0 H:A+ OH"

HA  + H,O H;O" + A*"
H,O+H,O H;O" +OH~
PBE
c(HsO" ) + ¢(H2A) = ¢(A” ) + ¢(OH ")
.o o(H)cHA ) Ky o(HA ) K,
C(H )+ - + + +
Ka, c(H") c(H")
. Ko, { Ko c(HA™) + Ku }
c(H )= -
Ko, + C(HA ")
NaHA C , K612 sz ,
: c(HA )= c,
Ka (Ko C+ Ky )
c(H") = : ? 4-13
(H) Ko +C ( )
(1)  cKa >20Ku, Ku , H*
. Ka, Ka C
co(H )= ——— 4 -14
(H) e, + C ( )
(2) CKa, >20Kw , €>20 Kaq , Ke + = C,
c(H" )= Ka Kg (4 - 15)
’ f NaH2P04
Na HPO, H*
NaH: PO, : c(H' )= Ka Ky
NaH POs : c(H )= Ka Kg
4-11 0.10 mot L~ "NaHCO; pH

11

 HeCO: Ka =4.17x 107, Ka, =5.62x 10°

CKa2 >20Kw ,Cc>20 Ka,

1
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C(H')= Ka Ko = 417<10 'x 5 62x 10" =4 8x 10 °(mol L ")

pH =8.32
0.10 mot L ‘*NH.Ac Ac’ , Ka Ka, , NHJ
, Ka Ka

2

Kw
cKa =c— >20Ky, c>20K, ,
2 K 1

b

+ KW
c(H )= Ko Ko, = Ka x K,
-5
- A0 0 =10 T (mot LY
1 74x 10
H+
. Ka
c(H") = K (4 - 16)
Kb
(4'16) ) 1Ka:Kb ) ;Ka>Kb
,Ka < Kb
4-12 0.10 mot L™ * ( NH2 CH2 COOH) pH
_ H+ _ +
* HsNCH, COOH " Hs NCH, COO" H,NCH, COO"
+ H* + H*
Ka =4.5x 10" Ke, =2.5x 10 ™

CKo, > 20Ky , C>20 K,

¢(H")= Ka K= 45x10°x25x10 °=1.1x 10 °(mol L ")
pH=5.96

) H

4.3.3
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1.
HAC
H,O" Ac’ ,
HAc+ H20 H:O" +Ac’
) , HAC
NH;Cl,
, HAC NaCl,
Ac’ Cl- Na’ ,
4-13 4 -4 0.10mol L "HAc H’ 1.3x 10 ° mot L~
1.3% ,pH  2.89
(1) NaAc, 0.10 mol L™ 7, H*
pH
(2) Hd , 0.10 mol L', pH
K (HAc) =1.74x 10°°
: (1) NaAc
HAc+ H. O H:O" +Ac
/ mol L* 0.10 0 0.10
/ mot L* 0.10- x= 0.10 x 0.10+ x= 0.10
Kk, =SHCAC) _ x(010+ X) 010X _4 44, 995

c(HAc) 0.10- x 0 10
c(H")=x=1.74x 10 °mol L *,pH=4.76

qoCSH™) _174x 10" mol L"°
c 0 10 mol L*

x 100% =0 017%

(2) HCl : ¢(H" )= 0.10mol L *,pH=1.00

1

NaAc,

,HAC
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HAc + H,O H:O" + Ac
/ mob L* 0.10 0.10 0
/mol L™ 0.10 - x= 0.10 0.10+ x= 0.10 X

_x(0J10+x) 0.10x -5
Ka = = =1 74x 10
0 10- x 0 10

c(Ac )= x=1.74x 10" ° mot L~
o = S(HAQ) _ 1 .74x 10 ° ma L *

1

x 100% =0 .017%

c 0.10mo L *
. HAcC , HCl NaAc ,
HAC
2.
c(H") ©¢(OH),
HZS y
. : _c(H )c(HS ) 7
(1) H2S+ H:0 H:O + HS Kal = c(H.S) =1 .1x 10
(2) HS™ + H,0 H:0" + S K, = SHCS )y 5 41
2 c(HS )
(1) + (2) H,S+2H,0 2H;0" + S
_CZ(H+iC(SZ-!_ - 20
Ka, Ka = (HS) =1 4x 10
c(H'),c(S) c(H:9)
c(S), ,
’ HZS 2 H+ 1
s, HS
4-14 0.10mol L™ * HCI H, S , g
H S 0.10 mol L 7, c(H")=0.10mot L™ ", ¢(S")

_ _E(H (S ) (010 x
K=K K, = c(H2S) ~ 010

x=¢(S )=1.4x 107 mol L *

=1 4x 10 %
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, 0.10mot L' HCI S H.S
S 10° ( )
« ) .
4.4
, 50mL pH  7.00 0.05mL 1.0 mot L *
HCl 0.05mL 1.0 mot L™ "NaOH , pH 7.00
3.00 11.00, pH 4 pH

50 mL 0.10 mot L *HAc 0.10 mot L *NaAc
, 0.05mL 1.0 mol L " *HCl 0.05mL 1.0 mo} L *NaOH ,

pH 4.76 4.75 4.77, pH 0.01
: HAcC - Ac
: pH : pH
: ( buffer solution)
: : , pH
pH
; pH 7.35
7.45,pH :
H.CO; - HCO; ,HPO; ,
pH 7.40 pH
: pH<3.5 pH > 9
pH : pH 6 7
H,COs; - HCO; : ;
: pH,
pH ,
4.4.1

, HB ) ( , B )
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HB+ H,O H;:O" +B~
( )
HB B , HB
-
 H; 0" , B . HB
,H:0" , pH
.
, OH" ,H;0" , ' HB
H,O H,O" HsO" HB B’
. H;0" , pH , , HB
( ) (
) ;
HAcC - Ac , H,PO;, - HPO; , NH, - NHs
HCO; - CO;’
4.4.2 pH
HB NaB : Ca
Cb
HB+ H,O H;O" +B~
C(H+): Ka Q(i)_
c(B )
oH=pK (HB) - Ig-&HB) (4 - 17)
c(B )
: c(HB)
c(B") G G, (4-17) :
pH
H=pKa -lg—= (4 - 18)
PH=pK. -lg°
pH pKa ) Ka
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, pOH
Co
pOH = p K, -Igz (4 -19)

4 -15 50 mL 0.10 mol L' *HAc 0.10 mol L™ *NaAc
(1) pH;
(2) 1.0mol L' HAO0.10mL pH

- (1) pH

PH=pK, - Ig%:4 76 - |98—18=4 76

(2) 1.0 mol L' HClO0.10mL H™  Ac HAC

Ac , HAC

1.0mol L 'x 0.10 mL

G= 010 mot L '+ — =0.102 mot L *
&= 010 mol L°* - W:o 098 mal L
pH = pKa -Ig%=4.76-lg%8§:4.74
pH
4.4.3
: , pH
(buffer capa_
city)
: 11
11 , ,
0.1 1.0mot L%, 1 10 10,
pH  pOH pH=pKs+1 PpOH=pK, + 1,
Ka Kb
pH , 1,
PKa ( PKs ) pH( pOH) pH
= , pKa =4.76 HAc- Ac : pH=9
, pKa =9.24 NH; - NHs Ka , Kb

, pH
: NaOH HCI
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4.4.4
4 -3 , pH
: pH
4-3 pH
pH pH (>5 )
(0.034 mol L™ 1) 3 56
005 mot L°* 4 01
0 025 mot L "*KH,PO, - 0 025 mot L "*NaHPO, 6 86
0 01 mot L1 9 18
4 -16 HAc - NaAc,HCOOH - HCOONa H;BOs; - NaH;BG; ,
pH=4.8 ,
(1) ?
(2) 12 mL c(HAc) =6.0 mot L "HAc , 250 mL :
NaAc 3H.0 ? ,pK (HCOOH) =3.75,pK (HAc) =4.76,pK (HsBG;) =
9.24
- _ Tt
(1) PH=pKa - 197
] pKa pH ]
HAc - NaAc

HCOOH - HCOONa ,

Ig§=pKa -pH=375-48=-105

&:0 089<0 1
G
HAc - NaAc ,

Ig§=pKa -pH=476-48= -0 .04

& _001= 1 1
o
H3 BQ:, - NaH. BQ,

g~ =pKe -pH=924-4 8=4 44
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=2 8x 10'm 10

oo

(2) : 250 mL pH = 4.8

&= c(HAC) =12 mLx 6.0 mot L™/ 250 mL =0.288 mol L *
&=O.91,
G

-1
& = c(NaAc) :% =0.316 mol L *

m(NaAc 3H;0) = ax M (NaAc 3H,0)x 250x 10 °L
=0.316 mot L™ 'x 136 g mol” 'x 250x 10 ° L

=11g
NaAc 3H.O 11 g
4.5 ()
, , H
c( ,
) , 5
4.5.1 ( )
HA , HA A’ c,
HA A c(HA) c¢(A" ), c=c(HA)+c(A ) 0 (HA)
S(A7) HA A’ ,
_Cc(HA) c(HA) _ 1 ___c(H")
O (HA) =" _C(HA)+C(A')_1+ Ka c(H")+ Ka
c(H")
a.>(A.)=C(A')= c(A ) _ Ka

c c(HA) + ¢c(A") c(H") + K.

1, Sd(HA)+d(A )=1
4 -1 , PpPH=pKa : HAc Ac 50%;
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pH<pK. ,HAc . pH>pK. ,Ac’

4-1 HAc Ac & - pH

pH : pH
5(HAc) & (Ac’ ), pH .0 : o - pH (
4-1)
4 -17 pH=4.00 0.10 mot L *HAc ,HAC Ac’
+ -4
5(HAc)= —SH ) —_ 1 0x 10 —=0 85
c(H" )+ Ka 10x 10 " +1.74x 10
) Ka -5
5(AC )= —— = 1.7ax 10 —=0.15
c(H' )+ Ka 1 0x10 “+1 74x 10
c(HAc) =& (HAc)c=0.85x 0 10 mot L ' =0 085 mot L *
c(Ac” )=8(Ac )c=015x 0.10 mol L *=0 015mol L *
4.5.2

2

H. A H. A, HA A% ,
c, c=c(HA)+ c(HA )+ c(A*)

c(H2A (H”
5(H2A)=(2): 1 p— c(+H)
C Ka Ka Ka C(H )+C(H )Ka + Ka Ka
1+ i + 21 +2 1 1 2
c(H) c(H)
Ay 2 SLHAT) C(H") Ke,
c C(H™)+c(H") Ko + Ko Kq
2- Ka Ka
6(Az.):C(‘A ) _ 1

c  F(H')+c(H )Ka + Ko Ky



4' 2 pKal :3.04-,p|‘<a2
=4.37 pH<pKa H. A ;PH > pKa A*" ;
pKa <pH<pK. , HA PKa  pKy , HA

4-2 5 - pH

H:A, c= C(H3A)+c(H2A')+C(HA2')+C(A3')

c(HsA) c(H”
5(HA) = o = (H )
C(H )+c(H )Ka +c(H ) Ks Ko + Ko Ka Ka
2 +
B(HA_)_C(HzA')_ C(H ) K
T e TE(H)+E(H ) Ke +o(HT) Ke, K + Ka Ko Ka,
5(HA )= SHAT) A0 ) Ry K
(o (;~3(H+)+(:2(H+)Kal+C(H+)Kal Ka2+ Kal Kaz Ka3
B(AT )= AT e, Ks, Ke
(o C3(H+)+C2(H+)Kal+C(H+)Kal Ka2+ Kal Ka2 Ka3

5 (HsA) +3 (H2A ) +8(HA® ) +5 (A° ) =1

HsPO: pKa =2.12,pKa =7.20,pKa = 12.36 4 -3 Hs PO4
o - pH
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4-3 HPQ, & - pH

4.6
. NaOH
HAc+ OH Ac +H,;0O
NaOH HCI ,
H® +OH’ H.O
. K
K. = c(Ac ) _1 _Ka 174x10 ° _
" T ¢(HAc) ¢(OH ) Ko Ku 10x10 "
Ka Kb
4.6.1
1.

HAC
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pH
(titration curve)
, 0.1000 mol- L~ *
NaOH 20.00 mL HCl ,
. c(H") = 0.1000
mot L', pH = 1.00
,  NaOH 19.98 mL ,HC 0.02 mL ,
1 0 .02 mL

c(H") =0 1000 mol L "x

1

=50x 10 ° mol L~
pH=4 3

H.0, c(H") =1.0x 10"’ pHsp

NaOH, NaCl
+ NaOH ,
NaOH ,
NaOH 20.02 mL, 0.02 mL
NaOH ,
c(OH ) =0 .1000 mot L *x

0.02 mL
(20 00+ 20 02) mL

=50x 10 *mot L *
pOH =4.30, pH = 14.00 - 4.30
=9.70

4 -4
N aOH

: NaOH
4 -4)
4 -4

NaOH

0.02 mL,

0.04 mL, A NaOH 0.1%, B

(19 98+ 20 00) mL

NaCl
pH , pHsp =7.0

1

c(NaOH) =0 1000 mok L
20.00 mL HCl

+

c(H )
A,
NaOH
NaOH

0.02 mL HCI

0.1%,
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4 -4 c(NaOH)=0.1000 mot L *NaOH
20.00 mL HCI
NaOH / mL HCI / mL NaOH / mL pH
0 00 20 00 1 .00
18 .00 2 00 2 28
19 80 0 20 3 30
19 98 0 02 4 30( A)
20 00 0 00 7 00
20 02 0 02 9 70( B)
20 20 0 20 10 .70
22 00 2 00 11 68
40 00 20 00 12 52
pH 4.30 9.70, 5.4 pH ,
+ 0.1% pH
(titration jump of acid - base) pH
,  0.1000 mol L *NaOH 20.00
mL HC pH=7.00, pH=4.30 9.70
: pH=8.0 10.0,
, pH 8.0, 4 -4 ,
NaOH 0.02 mL, 0.1%
4-5 NaOH HCl
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NaOH HCl

0.1000 mo} L *NaOH 20.00 mL HAC

c(H")= Ko = 0 1000x 1 74x 10°° =1 32x 10 *(mot L 1)
pH=2.88

. Ac , HAC -

) pH =p Ka —|g§ NaOH 19.98 mL

-1
&:c(HAC):%:SDOx 10" ° mot L

19 98 mLx 0 1000 mot L **

& = ¢(NaAc) = (20 00+19 98) mL =5 00x 10 > mot L *
-5
oH=4 76 - Ig % =7 76
. AC- + HZOl

C(OH-)sp: Csp Kb

2000 mLx 0 1000 mo L~*
“ =" (20 00+20 00) mL

PKo =14 00- pK, =14 00 - 4 76 =9 24

1

=5 00x 10 > mot L~

9 24

c(OH )p= 5 .00x 10 *x 10°

Ac

=5 36x 10 °(mot L™ ') ,pOHsp =5 27
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H” , 0.02 mL NaOH ,pH=9.70
1 (
4-6 1
: (
4-6 )
1 HA )
H* , 2  pH , pH=7.75
9.70 4-6 , , :
4 -6 NaOH
) lpH b
] 1 pH
, Ac’
pHsp,

, ; pH=8.0 10.0,
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0.3 pH
< 0.2%, cKa (

Ka/ Ka 2 10°(
pH
0.10 mot L ‘*NaOH

Hs PO,
Hs PO,
H, PO,
HPO:
, € Kan 107,

10*, Ka/ Ka > 10*,
7),

cKp )= 10°°,

H® + H.PO,
H* + HPOZ
H + PG

Hs; PO,

4 -7 NaOH Hs PO4

Hs PO, ,

pPKe =2 12
pKy =7 20
pKa =12 36
HPO;
Hs PO

Ka/ Ka >
1 2
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NaH2PO4,
_4d
pH, =7 (PKa + PKs))

:%(2 12+7 20) =4 66

Hs; PO, , 6(H2 PO4- ) 20.994,
5 (HPO:™ ) =8 (HsPOs) = 0.003, 0.3% Hs POy
, 0.3% H,PO; HPO;
Na HPO,,

1
PHs, == (PKa, + PKa,)

_1 _

= (7 20+ 12 36)=9 78

5 (HPO: ) =0.995, ,

, ( pH= 9) ,
( pH= 10)
: , (HA + HB)
c(HA) K (HA)
! ’ c(HB) K (HB) "~
10°
Ka Kb
HCl Na COs : Na COs prl :3.75,pr2 =
7.62 0Ky, &K , Ko/ Ky = 10,
Na COs ( 4-8) ,
NaHCOe,,

1
PHs, =5 (PKa, + pKs,))

:%(6 38+ 10 25) =8 32
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H. COs
’C(H+)SP:
, CO
NaCl
4 -8 HC
4.6.2
NaOH , H2 SOs
1.
HC
(NaCGs):
270 300 1h,

300

Na COs

, 0.040 mot L %,
cKa, , pHs, =3.89
H,COs CO, CO.
CO
Na COs
0.10 mot L ‘HC 0.10 mot L
HNO:

Na O

1
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N&COs; + 2HC| 2NaCl + CO;t + H:0

(106.0 g mol " ') ,

(Naz B;O- 1OH20) . H;BOs H.BOs

B,O°  +5H,0 2HsBO; + 2H,BO;
(381.4 ¢g mol'l),

60% ( ) HsBOs
( Ka =5.8x 10° "), H.BO; , Ky =1.75x 10°°
0.10 mot L™ *HCI 0.05 mot L 'NaB,Or 10H,0

B:O? +2H" +5H.0 4AHsBO:s

1

, HsBOs 0.10 mol L -, pH

c(H')= cKa= 58x10 “x01=76x 10 °(mot L")

pH=5 1
2.
NaOH , CO:,
H,C, Or 2H,O0): , . =5.37x 10 %, K, =5.37x
1 2
107" Ka/ Ka <10, C0:

, 50% 90% : :
: (126.07 g mol ') :

(KHGHsOu): ) , ,

, (204.2 g mol™ '),
Ky =3.9x 10°°, , ,

NaOH CO;, NaOH
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NaCOs NaOH , )
Na COsz Co: + H20; , Na COs
NaHCO;
) CO., H. COs NaOH ,
CO. H.COs, CO.
, CO
CO:~ NaOH : NaOH (
50%), Na COs , , ,
CO. NaOH ,
4.6.3
1.
Na3P04 ’
, Na. COs Na COs; + NaOH;
NaCO; + NaHCOs,
4-18 1.000 g, , , 20.40 mL 0.2500
mol L *HC : , 0.2500 mot L™ ‘HCl , 48. 86
mL
: , HCl Vi =20.40 mL,
HCl V, = (48.86 - 20.40) mL = 28.46 mL (VARSAVAS
NaCOs, Vi=\s: Na CO; + NaOH, Vi >V,
NaCO; + NaHCO;, Vi Na CO; NaHCO:;, V.
NaHCO; NaHCO; HC
(N COs) = c(HO) Vi m(NazCOs)
02500 mal L 'x 20 40x 10°° I x 106 0 g md "
- 1 000 g
=0 5406
W(NAHCOs) = c(HCI) (V2 - Vi) M(NaHCOs)

m

_ 02500mol L *x (28 46-20 40)x 10 > 1L x 84 01 g mol '
- 1 000 g
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=0 1693
BaCl2 NaOH + Na CGs
HCl : BaCl, ., NaCOs
BaCQO:s, . Hd NaOH,
NaOH NaCO:
2.
. NHs ,ZnO,Alz(SOs) 3
NHs , pKa. =9.25, ,
NH. (aq) + OH ™ (&) NHs (g) + H.O(I)
NHz(g) + HCI(aq) NH4 (ag) + Cl”
NaOH (aq) + HCl(aq) ( ) NaCl (aq) + H20(1)
(NH.)2S0,  NH.CI NaOH , ,
NH; H,SO, HCI ,
, NaOH ,
(NH24)2SOQs NH4Cl
( )
, NH. ,
NH. : (Kjeldahl)
H, SO, , , K>SO, ,
, CuSO, NH, :
H,S0;,, K, SO, .
CmH nN CUSO4 COZT + HZO+ NH4
NaOH ,
4-19 2.000 g H, SO
NaOH , NH; 50.00 mL 0.6700 mol L *HC

BaCO,
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HCl . 30.10 mL 0.6520 mot L *NaOH
W(N) = { c(HA) V(HJ) - c(NaOH) V(NaOH)} M(N)
m

_ (0 6700 mok L ‘% 50.00x 10" ° L - 0 6520 mol L *x 30 10x 10" ° L)x 14 01 g md ®
- 2 000 g
=0 09719

1 ? 2

2. ?

3

4. ,

(1) ;

(2) BaSO, ,AgCl , , ;

(3) : : ,

(4) , c(OH ) V2;

(5) HCI HAC , c(H")

5. ? ?

6. , ?

7. ‘NHs H, O pH ?

(1) NH:C (2) NaOH (3) Hd (4)

1. 300 mL 0.20 mot L™ ‘HAc

2. 0.20mol L' *NHs H,O ¢(OH")

3. (G H; COOH) , 0.40 L  0.20 mol
Lt ,pH  2.50, Ka

4. What is the pH of a0.025 mol L * solution of ammonium acetate a 25 ?pKa. of acetic

acidat 25 is4.76, pK, of the anmoniumionat 25 is9.25, pKy isl4.

5. Ka | Ko ,

(1) HCN, K. =6.2x 10°* (2) HCOOH, K, =1.8x 10°*

(3) CsHs COOH( ), Ka =6.2x 10°° (4) CsHs OH( ), Ko =1.1x 10°*
(5) HASO, , K, =6.0x 10°*° (6) H:GO,, Ka =5.9x 107, Ky =6.4x 10°°

6. ? ?
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H,PO; , CG:" , NHs, NO; , H,O,HSO; , HS ,HCI

7. PBE
(1) Hs POy (2) NaHPO, (3) N&S (4) NHyH, POy
(5) N&G O, (6) NHsAc (7) HO +HAc  (8) NaOH + NHs
8. , NaOH 45 L (pH=9.0),
pH=3.0, 6.0 mot L™ *HCI ?
9. H,SO, : Ko, =1.2x 10°° 0.40
mol L™ ' H, SO,
10. 36.12 mL 0.1000 mot L ' NaOH , 18.06 mL
0.1000 mot L~ *HCl , pH  4.92
11. 1.0x 10 °mol L *HCN pH ( )
12. 0.12mot L™* pH( pKa )
(1) (9.89) (2) (4.25)
(3) (CiHoNH:CI)(9.39)  (4) (G Hs NHNG;) (5.25)
13. H:PO;  Ka =6.2x 1078, Ko ? c(H2 PO; )
, pH ?
14. 0.20 mo NaOH  0.20 mo NH; NG 1.0L,
pH ?
15. 250mL  pH=5.0 , 125 mL1.0 mol L ' NaAc
6.0mo L' HAc ?
16. (CHs ), AsQ; H, CICH, COOH, CHs COOH ,
6.4x 107 ', 1.4x 10" °,1.76x 10°°
(1) pH =6.50 , ?
(2) NaOH 1.00 L
1.00 mok L~ *
17. HCI , 0.20 mol L*
(1) pH=4.0 HAC NaAc ?
(2) 2.0 mol L *NaAc , pH ?
(3) 2.0mol L™ "HAc : pH ?
(4) 2.0mol L™ *NaOH , pH ?
18. 0.500 mok L™ "HNO; 0.5000 mot L *NHs H;0
0.50 1.00 pH ?
19. CO H,COs HCO; : pH 7.4,
c(H.CQs), ¢(HCO; )
20.
(1)  NaHCO 270 300 Na COs 300
Na CO; N&O, HCI , , ?
(2) H.GOs 2H, O NaOH , ,
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N aOH ? ?
(3) NH:Cl  NaAc ?
(4) NaOH cG -, ,

21. ?
(1) 0.1 mol L "HF (2) 0.1 mol L™ "HCN
(3) 0.1 mol L *NH,Cl (4) 0.1 mol L 'GHsN( )
(5) 0.1 mol L 'NaAc
22. ?
(1) 0.1mol L' '"H.C O (2) 0.1mot L "H, S
(3) 0.1mol L * (4) 0.1 mot L~
(5) 0.1 mol +0.1 mot L™ °
(6) 0.1mol L"*H, S0, +0.1 mot L™ *HsBO;
23. Na; PO, , Na, HPO, 1.0000 g,

,  0.2500 mol L™ *HCI , 32.00 mL

, HCl 12.00 mL Na; PO,

—

1

-1

r - -

Na HPO,
24. 2.000 g , H, SO, ( )
NaOH , N Hs 50.00 mL H,SO, (1.00 mL
0.01860 g N&O) 28.80 mL  NaOH(1.00 mL 0.1266 g
) (N 6.25

25. , 7.62% ,K,C0;2.38% KOH
90.00% 1.000 g 46.00 mL 1.000 mo L *HCI , 1.070
mol L " KOH , ?
26. 0.8983 g, ,  0.2896 mol L™ *HCI ,
31.45 mL , , 24.10 mL

27. . PpKa =2.0,pKa =6.0,pKy =12.0 NaOH ,
pH ? pH ?
? ?
28. (HA) 1.250 g, 50.00 mL, 41.20 mL 0.0900
mol L~ " NaOH 8.24 mL NaOH , pH  4.30

(1) (2)
(3) (4)
29. What is the pH at 25 of a solution which is 1.5 mol L™ * with respect to formic acid

and 1mol L " with respect to sodium formate?p K. for formic acid is 3.751 at 25
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30. Cdculate the concentration of sodium acetate needed to produce a pH of 5.0 in a solution
o acetic acid (0.1 mol L'l) a 25 . pKa for acetic acid is4.756 at 25

31. Cdaulate the percent ionization ina 0.20 mol L~ * solution of hydrofluoric acid, HF. ( Ka
=7.2x 10" %)

32. The concentration of H.S in a saturated agueous solution a room temperature is approxi-
mately 0.1 mot L™ *. Caaulated c(HsO" ), c(HS ),and c¢(S ") in the solution.

33. Cadculate the equilibrium concentration of sulfide ion in a saturated solution of hydrogen
aulfide to which enough hydrochloric acid has been added to make the hydronium ion concentration
o thesoution 0.1 mot L " at equilibrium. (A saturated H; S solution is0.1 mot L~ Yin hydrogen
aulfide)

34. Calculae the hydroxide ion concentration, the percent reaction, and the pH of a 0.050

mol L ' solution of sodium acetate. (For acetic acid, K. =1.74x 10" °)
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feeng

30

. Barton

" (femtosecond, 10 *°s) " (nanometer, 10" °m)
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, , 20 80
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, 1999
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-

DNA ,
DNA :
Barton
DNA, ,
,DNA ,
Fred Amson C
,Amson :
, O, 2000
O Co( )



( Precipitation Dissolution Equilibrium
and it’ s Application in the Analysis
Chemistry)

o 0k w

(poly phase ionic equilibrium)
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5.1
5.1.1
: 100 g 0.01
: AqgCI :
, Ag"® CI°
AgCl (dissolution) , Ag’,C’
, Ag- ClI’ AgCl , ,
AgCI (precipitation)
AgCl Ag" CI’
: AgCl (saturated solution)
AgCI(s) Ag’ (ag) + O (ag)
K =c(Ag ) c(Cl )
A:Bm(s)  nA"" (ag) + mB" (aq)
K = C'(A"")c"(B"") (5-1)
(5 = 1) y y )
: : (solubility poduct),
Ksp Ksp



5.1.2
Ksp S
5-1 25 0.000192 g (100 g H,O) *,
AgCl : 1gHO0O 1 mL AgC
, 1L Agd AgCl 0.00192 g, Agd
g mo *,
- 000192g L' s 1
8—143 4g S =134x 10 mol L
AgCl :
c(Ag" ) =c(Cl" ) =1.34x 10 °mol L *
Ke = ¢(Ag")c(C™ ) =(1.34x 10" °)*=1.80x 10 *°
5-2 25C ,AgCrO 0.0217g L', Ag, CrO,
m(A®CrO,) ~ 0.0217g L " -5 1
S= = =6.54x 10" ° mot L
M(AgCrQ:) 331 8g mol !
A CrOs
A Cro; (s) 2 Ag’ (ag) +Cr0i~ (aq)
/ mol L * 2S S
Ke = ¢(Ag" )’ c(CrQh )= (2S)°S=4S =4x (6.54x 10" °)° =1 12x 10" ¥
5-3 25 AgBr Ky =5.0x 10 *?, AgBr (
)
AgBr(s) Ag’ (ag) +Br’ (aq)
AQBr S, c¢(Ag")=c(Br )=S,

Ks = ¢(Ag" ) c(Br )= SS=5.0x 10" *°
S= 50x 10 ® =7 1x 10 "(mot L ")

AgBr 7.1x 10" mok L *

143.4
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5.2
5.2.1
: , Qi
AnBnm ,
Q=c(A")c"(B"") (5-2)
Q Ke , Ksp
Ksp Qi ’ KSP
Q
1 KSp
¢ Qi > Ksp ’ ’ ’
Q> Ky
® Qi: Ksp , ,
° Qi< Ksp , ,
) Qi < Ksp
(solubility product principle)
5-4 4% 10 °mot L' AgNO;  4x 10" ° mol L 'K, CrQ,
Ag CrOs ? Ksp (AeCrQs) =1.12x 10

1

c(Ag ) =2x 10 °mol L *; ¢(CrOi ) =2x 10 °*mot L~
Q = ¢ (Ag")c(Crdi ")

=(2x 10 %)?x 2x 10" °=8x 10" ° > Ko (AgCros),
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20% 25%

, , 10" °mot L'l,
5.2.2
AgCl NaCl :
AgCI AgCl AgCI
AgCI(s) Ag (ag) + C (&)
AgCl NaCl Cl
’ C(Ag+ )C(Cl ) > Ky , AgCl )
c(Ag ) c(Cl™ ) = Ky,
Cl” AgCl Cl- : NaCl
. Ag’ AgCl Ag’ AgCl
Ag’ , ,AgCl  NadCl
5-5 BaSO, 1.05x 10" ° mot L ' ,BaSO, 0.010
mol L *NaSQ, ? Ky (BaSQy) = 1.07x 10 *°
BasO, 0.010 mot L ‘Na& SO, x mot L *,

BaSO.(s) B& " (aq) + SC; ~ (aq)
/ mol L' X 0.010 + X
Ksp (BaSOy) = ¢(B& ") ¢( SO;” ) = x(0.010+ x) =1.07x 10 *° X
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0.010+ x= 0.010
0.010x=1.07x 10° ™

x=1.07x 10 °
Ba0s , 1.07x 10" % (1.00x
10" °), 0.0010
, , AgCl KNO;
, KNO:s 0.01
mot L 'KNO; , AgBroO; 15%,
5.2.3
1.
CaCO3 1]
CaCOs(s) cad’ + CO%
+
HCl Cl” +H’
HCO; + H H, CO; CO,t + H,O
H™  CO: H, COs, CO, H.O,
CaCO; CO; ., c(CadT) c(CO ) < Ky,
CaCOs :
, HY ST HS ,HS
H+

HZS y Sz ) y Qi < Ksp,
ZnS X
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Zns(s) Zn’" + 8-
+
HC Cl™ +H”

HS +H’ H2S
, H.S (H.S 0.1mol L ')S  H

C(H") (S ) = Ka, Ko ¢(H:S)

11x 107 'x13x 10 ®°x01=14x 10" (5-3)

+

(5 -3) H
5-6 0.1 mol FeS 1L ,
0.1 mo FeS 1L ,c(FE") =0.1moatL ', c(HS) =
0.1mot L *
Ko (FeS) = ¢(Fe" ) ¢(S ™)
-19
o )= 2B _159x10 4 59, 10 (o L2
c(Fe ) 01
_EHND(S)
Ko Ke, = c(H2S)
Ka Ka c(H2S) -2
c(H') = L2 - 14x10 4530 (ma LY
c(S7) 1 59x 10
H.S 0.2 mol , 0.030 mol L' +0.2

1

mol L "=0.23 mo+ L~

,  Mg(OH)2,Mn(OH):2, Fe(OH)s,Al(OH)s
: H™ OH’ H2 O, OH" :

M(OH)n+ nH" M"" + nH;O

eM™)Y M"Y (OH ) Kep

- +y N + n - - n S-4
"(H') ¢ (H")C(OH ) (Ku) (5-4)
Ky =107 %, MOH  Ksp 100" (  Ku),M(OH):
Kep 107 ( Kw?), M(OH)s Kg 107 ( Ku'),
11
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Ksp , CuS Ksp
1.27%x 10" *°, ,  c(H") 10°mot L~ %,
38" +2NO; +8H" 3S. + 2NOt +4H,0
CuS :
CuS(s) cu’’ +S°
+
HNOs SI + NOt +H,0
HgS ., 6.44x 10 7, ,
S , cl” Hg "
3HgS + 2HNO: + 12HCI 3H2[ HgClk] +3Si1 +2NOt + 4H:20
3.
AgCl , N Has
AgCl(s) Ag’ +CI
+
2 NHs [Ag(NHz)z2]"
NH; Ag+ [Ag(NH3)2]+, Ag+
Qi < Kg , AgCI
Agl + | Agl,
Pbl, + 21 Pbl:
Hgl, + 2I° Hgli
Cul +1 Culy

,  AlI(OH);
OH" , Al(OH).
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5.2.4
1.
, : (fractiona
precipitation)
0.010mot L * I~ CI’ , AgNO; ,
Agl ! AgNOs AgCl
, Agl  AgC Ag’
. oo Keo(Agl) 8 3x10 " _ 1 1
Agl: c(Ag )> o1 ) - 0010 =8 3x 10 " (mol L 7)
. vy Ko (AgQ) 18x10° " s .
AgCl:  c(Ag ) > c(Cl') 0010 =18x 10 "(mol L™ 7)
, |- Ag’ ol Ag’ ,
Agl AgNO; . Ag’ 1.8x 10 °mot L °
AgCl , |-
_ Ko (Agl) 8 3x 10 " i 1
17) = el — =4 6x 10 L
)= Ag’) " 18x10° (mot L)
, AgCl e
, a
] b pHs
5-7 1.0mol L 'co” , Fe’ pH,
=N ? Ko (Co(OH)2) =1.09x 10 °, Ksp (Fe(OH)3) = 4x 10 >
c (1) Fe° pH:

Fe(OH): (s) FE" (ag) + 30H (&)
Ko (Fe(OH)s) = ¢(F€ ") (OH )

" Kep (FE(OH)s)  ° 4x 10" ®
c(F€*) 10°°

c(OH )= =3 4x 10 " (mok L")
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pH:14- [ - |g(3_4x 10 11)] =3.53
(2) Co* Co(OH). pH:

Co(OH), (s) Co™* (ag) +20H" (aq)
Ke (Co(OH)2) = ¢(Cd* ) ¢ (OH )

Co(OH)
c(Cd ") (OH )< K (Co(OH)2)

Ksp (CO(OH)2) - 1 .09x 10" "
C(C02+) 10
pH<14- [ -1g(3.3x 10 °)] =6.51

c(OH )< =33x 10 °(mol L")

Co(OH), pH 6.51, Fe(OH)s (Fe"
10" °mo L°*) pH 3.53 pH 3.53 6.51 Fe’
Co(OH ). , " co’
5-8 " M 0.10 mot L™ * H. S
H S : pH
?
Ke (ZNS) =1.6% 10" **, Kg (MnS) =2.5x 10 *° , ZnS
A i ., c(Znf*)<1.0x 10" °* mol L°* c(S°) c(H")
(5-3)
Ksp (ZNS S 24 i )
(S ):—P—(Tz:%:l 6x 10 (mot L 1)
c(Zzn" ) 1 0x 10
Ka Ka c(H:S) - 21
c(H") = 10(;2_) = %ﬂmx 10" 2(mot L")
pH =1.70
M’ * pH
.. _Kp(MnS) 25x10 "% 1 1
(S )= oMnS) — 010 =2 5x 10" ¥ (mol L™ %)
Py 14x10°% s 1
c(H )= > Bx 10_12—2.4>< 10 "(mol L )
pH = 4.62
pH 1.70 4.62 , Zns . Mn” ,
zntt Mn®”
2.

(inversion of precipi-
tate)
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: : Na COs , CaSO.
CaC0Os ,
5-9 1L0.1mol L' NaCOs CaSO CaCO; ?
c(0i )=xmo L',
CaS0; (s) + CO3~ CaCOs (s) + SC;~ (ag)
/ mol L ! 0.1- x X

Co(SOT)  o(S0i)c(Ca) Ky (CaSQy) 9 1x 10°°
T ¢(COT) T c(COT)c(Cat) Kg (CaCOs) 2 8x 10°°

c(SG; ) X

=3 3x 10°

=3 3x 10°

T NCcE ) T01- x
x =0.10, c(SCi " )=0.10 mot L™ *
CaSo,
136.14 g mol” 'x 1Lx 0.10 mol L ' =13.6 g
5.3.1

(gravimetric analysis)

0.1% 0.2% :

5.3.2



5.3

SO; ~ + BaCl,

A" + 3NHz H,O

800
BaSO,
800
Al(OH)3
10 °mot L °
50%

20% 30%

BaSO.

Al;Os

100% :
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5.3.3
1.
; — (crys
talline precipitates), BaSO. ; (amorphous precipitates) ,
FeOs xH.O ; (gelating precipitates) AgCl
; 0.1 1pm,
0.02pum,
2.
: (nuclel),
(homogeneous nucleation)
: : (hetrogeneous nucleation)
3.

, , (coprecipita-
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ti on) ) H, SO, FeCls ) Fe (804 )3 )
H, SO, BaCl, FeCls , BaSO,
Fe: (SO0s4)3, Fe (SO.)s BaSO
Fe" B
BaSO. , Ba °
SO ,
Ba® SO SO;T Ba” ,
BaCl, Fe(NGs)s Na SO, , BaSO,
Ba ,Na ,Cl ,NOs , , Ba " ,
, Ba' " ,
NOs Cl- , Ba.( NO3)2 BaCl , NOs , BaSO,
Ba(NO:s )2 , H2S04
Fe(N03)3 BaCl, ) , BaSO, Fez(SO4)3
(occlusion)
SO; Ba * Pb ", ,
. PO BaSO. (mixed crystal ) ,
BaSO. = BaSO, PbSO, AqCl

AgBr,MgNH,POs 6H,0 MgNHsASOs 6H.O
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(post precipitation)

. Mg CaC:0: , Mg "
4.
BaSO4
=
(reprecipitation)
5.3.4

3+

Fe



5.3

1 2h,
2.
, NH4CI,NH4NO3 ’
3.
ca’ (NH1)2C; Oy,
CaCG Oy (NH4)2C204,
HC, O, H,C O : ; ,

NH;s:

CO(NHz). + H.0O CO;t +2NHs;
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2 M(KAI(SO:)> 12H, 0)

m(AI(OH)s3 ) x M(Al,O;)

90% ,

_0_‘|_gx

NH; H ,Cin_
CaC2 04 ,
5.3.5
, BaSO,
BaSO, 0.5051 g,
| - 800
SO, + Bd BaSO,
137 4
Xd
_ 137 4 _
x=0 5051 gx 233 4 =0 29749
137 4
233 4 Bas0. Ba
. FeOs FeOs:
_ 2|\/|(F%O4)
~ 3M(Fe )
g ( ); 0.1 0.3g¢g
5-10 KAI(SOs )z 12H,0 Al
?
. AI(OH); 0.1 gALG

2x 474 g mol”*

0 5051 g

0.9 g+ 90%= 1g

102 g mol ™ *

Ba

~09g



5.4

c

5.4
(precipitation titration)
Ag" +a’ AgCl
Ag" +SCN’ AgSCN !
Ag’ ,SCN™ |
cl : cl
5.4.1
(Mohr) ,
c( Br) AgCl Ag.CrO,
AgCl AgNO; ,
! Ag+ ’ Ag+ Croézl )
AgCrO, : Ag CrO, :
1.

Cl : ,
c(Ag')=c(d") = Kq(AgQ)

AgCl Ag.Cro, . Crog
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Ksp (A92CFO4) _ Ksp (AgZCI’O4)

c(Crdi ) = & (Ag")

1 1x 10 *?

Ks (AQCI)

==="—=——2-6 1x 10 *(mot L ")

~18x 10"
, (Cro:” )
, c(K>CrQ;) =5% 10 °mot L~
c(Ag")=0.1mol L *
, +0.05%,

2.

. (pH=6.5 10.5)
Ag:CrO,

2AQCrOs + 2H " 4AQ" + 2HCrO4

1

c(Cl”)=0.1mol L *

AAg" +Cr207 + H20

: AgO
2Ag" +20H" AgOl +H;0
. , CrO:~ Ag’
Ba ,Pb’" ,Hg " PO: ,AsO: ,S GO

. , [Ag(NHs)2] " : AgCl
AgCrO, )

. Cl ,Br , ) ) SCN

Agl  AgSCN |”  SCN°,

. Cl Ag , AgCrO AgCl

Ag’ , NaCl . Agd : AgNO;
Cl-
5.4.2
(Vo hard) NH4Fe(SOs)> 12H.O ;
: Ag”

1. Ag”



5.4 171

, . NH4SCN( KSCN)

Ag’ : AgSCN
Ag" + SCN"~ AQSCN!
JAg’ ,  SCN°~ ,
[Fe(SCN)]* ",
Fe’" +SCN~ [Fe(SCN)]*"
AgSCN Ag’,
, Ag’
2.
SCN- , AgN03
SCN” , . NHsSCN
AgNO; : PO; -
AsO: S , cl’
Cl'+Ag" () AgCl1
Ag” ( ) + SCN” AgSCN|
Fe" +SCN~ [Fe(SCN)]*"
cl
. AgCl AgSCN

, N H,SCN AgCl

AgCli +SCN" AgSCN. +Cl
NH:SCN ;
NH,SCN N H,SCN :
! AgCl : ,
: NH, SCN AgNO; NH, SCN
: , AgdCl : ,
SCN ,
: AgBr Agl
AgSCN , ;

AgNGs : ,
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2Fe +21 2Fe  + |,
. c(H')=0.2 1
mot L * Fe’” Fe(OH)*" ,
Fe(OH)s
. SCN ;
5.4.3
(Fajans) (adsorption in-
dicators) :
5-1
5-1
(pH)
Cl-,Br I AgNG; 7 10
cl-,Br I AgNO; 4 10
SCN™,Br I AgNO; 2 10
SCN- AgNO; 4 5
,  AgNGs Cl-
: HFIn
HFIn FIn" +H"
Fin : Cl :
AgCl Cl : AgCl CI ,FIn :
, AgNOQO:; Agd
Ag’ , AgClt Ag’ Fin ,
Cl AgCl CI™ +FIn  ( )
Ag’ AgCl Ag” +FIn’ AgCH Ag™ FIn™ ( )

NaCl

Ag,
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Cl

(PKa =7),
pH : HFIn :

(pH=7 10)

, c(Cl7) 5x 10 °mot L ™!

1.
2.
3. CaC O
(1) 0.1 mol L ‘CaCk
(3) NH.C (4) HA
4.  ZnSO H.S,ZnS
NaAc , H.S, ZnS
5. :
(1) CaCOs HACc ;
(2) Fe(OH)s H2S0s ;
(3) BaSO. HCl
(4) MnS HAc, ZnS HAC
(5) AgC HCI(0.2 mol L™ %) ,
6.
7. ? ?
8. ?
9. ?
10. ?
11. Explan how an adsorption indicator works.

HC

|~ >SCN"-

(2) 0.01 mot L™ *(NHz)2C20n

> Br-

Ka

ZnSO,
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AT, Ag'S, Ca (PO;)2, MgNHsASO;

2. CaGO, 0.010 mol L'*  (NHs).C. O
3. Mg(OH ) :

(1) Mg(OH): ;

(2) Mg(OH). OH"

(3) Mg(OH): Mg

(4) Mg(OH), 0.010 mol L *NaOH ;
(5) Mg(OH): 0.010 mo L *MgC

4. ACl 0.00018 g (100 g H,0) (20 ),

5. Zn(OH), 1.2x 107" (25 ),

6.10mL 0.10 mol L *MgCL 10 mL 0.010 mot L~ * , Mg(OH):
?

7. 20mLO.5mo L ‘MgCh 0.10mot L°*  NHsz H0 ,

Mg(OH), ? Mg(OH), , NH, Cl (

NH, Cl : ) ?
8. cd’ 0.10mg L *
cd ", , pH ?

9. Fé* Féeé", 0.05mot L ™* Fe(OH)s
Fe* Fe(OH): , pH ?

10. 0.1 mot L 'FeCl H S, Fe" FeS , pH

?

11.

2+

Na' Mg’ Cd

2+

Fe

3 +
I

A

/ mol L 0.46 0.050 0.01 4x10 " 2x10 '
(1) OH" ,Mg(OH), ?
(2) : ?
(3) OH’ 50% Md ", ?
(4) (3) 1L ?
12. , 0.75mg L' Cu’
Cu* , Cu*
CuSOQ,, CuS, Cu(OH),, CuCG;, Cu(NG):
13. , Fe'* ,
Fe" ?
Ca(OH);(aq), KNOs(s), FeCs(s), NH.NOs(s)

14. ,
(1) PbS+ 2HAc Pb’" +H2S+2Ac
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(2) Mg(OH); +2NH, Mg * + 2NHs H,O

(3) CU* +H,S CuS+ 2H"

15. ( )

(1) PO (NH, )3 POy 12M00s

(2) MgSOr 7TH,O MgRG

(3) FeO Fe O

(4)  AkOs Al(Co Hs ON)3

16. FeSOy 7H, O , Fe( OH)s Fe:Os

Fe G 0.2 g, ?

17. 0.3232 g, , Baso, 0.2982
g SO;

18. 0.1350 g; 0.1120 mot L™ *  AgNO; 30.00 mL,
0.1230 mot L' NH4SCN AgNO:s , 10.00 mL a’

19. 2.075 g, , , 0.04600 mol L '

NH,SCN 25.50 mL Ag

20. Cdculate the moar solubility of Sn(OH)- .

(1) In pure water (pH=7);

(2) In a buffer solution of containing equal concentrations of NH; and NH, .

21. Even through Ca(OH):is an inexpensive base, its limited solubility restricts its use.
What is the pH of a saturated solution of Ca(OH), ?

22. A solution is0.010 mol L™ ‘inboth Cu" " and Cd " . What percentage of Cd " remains in
the solution when 99.9% o the CU* * has been precipitated as CuS by adding sulfide ?

23. Cdculate the moar solubility of each of the following mineras from its K
10

(1) dabandite, MnS: Ko =2 bx 10

(2) anglesite, PbSO; : Ky =1.6x 10°°
(3) brucite, Mg(OH); : Ke =1.8x 10" *
(4) fluorite, CaF, : Ke =2.7x 10"

24. Condder the titration of 25.00 mL o 0.08230 mot L ‘Kl with 0.05110 mot L *
AgNG; .Cdculate pAg at the following volumes of added AgNO:s :

(1) 39.00 mL  (2) Ve (3) 44.30 mL



176

feeng

,NADPH) ,
NO
NOS, NO, NO

NO

CEN, May,6,1996:38 42

NO

100

NO

NO

NO

Duke
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’NO )
NO
NO, NO
NO
NO,
NO, :
,NO
N - -D - :
NO
; NO
, , NO
NO
Co( ) NO
NO : NO
NO

NO

NO

NO

NO

NO

NO

NO,

, Co(

NO



1/8

NO
Nitrophorin
pH  6.35( ) NO
NO
ONOO- pH
NO
NO :
NO
, Diazeniumdiol ates
2 mal NO

NO

NO
NO
pH 5.5( )
pH
) ,
1 2 s,
100 ,
NO
X
NO
20 h
NO

,NO
NO



( Redox Equilibrium and Redox Titra-
tion)

o0,k w

(redox reaction)
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6.1
6.1.1
number) 1970
ber) ,
. ( Cu,Os
-1; ( KO)
+1,
+1, +2

6-2 FeO, Fe

Fe +8 3

, ( , OXidation
(IUPAC)

(apparent charg num-

HCI H +1,Cl -1
- 2; ( Hz2G,N&O: )
-1 2;, OR + 2
( NaH,CaH:) -1
-1
N X

X+ (+1)x 4= +1
X= -3

Fe X,
3x+(-2)x4=0
X =+83



6.2

6.1.2

(oxidizing agent)

6.2

H2 O

) 1 (
,  CHa, CH3Cl, CH.Cl, CHCls

-4, -2,0,+2 +4

(reducing agent) ,

( - ) :
NaCl
2Na 2Na" +2e’
Cl, +2e 2Cl
H202+|- H-O+ |»
[, +2e
2H, O

H. O, +2H" +2e

CCl,
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H, O, H., O, o) , 2
), 2 H 0O H. O:
H, O +2H" 2H,0
2
H,O, + 2H " + 2¢ 2H,0
, OH" H, O,
6-1
6-1
o H H,0
0 H,O H*
0 H,O OH"
0 OH"- H,O
( ) (@] H,O OH"
o] H, O ( ) H*
OH_( ) Hzo
H,O, + 2H Tt 2e’ 2H,0
+) 21 I, + 2e’
H,O, +21  +2H" 2H,0 + I,

6.3

6.3.1

CuSO, ,

Zn(s) + Cu’ " (aq)

Zn' " (ag) + Cu(s)



6.3

ZnSO,; CuSO, : ZnSO,
zn CuSO,
Cu |
(
KCl : ,
KCI
) U
( , sat bridge),
6-1
(A) 6-1
: (primary cell)
: ( ) ,
(negative dectrode) , ;
(padtive electrode) , , Cu-2Zn

(Zn): Zn(s) zZn’ " (aq) +2e
(Cu): CU" (ay) +2e Cu(s)
Cu- 2Zn

2 +

Zn(s) +Cu " (ag)  Zn" " (ag) + Cu(s)

Cu- Zn . Zn cu®*



(-) Zn|ZnSOs( )l CuSO: () |Cu (+)

(-) : (+) O Sl
. C , 1mol L™ " “
( ), Zn,
Cu; ( ),
7", cu”
(oxidation - reduction couples)
[ 17 [ ] : CUW*/ Cu, Zn**I Zn
Cr,O5 / Cr®* , ,
H'/H, OJ OH’ Fe’'/ F€" ,ClJ/ C  ,04 OH ,
, H" (c)|H:|Pt
(Ox) + ne ( Red)
n
, cCr,o/Ccr’ |
Cr,O? +14H" + 6e’ 2Cr** +7H,0
6-3

(1) S +HgCL  Sn'* +2Hg+ 2CI°
(2) FE€" (0.10mol L™ ")+ CL (100 kPa) Fe€” (0.10 mol L ") +2C (2.0 mol L")
: (1) () sn"  sn'’o+2e
( ) HgCh +2e 2Hg +2CI°
(-)Pt|ST" (a),Sn'" ()l d (&)|HgCL|Hg|Pt (+)
(2) ( ) Fe* Fe'* +e
() O+ 2e 2C1°
(-) Pt|F€" 0.10 md- L™ ', Fe€" (0.10 mol- L™ *) I O™ (2.0 ma- L ") |
Cl, (100 kPa) |Pt ( +)

6.3.2

CU' Zn y b
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1889 (Nernst H W) :

( 6-2a)

: , ( 6-2Dh)
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6.3.3
1.
(standard
hydrogen electrode, SHE) , 6-3
6-3
Pt|H, (100 kPa) |[H" (1 mot L )
( ) H
mot L * . 298.15 K 100 kPa
’ H2
H+
H2(g)  2H" (ag) + 2e’
: H*
: ,  E (H"/ H2)=0.0000 V
. E
1mot L 7, 100 kPa,
, 208.15 K
: E
E =E+) - E)

, (reference electrode)



6.3

2.
(calomel electrode)
HgC, KC :
6-4
, ( 0.5
1cm), (Hg:Cl2)
: KCI :
Hg, Hg. Cl; (s) | KCI
HgCl2 (S) + 2e 2Hg(l) + 2Cl (aq) 6-4
K Cl 1. V2. p 3. D4
5. ; 6. KCl
: 6-2
6-2
KCl 1 mot Lt 0.1 mot L°*
IV +0.2412 +0.2801 +0.3337
3.

(-) Pt|H2(100 kPa) |[H" (L mol L™ )l cu®™ (2 mot L™ ") |Cu (+)

( ) ,
(E) 0.337V

E =E+ - E.,=E (C¥/Cu)-E (H/H,)=0.337 V
E (H'/ Hz2) =0.0000 V
E (Cu’’/ Cu) =0.337 V

298.15 K
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( )
. 1953 (IUPAC)
: Zn H. JE (Zn°"l Zn)
, E
[ ] E ]
E
6.3.4
y 'AG: Wmax
(W) (E) (Q)
W = EQ = EnF
AG =-EQ = - nEF (6 - 1)
F ( Faraday) , 96485 G mol ' ( ,
96500 G mol"* 96500 J mol"* V™ '); n
AG =-E Q=-nE F
AG =-nFE =-nF(E(+) - E.)) (6 - 2)
_ A G
Ec+)=Ec-) - =
(6-2) : AG
6-4 E A G
Cr,O;” +6C +14H" 2Cr’’ +3Ch + 7H,0
Cr,O7" +14H" +6e 2cr®* + 7H,0 E+)=1.33V
Ch + 2e’ 2CI° E.)=1.358 V
E = E+) -

Ec-)=1.33V-1.358V=-0.028V
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AG

6.3.5

-nFE = -6x 96500 3 mol ™ V' 'x (-0.028V)=2x 10'J md *

E (zn''/ zn)
(6 -2) E (Zrf*/ Zn) , Zr '/ Zn (

Zn+2H" Zn't + H,
At G / kd mol™* 0 0 -147 0
AG = -147 kJ ma "
= - NF(E(+) - E.))=- nF[E (H'/H) - E (Zn'"/ Zn)]

A

nF
- 147x 10°J md '
2% 96500 J mol -V~

E (zZn'/zZn)= E (H'/ Hy) +

=0.000V + T = -0.762 V

b (6 - 3)

208.15 K (6 -3),

b (6 -4)

PP

Zn’" (ag) +2e°  Zn

0.059 V
2

Br, (1) +2e 2Br (aq)

E=E (zZn’’/ zn) + lgc(zn® ™)



_ 0.059 V 1
E=E (BrdBr )+ | :
(Br r) 2 g CZ(BI‘ )

2H" + 2¢e H2(Q)

. . 0.059 V ¢ (H)
E(H/ Hy) = E (H'/ Hyp) + 2" L

6-6 cl 0.100 mol L™, p(Cl,) = 303.9 kPa

Ch(g) +2e 2C (aq)
E (C/Cl")=1.358 V

0.059 V p(C) p
2 9 2w

0.059 V| 303.9 100
2 (0.100)°

E(CL/ " )=E (Ck/ O )+

=1.358 V + =1.43V

6-7
NOs (aq) + 4H" (aq) + 3¢’ NO(g) + 2H, O(l) E (NGs/ NO) =0.96V

c(NOs )=1.0 mot L™, p(NO) =100 kPa, c(H" )=1.0x 10 'mot L°* E(NOs/ NO)

0.059vIg c(NGs ) ¢ (H)
3 p(NO)/ p
0.059V, 1.0x (1.0x 10 ")*

E(NO;/ NO)= E (NOs/ NO) +

=0.96 V+Tlg 100 100 =0.41V
,NOs HNQO;
, (KNOs)
6-8 298.15K , Fé€"' Fe€" NaOH , Fe(OH)s:, Fe(OH).
( ) , c(OH )=1.0mot L',

E(FE'/ FE")

FE€" (ag)+e  FE' (a)

NaOH
Fe'" (ag) +30H (aq)  Fe(OH)s(s) (1)
Ki = v - ——5
Ksp (FE(OH)3) c(Fe )c (OH )
Fe€" (aq) +20H (aq)  Fe(OH):(s) (2)
K, = 1 _ 1

Ke (FE(OH)2)  c(F€ )& (OH )
c(OH )=1.0mot L™ *,
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Ksp (FE(OH)3)

c(Fe )= S(OH )3 = Ksp (FE(OH)3)
o Ksp (Fe(OH)Z) _
c(Fe") = GOH Y - Ksp (FE(OH)2)
3+
E(FE"/FE* )= E (F&'/ Fé*)+0.059V Ig-SEE—L

c(FE™)
Ko (FE(OH)3)
K (Fe(OH):2 )

4.0x 10 °°
8.0x 10 1'°

,c(OH )=1.0mo- L°* |, E(FE'/FE")
Fe(OH); +e Fe(OH), + OH " E (Fe(OH)s/ Fe(OH):)

E (F€'/F€")+0.059V Ig

=0.771V +0.059 V Ig =-0.54V

1

Ko (FE(OH)s)

E (Fe(OH)d/ Fe(OH)z) = E (Fe™/ Fe")+0.059 V Ig= = - o\ 0

6.3.6
, (6-4) :
( 298.15 K),
: 1 ( :
kPa)
( )
: HCI Fe( ) Fe( ) :

a(Fe’"

E(F€'/ F&€ )=E (Fe'/ F€ ) +0.059 V | -
( ) ( ) g a(Fe" )

100
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v (Fe ") c(Fe )
y (FE€ " )c(FE™)

=E (Fe'/ Fe") +0.059 V Ig

(6 - 5)
Fe'” H.O,Cl”
3+ 2+ + H,0 +
Fe’" +H.0 FeOH*" + H Fe(OH):
3+ - 2 + Cl- +
Fe’" +Cl FeCl FeClz
Fe " =S = A FeOH” ",
FeCl** , FeCli ~ ,FeCl" , FeCl, , ¢ (Fe*") Fe’*
,c(Fe") Fe* ,
¢(F€ )=c(FE€" )+ c(FeOH’ ") + c(FeCl®" ) +
a(Fe’") Fe’
; ¢ (Fe'”
q(F& :_(_+)_ )
( ) o(Fe ") (6 - 6)
a(Fe€") F&°
. ¢ (Fe’”
a(Fé*y=-Ee) -7
( ) o(Fe ") (6-7)
(6 - 6) (6 - 7) (6 - 5)

E(Fe€"/ FE€")=E (Fe’"/ F€")+0.059 V Ig Fei a Fe:,: d Feii
y (Fé )a(Fe )c(Fe )

(6 - 8)
(6 - 8)
: Y «d (6-8)
: (6-38)
y (Fe¥" )a (F€ ")
vy (F€" )a (Fe ™)

3+
+0-059VIg%§EET;‘ (6 - 9)

C(Fe" )=¢(F )=1mot L' " ¢(F ) ¢(FE€")=1

E(FE€’/ FE€")=E (F€'/ FE€")+0.059 V Ig

v (FE " )a (FE€")
vy (F€" )a (Fe ™)

E(FE€’/ FE€")=E (F€'/ FE€")+0.059 V Ig

y «a , , E'
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y (F€ )a (Fe")
y (F€ " )a (Fe'")

E ' (F€'/FE )=E (FE€'/ F&") +0.059 V Ig

E '’ (conditional potential) :
1mot L°* 1 ,
: (6 -8)
3+
E(FE'/ F& )= E ' (F€"/ F& ) +0.059 V Ig <FE-L
¢ (Fe )
Ox + ne Red
298.15 K
Eop 40059V Co
B n 9 C Red
cOx cRed
6-9 KI 1mol L°Y , cu’/cu’ (
)
2CU " (ag) +41 (ag)  2Cull + 1,(9)
E (CW'/Cu")=0.153 V, Ky (Cul) =1.1x 10 *?
E(CF'/ Cu' )= E (C'/Cu' )+ 0.059 v Ig-SLSU— L
c(Cu )
2+ -
- E (cf'/Cu’) + 0.059 v |g-Seu e )
KSJ(CUI)
- E (CP*/Cu’ )+ 0.059 V Igc(C#* ) +0.059 Vv Ig —H——
Ke (Cul)
Cu” , cCl*)=c(l")=1mol L *,
E ' (C'/Cu')=E (CP'/Cu")+0.059 Vv Ig—H——
Ksp (CU')
=0.153 V- 0.059 V Ig(1.1x 10 ") =0.86 V
E'(Cé/Cu")>E (L/1"), cd’ I KI

1mot L' ci'/cu’



6.4

6.4.1

E=E+) - E-)

Zn|Zrt* (0.100 mot L ")l Cu/* (2.00 mol L ') |Cu

0.059 V
2

0.059 V

-0.763V +=_"—1g0.100= - 0.793V (

0.059 V
2

E(Zrf*/ Zn)= E (Zn**/ Zn) + lgc(Zrt™*)

E(Cd‘/Ccu)=E (CU’/ Cu)+ Igc(Cu’ ")

=0.337 V +%Ig 2.00=0.346 V (

E=E..) - E.)=[0.346- (-0.793)]V=1.14 V

6.4.2

A Gn=- nFE= - nF( E(+) - E(.))

A Gn<O E>O0 Ec«)y> E(-)
A Gn=0 E=0 E(+):E(-)
A Gn>0 E<O E«)< E(-)
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2F€ " (ag) +Sn° " (ag)  2F€" (ag) +Sn'’ (aq)

, ?
E (Sn'"/Sn"")=0.151V E (FE€'/ F&")=0.771 V
Fe’ , JE (FE'IFE")>E (Sn'"/
sn’'), S . Fe’ ,
E E :
, 1mot L™ ,
: E , , E E
., E >0.2Vv E E
0.2V ,
6-11

Pb** (ay,0.10 mol L") + Sn(s) Pb(s) +S** (aq,1.0 mot L™ 1)

E
Po’" + 2e Pb E (PK"/Pb)=-0.126 V
s’ +2e Sn E (S"'/Sn)=-0.136 V
,PE** , SN

E =E (PB"/Pp)- E (Sn''/Sn)= -0.126 V - (- 0.136)V = 0.010 V

E , (E <0.2V),

E , , E

E= E (PP Po)+ 22 bigo(prt) - E (St sn) + B ig(st )
_ 0.059 V., c¢(PE") 0.059 V., 0.10
=E + 5 lg o(S77) =0.010V + 5 lg 1.0

=(0.010- 0.030)V = - 0.020 V <0

H* OH’ :
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H3;ASO, + 21 +2H" HASO, + |, + 2H,0

HsAsO: +2H " +2¢’ HASO: + 2H20 E (HsAsOs/ HAsSO:2) =0.56 V

I, +2e° 21 E (171 )=0.536V
, |2 HASOz, ,H3ASO4 |
H, AsOJ/ HASO; H ,
NaHCO; pH= 8, c¢(H") 1 mot L
10" °* mok L'l, 1 mol L'l,

_ 0.059V , c(HsAsO:)E(H)
E(H:ASO/ HASO:) = E (HaASO/ HASO:) + = =lg o(HASD?)
~0.56 V +%Ig(10'8)2 =0.088 V
E (I717) c(H") E(l2 1) > E(HsAsOsd HASO:),
,|2 HASOZ ’
b H+ ) )
, ( )
6-12 c ,Br I , - P Br ,ClI°
Fe(SO)s KMnO, ?

E (l/1)=0.536V, E (Br/Br )=1.065V,E (O Cl")=1.358V
E (FE'/FE€")=0.771V, E (MnO;/Mn")=1.51V
E
E (1" )<E (FE'/F€")<E (Bn/Br )<E (CL/ O )<E (MnQ;/ Mrt™)
KMnQ, : E (MnQ;/ Mrt") E (/1 ),E (Br/Br ),

E (Ck/C ), KMnO, cl ,Br ,I° ChL, Br, I,
Fe (SO )s
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Zn(s) +Fe " (ag)  Zn'" (ag) + Fe(s) (1)
Zn(s) +Cu " (aq)  Zn'" (ag) + Cu(s) (2)
E (Zn°"/ Zn) = - 0.7631 V
E (F€'/ Fe) = -0.440 V
E (Cu’’/ Cu) =0.337 V
Fe",cu” Zn E. = E (CU'/Cu)- E (zZn""/Zn), E =
E (F€/Fe)- E (zn''/ zn) E >E, cu’
cu’’ ,cu’” , E(CU "/ Cu)
E (Cu**/ Cu) +%Igc(&f+)= E (F&'/ Fe)
Fe€™ ,cu” Zn cu”
lge(CU* )= —=2—1[E (F€'/ Fe) - E (C2"/ Cu)]
g ~ 0.059 V
2 _
=5 059 (- 0-440-0.337)V = - 26.33
c(Cu’ )=4.6x 10 “'mot L *
. Fe’ Zn NeT
( )
( ) : ( )
, : Br2, 12, Cl2
Br- | Cl [l Bnr
6.4.3

E=Ew=+) - Ec-)=0

Cu- Zn
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2 +

Zn(s)+Cu " (agq)  zn " (aq) + Cu(s)
_c(zn’")
(TR
,Cu”” . Zn’"
, E(CU "/ Cu) , E(Zn’"/ zn)

E(zn""/ Zn) = E(Cu°"/ Cu),

0.09V 0.09V
2 2

2+
009V, en ) _ ¢ «c*/cuy- E (zn''/ zn)
2 c(Cu )

E (zn""/ Zn) + lgc(zZn” ") = E (CU"/ Cu) +

C(Z”ZZ:’ =—2 [E (CUu'/Cu)- E (Zn°"/ zZn)]
c(Cu"") 0.059V
_# 2 + 2+
lgK = 0.059 V [E (Cu /Cu)-E (Zn" '/ Zn)]
2 _
=5 059 v [0-337- (- 0.763)] =37.3
K =1.9x 10°’
K
p7) 1+ M 2 7] 1+ M 2

lg

0.059 V., _¢( )
Ei( / )= Ei ( / )+Tlg o i)
0.059 V., _¢( )
E.( / Y= B ( )+ lg o 2)
B, E ; My, N2
) E = Ez,

0.059 V., _¢( 1) 0.059V , 2)
B+, c( 1) By 19 c( 2)
K = c( 1) "2 2) "™ (Ei -E)n
g =19 1) o( 2) - 0.059 V

c(Cui ™)
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n Ni, N2 )
El = E2 ] ] K ]
6-13
Cu(s) +2F€" (aq) 2F€ " (ag) + CU " (ag)
EE=E (FE'/Fé")=0.771V, B = E (C{'/Cu)=0.337 V
(B -BE)x2 (0.771-0.337)Vx 2 _
lgK =""Gos0v - 0.059 V =14.71
K =5.1x 10"
6-14
Ag® (ag) + FE™ (aq)  Ag(s) +F€" (ag)
(1) 298.15K :
(2) ,c(Ag")=1.0mot L ', c(FE*)=0.10mol L ',
e
(1) Bt =E (Ag'/AQ)=0.799V,E = E (Fé'/F€")=0.771V n=rn-=
1,
(B -BE)Xx n  (0.799 - 0.771)V _
gK =" o v - 0.059 V =0.475
K =2.98
(2) c(F€ " )=xmo L *
Ag" (ag) +F€" (ag)  Ag(s)+ Fe'" (aq)
/mol L' 1.0 0.10 0
/mot L°" 1.0- x 0.10- x X
_ c(Fe'") _ X ~
K = Ag Y o(FE") ~ (1.0- x)(0.10- x) _ 2%
c(FE€ )= xmol L '=0.074 mot L™ *
) 99.9%
’ E]_' E2' 2
%) 1+ M 2 Ny 1+ s
n n
c( 1) by 99.9 %
C( 1) 0.1
n
C( 2) 12 1O3n1



c( 1) c( 2)

IgK :Ig C( 1) C( 2)
_(Ell'EZ’)nan 3y _ 6
= 0 059 v > Ig(10°x 10°) =1g10

B - B = Q0BOV o 0050V o,y
ni np 1
0.4V
6.4.4 Ko pH
Ksp
Ksp Ksp
AgCl K

Ag|AgCl(s),Cl (0.010 mot L™ ")l Ag" (0.010 mot L™ ') |Ag

0.34V
. 0.059 V .
Ec+) = E (Ag'/ Ag) + n 19¢(Ag )
. 0.059 V N
Ech=E (Ag/Ag)+— — lgc(Ag )
- E (Ag'/ Ag) +0.059 V Ig =A%)
= E (Ag /Ag) +0. g o(Cl )
A +
E=E=+) - E.)=0.059V |gﬂJ+_)_
c(Ag")
0.010x 0.010
0.34V=0.059VIg—— ——"—
9 Ke (AgQ)
Ke (AgCl) =1.7x 10°
Ksp
pH
, H
Pt|H2(100 kPa) |H" (0.10 mot L "HA)
HA H* ,

0.168 V,



6.5 01

E=E.+ - EE.y=E (H'/H2)- EL ,=0.0000V- E = 0.168V
; 0.059 V c(H")
EC )= E (H/H)+——>—"1g
2 p(H2)/ p
- 0.168 V:%IQCZ(HW=O.059VIgc(H+)

c(H")=1.4x 10 *mol L * pH=2.85

6.5

6.5.1

(Latimer W M)

Eal V: Fe’ 0.771 Fez+—_0'440 Fe

Ee/ V: ClOi =0 200 —2-Clo0” —=*-Cl. =y
0.62

pH=14

6.5.2

(disproportionation)

2Cu’ Cu+cu’

’ Cu+ CU2+ y Cu+ CU
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: ( )
( ),
Cu2+ 0.153 CU+ 0.521 Cu
0.337
E (Cu'/ Cu) E (C&'/Cu'), E (Cu/Cu)-E (ci’/cu")
= (0.521 - 0.153)V =0.368 V >0, Cu’ cu’’
Cu
. E . E
(M? M M) E >E
M+
2M * M*T + M
, E >E M , ,
M*" + M 2M”*
2.
E E
A——B———=C
Es
nl +
A+?H2:B+ mH (1)
A Gmiy = - N FE;
B+%H2:C+ n2H " (2)
ArGmie) = - n2 FE2
n+ Np .
A + 5 H=C+(m + nz)H (3)
Aer(S) = - (n1+ nZ)FE3

Ar Gy = Gy +Ar Gm(z)

-(m+m)EB =-mE - B
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208
: nE +nk
- N+ e
i :
nE +mE + + nE
E = (6 -11)
N+ n+ + n;
Ni, N2, N
6 - 15 E (BrOs/Br') E (BrOs/BrO)
0.52
B/ V: Br&s Z BrO 0.4 Br, 1.09 Br
?
(6 -11):

. . 55« E (BrO;/ Br,)+1x E (Br./ Br
E (Broi/Br )= (BrGs 2)6 (Br, )

_ 5x o.52v;1x L9V _ g ey

5E (BrG;s/ Brz)=4x E (BrO; /BrO ) +1x E (BrO / Brz)

E (BrO;/BrO )= 5x E (Br&:/ Br) -1x E (BrO / Br)

4
_5x 0.52V -0.45V _
= ) =0.54V
3.
E V- Fe3+MFe2+ﬂFe
E (F€’/ Fe) ., E (FE'ITFE") ,
Fe = Fe''
Fe+2H"  Fe' +H;
= ,
Fe' +e =

E (F€'/ FE€")=0.771 V
O, +4H" +4e°  2H,0 E (OJ H,0) =1.229 V

4FE" + O+ 4H"  4F€" +2H.0

E (F€E'/Fe)<E (FE€'I FET), Fe’



2 +

1 Fe 1
Fe "
6.6
O+ 4H" +4e
2H" +2¢€’
6.6.1

MnO, +5Fe " +8H" M N

Fe+2Fe’" 3Fe

2+

2 +

: Fe

Fe Fe' ™

2H-0 E (Od H20) =1.229 V
H, E (H'/ H;)=0.0000 V

H2+i02 H.O

,CraO7

2+

, . MnOs Fe

2 +

+5Fe’" +4H,0



6.6 06
Fe " +Ce Fe ' +ce’
. Fe" ce” , ,
2Fe " +Sn 2Fe¢” +sn'”
2 F° 1 st ,
6.6.2
1.
) ) K2Cr, 0Oy
NaS O; ,
Cr,0% +61  +14H" 2" +3L,+7TH.0 ()
I, + 25,05 21" +SCG° ()
) Na: S O; P}
cr’t , :
, , CrzOg' ,
1 ] Naz&o\i
H* , K.Cr,O; Kl
, | H”
2.
, ,MnO; C,0;°

2MnO; +5C,0;"

+16H"

2+

2Mn~ +10CO; + 8H.0



H.C O , 75 85
I, ,
: F€ ™, Sn®"
3.
M
5906 +2Mn°" +8 H,O 2MnO; +10S0; +16H"
Ag+ MnOs4 C20421-
Mn ,
(self - catalyzed reaction) ,
MY , 85
, Mn®",
4.
2MnO; +10CI~ +16H" 2Mn°" +5Cl, + 84,0
Fe™* F€®  MnO;,
MnO; +5F¢" +8H" Mn** + 5Fe’" + 4H,0
FE*™  MnOy MnO; CI
Fe "  MnO, Nel
KM nO, Fe*" Cl MnOy Fe*"
Mn( ),Mn( ),Mn( ),Mn( ) ,
, Mn® MR
Mn( ), Mn ", Mn(
, Mn( ) e’ Cl’

O,

, Mn

KM nNO;
, MnO;4

Mn (
Y Mn(



6.7

Cl I\/InO4'
( )
6.7
(redox titration)
6.7.1
6-5 0.1000 mol- L *
Ce(S0s)2 1 mot L " Hz SOq
=3
ce'” +Fe” ce’’ +Fe’
, = 6-5  0.1000 mol L "Ce”

0.1000 mot L™ 'Fé "

3+
E(FE'/ F€ )= E ' (F&’'/ F&") +0.059 V Ig SHEE—-
c(Fe )

4+
E(Ce "/ Cce" )= E ' (Ce''1 Ce T ) +0.059 V Ig —gg%g—

E'(F€'/FE")=0.68V,E '(Ce"/Ce")=1.44V
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2 +

b Fe )
Fe’'/ Fe” , E(Fe "/ FE€ ") c(Fe Y c(Fe'")
c(Fe™) 0.1%

3+
E'(F€'/ F&") +0.059 V 'ngE;T)L

=0.68 V +0.059 V 1g(99.9 0.1) =0.86 V

E

Esp

3+
Esp: E ,(Fe3+/ Fe2+)+ 0.059V|g c( Fe+)
ne c(F€™)

N . 0.059V , _c(Ce")
= E'(Ce/ CeY) + 6-12

E.'=E '(Fe'/Fe) E'=E '(Ce'/CeT)
(6 - 12)

4+
MmEp= B’ +0.059 V Ig-&E-L
c(Ce )

(Fe'")
N, Eg = ' +0.059 V Ig -
2B = e B g c(FE™)

c(Ce'™) c(Fe’™)
c(Ce’" ) c(Fe™)

(m+ M) Es=nmE'"+nE'"+0.059 Vg

4 + 2+

: Ce Fe
c( Ce€")=c(Fe"), c(Ce’)=c(Fe"),

c(Ce )c(Fe™) _
c(Ce ") c(FE™)

mE'+nE’
N+ N

(6 - 13)
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Ce(SO4)2 Fez+,
, 4+ 3+ 1 3+ 2+
g, = E'(Ce'/Ce )+ E ' (FEY Fe’") _ (0.68+1.4)V _, o\,
2 2
, ce ", ce'’/ ce’’ ,
ce'” 0.1%
4+
E=E '(C&'/ ) +0.059 v Ig-LEe—L
c(Ce )
=1.44V +0.059 V Ig(0.1 100) =1.26 V
, Fe* 0.1% Ce'’
0.1%, 0.86V 1.26 V, 0.4V,
(
) :
6 - 6
KM nO, 6-6 K MnQ,
I:e2+ I:e2+
( : HCl  H:;PO.
1 ) ?
L)
6.7.2
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K:Cr, O,

I nOx

Eln

2 +

K>oCro O, Fe
InRed I}
Inox + ne’ | NRed
c( | nox
E=E, +MI94—)—
n C(1Nred)

. C(Inox)/ c(Inges)= 10

E> En +%Igloz B+ 200V

c(lnox) c(lngeq)< ¥ 10 :

0.059V , 1 _ 0.059 V
ES Eln + n |g 10 - Eln = n
Ent —0'059V
n
En' + O'?]59V

En"+ 0.059 V; n=2

Eln' +



6.7

En/ V

c(H*)=1mot L ?

0.36
0.76
0.84
0.89
1.06

KSCN

6.7.3

KM nOs

KM nO;,

, M nO4'

2x 10 °mol L 7

(NH4)2:S$ G5, H20,

NaBiOs

HgCl2
SnCl; + 2HgCl,

Fe’”
Fe( )

SnCl2,
SnCl, + Hg Cl;

2 +

St
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Hg2C|2 )
2.
6-4 6-5
6-4
NaBiO;
NaBiO;(s) + 6H* +2e” = , HNO, Mr?* - MnO,
Bi** + Na* + 3H,0 H,SO, celt . cett
E =1.80V
Ce3+ —>CE4+
(NH4)2S,04 M2+ - MnOs
S, +2e =2S02 . 5
E —poLv Ag cr* - Cr,03
- VO** L voy
H, 0O, NaOH cr* . Cro; , Ni2*
HO;, +H,0+2e" =30H"  HCO; Co?* L co®t |- ,
E =0.88V Mn?* o Mntt H20,
ce’t . cet*
Cr3+ V4+ —>V5+
VAR Vo
HCIO :
4 Cr* - Cr,0%
6-5
SO, Fe* - Fe*
SO;" +4H* +2e” = 1 mot L~ 1H,S0, AS* L AS* co
SO, + 2H,0 ( SCN- , ) Sb’* - sb* ’ 2
E =0.200V C¥* -Ccu*
SnCl; Fe* - Fe?? HgCl
Sn*t +2e” = n?t : Mo®* - Mot Sn2* + 2HgCl, =
E =0.151V AS*T L ASY Sn** + Hg,Cl, + 2CI°
crt . cr?t
Feé' - Fe?*
- H2$4 Ti4+ —>Ti3+
V5+ —>V2+

HNOs;,H.SO:  HCIO,
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6.8
6.8.1
1.
chrz 07 )
Cr,O5 cr’:

Cr,O} +14H" + 6e 2Cr* +7H,0 E =1.33V

,Cr,O; "/ cr’
c(HCAO:,)=1.0 mol L
c(HCl) =1.0mot L™*

1

, E (Cr,O?'/ Cr’") =1.025 V;
,E (Cr:07 /CF")=1.00V

« K2Cr, Oy , K2Cr, Oy

+ K:Cr, Oy ) , ;
. Cl ,

K>Cr, O, ) )
K.Cr, 0Oy )

Cr,05 +6Fe’" + 14H" 6Fe’* +2Cr** + 7TH, O

( ) HCI : ,
SnCl, ,
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3+

2+

4+

2Fe  + Sn 2Fe + Sn
SnCl,  HgCl;
SNCl. + 2HgCl: SnCla + HgeCl2 |
K2Cr2 O (
)
, (cr’ )
E'=0.84V E'(Fe'/FE")
=0.68 V, 99.9%
3+
E(FE'/ F€ )= E ' (F€''/ F&") +0.059 V Ig e
c(Fe )
=0.68V +0.059 V Ig%= 0.86 V
, 99.9% ,
, H:PO:, Fe'
Fe (PO, )5~ , Fe’'/ FE”
1 mot L"'HCl  0.25 mol- L 'Hs;PO, ,E " (FE'I FE€7)=0.51V,
BaE® PO’ BE&® P CnO’ , BaCrO,
PbCrO, Fe* ™ Cr,O5
= BaE® Pb’"
6.8.2
1.
. KMnO, M
MnO; +8H" +5e Mn*" +4H,0 E =1.51V
: MnO: :
MnO; +2H.0O +3e’ MnO,! +40H" E =1.23V
M nO, , ,
KM nO, , KM nO,
NaOH
2mok L1 , KMnO., MnO,
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MnO;
MnO, +e MnQO; E =0.558V
KM nO, , ,  FE€" Hy0s,
|\/|I’lOz,PbOz,Pb304, KzCI’zO7,H3VO4 )
MnO:, H, SO, Na. C, O, FeSO,
. KMNnOu
ca’ CaC: Os, H.SOQu ,
KM nO, C,0; ca’ ,
C.0: ( s",Bd" ,Ni*T,cd’,zn"T,cu T,
Pb’" Hg " ,Ag’ ,Bi’",ce",La" )
MnO4'
KM nO, ,
,KM nO4 ]
KM nO4 )
KM nOs ,H2C2 Os 2H2 0O, Nae G Os, FESO#
(NH4)2S0s 6H,0 : :
H, SO, . MnO, GO;°

2 +

2MnO, +5C0; + 16H" Mn® " + 10CO, + 8H, O

. , 75 85
' H2C204

H, C, O4 CO, +CO+H,0

-1

. c(H") =1mol L
, MnOy MnO; : , Hz G, O,
Cl- , H, SO,
. MnO:;  C20:" , ,
KM nOx , . KMnO,
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2+

) KM nO4
KM nO, CO:

AMNO, + 12H" AMN " + 50, + 6H,0

MnO,
, KMnGO,
2.
H, O , H.O; M nO; ,
2MnO; +5H,0, +6H"  2Mn’" + 50, + 8H,0
: H. O ,
, Mn®* ,
H20: : H2 Oz ( )
, M nOa ,
H. O, , H, O , H, O,
, H20; KM nO, ,
ca’ C, 0
, K MnO; H.C,Ox,
ca’® (NH4)2C, 0, ca’ ,
CaC, 04 , , :
ca’
CaC, O, Ca’ , (NHa)2
C.0, C.O; HC, Os NeoYorh ,
ca” , CaC, O, (NH4)2C, 04
70 80 H GO
: CaC; O, pH 3.5
4.5 ( ) 30 min
. CaC, O,
, ,  CaG 0, , KMnOx

Ca2 ’ H.C, Oy
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( ), Fe' (
FeCl, , FeCls~ ) Fé" KM nO,
. Cl ;
- Fe” Fe(PO.)3" ,
( Fe'” 7
,MnO4_ ]
MnO; |
, KM nOs ,
HC OH
HC OH + 14MnQ; + 200H" 3CO; + 14MnQC; + 14H, 0
HC OH
, Fe ™ ,
Mn( ), Fe " ,
KM nO. Fe'*
6.8.3
1.
I, |-
B (0.001 33 mot L 1), P KI
, l2 I3
I, +1° I3
ls +2¢e 31 E (I/1 )= 0.536V
E (14 17) 1, , 1,

(iodimetry),
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)

S ,S05
2
H. O, , KIO;
I2
KI
° |2

, 1300

[, + SO, + 2H,0

3l2+60H

I,
2MnO, +101 +16H"
NaeSOGs

I, + 2820% _

21
I, + 28202_

OZ ’ SOZ ’

217 + SO~ +4H°
Sn( ),S( ),A=0s,

, l2

G +51 + 3H20

: K2 Cr20r, KMNnQOs,

2+

2Mn” +5I; + 8H.0

21" +S,0%°

(indirect iodometry)

|2

[, +2e°
21" +S,08°

41 +4H" + O 21, + 2H, O

+

H
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, 2
: , P
Na S 0s :
: 2 :
2. 1,
l2 NaS0s ,
[, NaSO0s
Na S Os + 41, + 10NaOH 2Na SO, + 8Nal + 5H,0
Na S Os 2 :
2, NaAsO; NaS Os
Na S Os , K103, KBrOs, K, Cr, O7, Ks[ Fe
(CN)s], : Kl l:
IOs +51 +6H" 3l, +3H,0
BrO; +61° +6H" Br' +3l,+3H,0
Cr,07 " + 6l +14H" 2Cr’" +3l, + 7TH.0
2[Fe(CN)6]’™ +21° 2[Fe(CN)6]* ™ + I,
2CU™" +41° 2Cull + Iz
I, NaSO;
, Kl , P
, Na$0s
. K.Cr,O;, KI : :
1 O, , 0.8
1.0 mot L™ *
* K2Crz07 Ki : (5 min),
Na S 0; KIO; KI ,
. , Na S, Os (
1, ), , NaSO0;
: P ,
Na S0s ,
: ?
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3.
-
2CU " + 41° 2Cull + 1,
N&$O3 ’
, KI, KI
Cul I, KSCN,
Cul CuSCN
Cul + KSCN CuSCN: +KI
l2, |~
cu’ , Kl
K SCN , SCN° cu’
6CU " + 7SCN™ + 4H,0 6CUSCN! +SO; + HCN +7H"
cu’ , ( pH 3
] ] ] ) I- |2
cu’ , cu” cl” ,
H, SO, HCl
( )
, Fe'" |-
2Fe’ " + 2| 2Fe’ " + |,
, NHsHF, Fe " FeFs~
, Fe '/ Fe'” , |- N HsHF:
, pH 3 4
Sz_ H2S P 52
S+, S+21°
S +41,+80H" SO " +8l° +4H-0

Na S0s

4)
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[, + 20H IO +1 +H,0
CH,OH(CHOH),CHO+ 10" + OH"  CH,OH(CHOH).COO™ +1° +H-0
1O 10s |
310 10; +21

l5:

10; +51 +6H" 31, +3H,0

NaSOs P
6.8.4
6 - 16 30.00 mL KMnO: KHC: Qi H O,
KHC, Or H, O 25.20 mL 0.2000 mol L™ *KOH KMnO,

?

. KMNnO;  KHGOr H,0
2MnO; +5G G, +16H*  2Mr’* +10CQ,1 +8H, O
Nn(KMnO:) =2 5n(KHG O H;, O)
KHC, Oy H,O KOH

HC, O; + OH GO + H,0
N(KHG Or H.O) = n(KOH)
KHC,Or H,O

Nn(KMnGO:,) =2 5n(KOH)
_ 2¢c(KOH) V(KOH)
S(KMNQ:) =5\ (KMnOy )
_ 2% 0.2000 mol L "x 25.20x 10" ° |

1

e 30.00% 10 ° L =0.06720 mol L~
6 - 17 K, Cr, O 0.01683 mok L™, Fe FeO
0.2801 g, Fe” Fé" | K2 Cr, O,
, 25.60mL , w(Fe) w(Fe()

2+

D K CnO, Fe

3+

Cr,O  +6F¢" +14H" 2cr” +6F " + 7TH,O
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N(K:Cr.0;) = ¥ 6 n(Fe)

m( Fe) _ 6c(K:Cr,O;) V(K Cr, O;) M(Fe)
V(K2Cr207) - V(K2Cr207)

T( Fe chr207) =

-1 -1
—%—_ -
_ 6x 0.01683 mol L "x 0.001 Lx 55.85 g mol _5 640x 10" °

1mL

3C(K2Cf207) V(chr207) M(F€203)
V(Kz2Cr: Or)

T(FeG/ K, Cr,Oy) =

_ 3x0.01683mol L 'x 0.001 Lx 159.70g md "
- 1 mL
=8.063x 10°° g mL"*

T(Fd K:CroOr) V(K2Cr &)

w(Fe) = m
_5.640x10°°gmlL 'x25.60 mL _
- 0.2801 g = 0.5155
T(Fe O/ K,Cr V(K,Cr,O
W(FQQ:,)Z ( e O/ K, 207) ( 2L 7)
m
_8.063x 10" ° g mL 'x 25.60 mL _
= 0.2801 g =0.7369
6-18 25.00 mL K| 10.00 mL 0.05000 mol L™ *KIQs
I, , KI K10; , l,
mL 0.1008 mol L "NaS O Kl
K10; KI(1) KI(2)
10; +51° +6H" 3, +3H,0
Qs +51 +6H" 32 + 3H20
(2) l2 Na$S O
l, +2S O 217 +S G
(1) K10; K10; (2) K10
N[KIG:(1)] = n[KIOs( )] - n[KIG:(2)] = n[KIG( )] - ¥ 3n[l2(2)]

N[KIOs( )] - ¥ 6n[NaS 0]

N[KI(1)] =5n[KIOs(1)]=5[ n(KIOs( )) -2 6n(NaSOs)]

5[ ¢(KIO0s) V(KIO) - & c(NaSO:) V(NaS O)]

c(Kl1)

-1

g mL

21.14

(1)
(2)

V(K1)
5 10.00 mLx 0.05000 mot L' - %x 21.14 mLx 0.1008 mot L'
- 25.00 mL

0.02897 mot L1



1 ? ?
?
3. ?
? ?
? ?
? ?
?
1.
(1) Cra; Cr (2) MnCG;” Mn
(3) NaO o) (4) HG Oy 2H, O C
2. , ?
(1)) Cb + HO HCIO+ HC
(2) Ckh + H, O, 2HCI + O
(3) Cu+ 2H2SO: () CuSO: + SO +2H: O
(4) K:Cr, Oy + 6KI + 14HC 2CrCl; +31, +7H, O+ 8KCl
3.
(1) Br, + OH BrG; + Br-
(2) Zn +CO°  Zn(OH): +d’
(3) MnO; +SG5~ MnQ; = +SOi
(4) H, O, + Cr(OH)J4 Cro;” +HO
4.
(1) SG + M~ MnO; +SG;
(2) PG, + HCI PbCl, + Cl; + H,O
(3) Cr,O:” +F€"  Crf +Fe”
(4) I, +H,S " +S
5. Diagram gavanic cells that have the following net reactions.
(1) Fe+CU”* Fe* +Cu (2) Ni+Po" NiZ* +Pb
(3) Cu+2Ag°  CuU" +2Ag (4) Sn+2H"  SN°" +H,
6. :KMnG, ,K2Cr. G, CuCl; ,FeCl \H2 O, 12,

Br: ,E ,PbO , ,
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7. Cdculate the potentid of acdl made with a standard bromine e ectrode as the anode and a
standard chlorine eectrode as the cathode.

8. Calaulate the potentia of acdl based on the following reactions at standard conditions.

(1) 2H2S+ H2S0s 3S+3H:0

(2) 2Br~ +2Fe" Br. + 2F€

(3) Zn+F&" Fe+zn'

(4) 2MnQs + 5H202 + 6HCI 2MnCl2 + 2KCl+ 8H20+ 5O

9. MnO, +8H" +5e Mn' " + 4H,0 E =151V
Fé* +¢e Fe” E =0.771 V
(1) :
MnOs + F€" +H’ Mn'" +4H. O+ 5F¢€
(2) : : :
(3) 10 mol L, 1mol L' |
10. HgCh(s) +2e  2Hg(l) + 2CI° E =0.28V
Hg © + 2e 2Hg(l) E =0.80V
Ko (HCk)
( ‘HgCh(s) Hg +2d07)
11. (-)2Zn|zZt" (xmo L")l Ag" (0.1 mok L ') |Ag (+)
1.51Vv, zn'
12. ,
(-) Pb|PbSO,, 805" (1.0 mok L™ ")l S (1.0 mol L™ *)|Sn(+)
25 E =0.22V, PbSO, Kep
13. 298 K

(1) (-) Pb|PK’" (0.1 mok L™ ")l C¥* (0.5mol L *)|Cu (+)

(2) (-)Sn|S" (0.05mol L™ ") H" (1.0 mol L ") |H:(10°Pa)Sn ( +)

(3) (-) Pt,H.(10°Pa) |[H" (1 mot L ")l SA*" (0.5 mol L™ "), Sf" (0.1 mok L™ )| Pt(+)
(4) (-) Pt,H(10°Pa) |[H" (0.0L mot L™ ")l H" (1.0 mol L™ ") |Hz (10’ Pa), Pt (+)
14.

2

Cu " +2¢e Cu E =0.337V

2 +

Cu’ +e Cu’ E =0.153 V
(1) Cu+ CU#" 2Cu’
(2) Ksp (CuCl) =1.2x 10 °,
Cu+Cu" +2CI’ 2Cudl|

15.



(1) A+B” A" +B
(2) A+B*" A +B
(3) A+B*" A*" +B
, ?
(a) (1) E (3) E ;
(b) (3) E ;
(c) A B E ;
(d) E
16. Cu" ,Ag" ,Au’ ,Fe"
Erl V: o 0198 cu’ 0-521 Cu
G’ 1.98 Ag’ 0.799 Ag
Au3+ 1.40 Au+ 1.691 AL
Fé+ 0.771 Fé+ - 0.440 Fe
17. 1mol L™ Fe'” S
? ?
18. BaCl, Kz CrOy BaCrO, ,
HC , Kl NaS0s l2 0.4392 g,
29.61 mL 0.1007 mol L™ *Na$S Os BaCl,
19. 30.00 mL KMnOs KHC: O+ H20
KHCG Or H,O 25.20 mL 0.2000 mol L *KOH K MnO,
20. KMnOs cd” 0.5863 g, ,
CaG O, CaG O H.SO, , 0.05052 mot L *
K MnOs , 25.64 mL Ca
21. (Pb; Or) , 0.1000 g HCl
K.CrQy, PbCrO; :
Pb’" +CrQ; PbCrQ,
KI, I, 0.1000 mot L *
Na S Os 12.00 mL Pl O
22. ( 176.1g mol ') :
CoHs Os + 2H" + 2¢ Cs Hs O
1, 10.00 mL HAC , 20.00 mL 0.02500
mol L'l , , I 10.00 mL 0.0100 mol L “NaSOs
23. 50.00 mL 10 1Oy : pH, Kl ,
1Oy 10 I 18.40 mL 0.1000 mol L 'Na S Os 10.00 mL
: : KI, NaS O : 48.70 mL
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10 1O
24._ Cdculate theA, G, at 25 for the reaction
Cd(s) +Pb’" (aq)  Cd " (aq) + Pb(s)
25. Cdculate the potential at 25 for the cell
(-) Cd|Cd " (2.00 mot L")l P (0.0010 mol L™ *)|Pb (+)



feeng

(FesOn)
(Fe) Fe

300
, 100 nm,

FesO, + 4H, 3Fe+ 4H,0

300 3Fe+ 4H,0 Fes O + 4H>
: 200 300
) pH ’
400 500 (FeOs)
3% 5%
100 nm ,
Fe Fes O, FesO,
, 100 kg Fe
, 100 kg Fe 13 L,
, : Fe
Fes O, , Fe

Fe;O, Fe



( The Basis of Substance Structure)




7.1

7.1

7.1.1
; 20 40
92 ,
20 112
X
1911 (Rutherford E) a
, 7-1
7-1
m kg mu” QcC Qe
p 1.67252x 10" %7 1.007277 +1.602x 107 1° +1
n 1.67482x 10" %7 1.008665 0 0
e 9.1091x 10~ 3 0.000548 -1.602x 10" 1° -1
* oy ,1 u=1.6605655% 10 27 kg
* * e
( ) )
: A , N Z ,
(A)= (2)+ (N)
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(2X)( 10

TH( ) fH(
(U) ?3$U,%3U,%5U

7.1.2 (

(wave - particle dualism)

h
c=2.998x 10°m s '
(7-1),(7-2)

1924

(de Broglia L)

(7 -

(7 -

(7 -

Z
(10" ** 10 **m)
m) (A- 2)
Z ( 10 "m)
) tH( ) ,
a2 U
)
, , 17 18
(Einsten A)
E= mc
\Yj
E= v
(Planck M) ,h=6.626x 10" *'Js ¢
C=MN\
mc=H c= W/ ¢
p=HhA

(7 -

1)

2)

3)

4)



7.1 1
( )
A=Wop=imy (7 - 5)
m y V , p (7 _ 5)
(7-4) |
( )
, 1927 (Davisson C J)
(Geiger H) 7.1
1] , p )\
(7-3),
7-1
P E ,
A=H mv v=~H h ( )
7-1 9.1091x 10 *'kg, 1V 6 00
X 105m S_l 2
__h
(7-3) A ="\
_ 6.626x 10" *kg m* s " . .
© 9.11x 10 *'kgx 6.00x 10°m s =1.21x 10 "m
X

1J=1kg m? s 2
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trum)

, (7-5) ,

: (continuous spec-

C ) :

: (line spectrum) , (ato_

mic spectrum) : (uncontinuous spec-

trum)

1913

: (Rydberg J R)

vV = Ry ni'ng (7-6)

M, N . m> i Ry=3.289x 10"°s *,
( A =400 700 nm) 4 , 7-2

n=2,n=3,4,5,6, (7-6), 4
n2 =3
1

-5 =0.457x 10°s’

1

v =3.289% 10°s 'x

r\t)\:lH

8 -1
A=t = —Zégig;xlgolﬁns?l =656 10 °m=656 nm(Ha )

(Lyman) (Balmer) ( Paschen)
(Brackett) (Pfund)
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nn=1,n.>1 =3, nN>3 ,

?
1913 (Bohr N)
( )
. , ( ),
181
En= -2.179x 10 an (7-7)
;N 1,2,3, n=1
*n , , n=o
, : n
. ( )
( ) , (),
AE=1tv (7 -8)
(A E<O) ; ,
7-3
7-3




)

A p(

r=52.9 pm,
(quantum) ( w)
()
( )
( )
1927 (Heisenberg W)

(uncertainty principle):

h( ),
AxAp= h

(7-9)
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7-4
7-4
(r)
7.1.3
1.
] l'IJ
1926 (Schrodinger E)
2 2 2
)‘f‘zj+ ;/J-ZJ+ ;J-;_-BTL—Zm(E-V)Lp (7 - 10)
W E , m
, h X,Y, zZ
2. (W) (lwl*)

(x,Y, 2) 7-5
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(r.0, ), 7-5

w(r,e, ),
r,e, ( )
, (Ey= -2.179x 10 *°J)

_ 1 r/ao
= ey
W(r,0, ) p(r.6, ) ?
, U] P
, U/
p(r.6, )
dr dp
dp= |y |*dr (7-11)
Wl
2 _ 1 -2r/a0
R T[age
w1 , 7-4
W% ( ) , W
: U/
3.
: Pp(r,0, ) E
; n,l, m
n(principa quantum number) n 1,2,3,4, n
n
: : (7
- 7) :
, “ " n=1,2,3,4, , K,

L 1) M 1 N 1 Ol P’ Q
| (orbital angular momentum quantum number)
n : 0,1,2, ,(n-1), n
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s p,d,f, : |=0 s , =1 : S p
d f : S P d f
, n=1 I 0; n=4 || 0,1,2,3
( ) e, ) :
=0 ,s o, ) :
;o , I( ) (
7.2)
m( magnetic quantum number) m I :
m 0,x1,+2,+3, ,+ [, 21 +1 m
: , |1=0 m 0,
S : S ;o 1=1
, m -1,0, +1 : p
: Px, Py, Pz S ¢ d, f 5,7
, o,/ ;
n, l, m , W ,
s (spin angular momentum quantum number) n, |, m
s= +12 s=-12
ol ot ,
(R
: n I ;
; m ;
S ,
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7 -2
n 1 2 3 4
K L M N
0 0 1 0 1 2 0 1 2 3
1s 2s 2p 3s 3p 3d 4s 4p 4d Af
0 0 0 0 0 0 0 0 0 0
+ 1 +1 +1 + 1 + 1 + 1
m
+ 2 +2 | *
+
(21+1) 1 1 3 1 3 5 1 3 5 7
1 4 9 16
S + 12
2 8 18 32
7.1.4
q—'n,l,m(r;ey )
l.IJn,I,mz Rn,l(r) Yl,m(e, ) (7'12)
l.IJn,I,m ,Rn,l(r) y
;Yl.m(el ) )
7 -3
1.
Y. m(0, 0
7-3
$(r,6, ) R(r) Y(@©, )
1 i a 1 ya 1
1s nage 2 age 0 =
1 1 r 1 r 1
= 2.1 L-n2 .- 72 1
2s 2 2na8 2% e % 8a§ 2% e % p
1 1 r B 3
2 - — e "2% coP -
Pz 4 2nag N 4J_[cosﬁ
1 1 r ) . 1 r <
2 —= — e "2% gnfcos — e 729 —
Px 4 21Ta8 2 24a(3) 2 4J_[smf)oos
1 1 r ) . . 3
2 - — e "2% gnBsin im0 si
Py 4 mad 4JTsmesm
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( ) 0, ,
YO, ) 8 Y@, ) ,
| Y] : :
Y :
Yi,m(0, ) I m , , [, m
) Yl,m(e, ) )
, I=O,m=0 Yo,o(e, ) 1s
_ 1
) YS_ 4_[1 91 )
1 1
= Ys AT 7-6
7-6 s 7-7 p:
’ pZ
_ 3 _
sz— 4ncosG—Ccose
Yo : S 7-4 S Yo
sz-cosﬁ : : 7-7 7-7
180, Pz
(91 ) Yp
1Xy sz )
Yo



Y®., ) ! Px, Py d
7-4
6 o 30° 60 o0 120 150° 180°
cosp 1.00 0.87 0.50 0 - 0.50 - 0.87 -1.00
Yo, 1.00C 0.87C 0.50C 0 -0.50C  -0.87C  -1.00C
7-8 s,p,d : p
: Yo X,Y, Z
, P Px, Py, Pz d d2 de&. 2
Y z X y : d ; dxy , dxz,
dy. Y y, X z,y z )45
, d/’ : d :

7-8 s,p,d
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241

7-9 s,p,d
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r, dr ( 7-10), r
4 v’ auridr (7 -11),

dp= |@|dt = |@|°4trPdr= R(r)4tr’dr

R
D(r)=R(r)4nr’
D(r) D(r) r
7-10 1s
r=52.9 pm
, 1s r=52.9
pm ,
52.9 pm
r=52.9 pm
, r
=52.9 pm
7-10 1s
7-11 : n- | ;
3d ,h=3,1=2,n-1=1, 38 ,h=3,1=0,n- 1=3,
I n . 1s, 2s,3s, r :
;N I , 3s,3p,3d,
I , O
n , ; n )
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-11
7.2
n, n
EZS: E2p, ESs: ap: E%d,
n,
7.2.1
1.
(Pauling L)
7 7-12 )
1 P
3 ,d
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Els < EZS < Ess

Ens < Enp < End < Enf
n I

E45< E3d< E4p
E5s< E4d< E5p
E6s< E4f < E5d< E6p

(n+0.7 1)
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L] ( )l
2.
112 :
; (Pauli exclusion priciple)
n, I, m ,
H +1/ 2 - :l[ 2 ,S
2 ,p,d,f 6,10,14 :
2n
(Hund F)
( ) :
(Hund’' s rule) 7 - 13
N 2p 7-13
Px, Py, Pz ,
( ) : :
3.
7N 1522522p3 n I
( ),
1 7 - 13
, O o n, I, m :
Lot

(Cotton F A)
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) 1825’
7-5
1 H 1¢ 39 Y | [Kr]4d'5S 77 Ir | [Xe]4f*5d’6s
2 He 1¢ 40 Zr | [Kr]4d?5¢ 78 Pt | [Xe]4f¥5d%6s!
3 Li  [He]2st 41 Nb | [ Kr]4d*5s 79 Au | [Xe]4f¥5d06s!
4 Be [He]2s? 42 Mo | [ Kr]4d°5st 80 Hg | [ Xe]4f*¥5d%6s?
5 B [ He]2s%2pt 43 Tc | [ Kr]4d®58 81 Tl [Xe]4f*5d%s?6pt
6 C  [He]28%2p? 44 Ru | [Kr]4d’5s 82 Pb [ Xe]4f*5d%6s?6p?
7 N [ He] 28°2p° 45 Rh | [ Kr]4d®5s 83 Bi [Xe]4f¥5d%6s?6p°
8 O [He]2s?2p* 46 Pd | [ Kr]4d° 84 Po [Xe]4f*¥5d%s?6p*
9 F [He]2s2p® 47 Ag | [ Kr]4d%5¢ 85 At [Xe]4f¥5d%s?6p°
10 Ne [ He]2s?2p° 48 Cd | [ Kr]4d'%5¢ 86 Rn [Xe]4f¥5d9%6s26p°
11 Na [Ne]3s' 49 In [Kr]4d'%5<5p* 87 Fr  [Rn]7s
12 Mg [ Ne]3s 50 Sn [ Kr]4d"%5¢5p? 88 Ra [Rn]7¢
13 Al [ Ne]3s?3p 51 Sb  [Kr]4d'5¢5p° 89 Ac | [Rn]6d*7s?
14 Si [ Ne]3s°3p? 52 Te [Kr]4d°5<5p* 90 Th | [Rn]6d%7s?
15 P [ Ne]3s?3p° 53 I [Kr]4d'%5<5p° 91 Pa | [Rn]5f?6d7s?
16 S [ Ne]3s%3p* 54 Xe [Kr]4d©0585p° 92 U | [Rn]5f36d'7s?
17 Cl [ Ne]3s%3p° 55 Cs [Xe]6st 93 Np | [Rn]5f*6d'7s?
18 Ar [ Ne]3s?3p° 56 Ba [Xe]6s 94 Pu | [Rn]5f57s?
19 K [Ar]4s 57 La | [Xe€]5d 68 95 Am | [Rn]5f'7s
20 Ca [Ar]4¢ 58 Ce | [ X €] 4f15d'6s? 96 Cm | [Rn]5f76d'7s?
21 Sc | [Ar]3d'4s? 59 Pr | [Xe] 4368 97 Bk | [Rn]5f%7s?
22 Ti | [Ar]3d?4s? 60 Nd | [X¢] 4f* 68 98 Cf | [Rn]5f9078
23 V | [Ar]3dP4s? 61 Pm | [Xe] 4f°65 99 Es | [Rn]5f"7¢
24 Cr | [Ar]3d°4s’ 62 Sm | [Xe] 4f°68 100 | Fm | [Rn]5f%?7¢
25 Mn | [Ar]3d°4s? 63 Eu | [Xe] 4f' 64 101 | Md | [Rn]5f27¢
26 Fe | [Ar]3d°4s? 64 Gd | [ X €] 4f' 5d'65 102 No | [Rn]5f%7¢
27 Co | [Ar]3d"4s? 65 Tb | [X€] 468 103 Lr | [Rn]5f*6d'7s?
28 Ni | [Ar]3d®4s? 66 Dy | [X¢€] 4f1%¢ 104 Rf  [Rn]5f¥6d%7s?
29 Cu | [Ar]3d04s! 67 Ho | [X €] 4fll68 105 Db [Rn]5f“6d37s?
30 Zn | [Ar]3d04¢? 68 Er | [Xe]4f%6¢ 106 Sg [Rn]5f¥6d*7s?
31 Ga [Ar]3d%4s?4pt 69 Tm | [X€] 436 107 Bh [Rn]5f¥6d°7s?
32 Ge [Ar]3d%4s?4p? 70 Yb | [X€]4f%6 108 Hs [Rn]5f*¥6d%7s?
33 As [Ar]3d¥%s?4p? 71 Lu | [Xe]4f*5d16s 109 Mt
34 Se [Ar]3d%4s?4p? 72 Hf | [Xe] 4f145d26s 110  Uun
35 Br [Ar]3d"4s’4p’ 73 Ta | [X¢e] 4f**5d%6s? 111 Uuw
36 Kr  [Ar]3d"%s*4p° 74 W | [Xe]4f*5d%6s” 112 Uub
37 Rb [Kr]5s' 75 Re | [X¢] 4f**5d°6s°
38 Sr [ Kr]5¢ 76 Os | [Xe€] 4f*5d°6s




7.2 247

24 Cr [Ar]3d’4s
62Gd [ Xe] 4f 5d 65°

W ([Xe]4f'5d'65)

7-5
np- ns- (n-1)d- (n-2)f

[Ar]3d°4s’, [Ar] 3d*4¢

2p°3s [Ne] 3s
: (n-2)f,(n-1)d, ns, np
22 Ti [Ar] 3d°4s
20CU [ Ar] 3d'%4s
s2 Pb [Xe]4f“5d"° 65 6p°
1 6’ 7
Fe”
7.2.2
20 30
1.
7-6
1 3 , 1
: 6
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7-6
1 1 18t 2 1H LHe 2
2 2 28" 2.2pt ° sLi 1oNe 8
3 3 3s 2.3pt ° uNa jgAr
4 4 48 2. 3d Vapt 6 10K 36Kr 18
5 5 5s* 2.4d" ©5pt ° s7Rb  g.Xe 18
6 6 6ss 2_aft ¥_ 5t P ppt © 55Cs  ggRN 32
7 7 78 2.5 Y 6d" 7 g7k T
2.
( nsnp); S
: (n-1)d (n-2)f
18 1 2 13 18
8 : A A( A )
ns np , /N, 18°
2522p3, 2p 5, A A
: : 8
3 12 10 : B B,
B ( ) 3 9 B,
B S , B B
S (n-1)d : 22 Ti,
348, 4, B B :
89 10 6 ssCe( ) nLu( ) 14
: Ln 7 ooTh( ) 10sLr( ) 14
: 4f
5f
3.
, s p.d,

ds, f ,
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7-7
A A
1 A A A A A A
2 B B B B B B B B
3
4 P s
S ) ds ns” np
S) ns" (n_l)(;l 9psl 2 (n—ll)gllo
5 ns
.
;
(n-2) ¥(n-1)d ?ns
S s S : ns  ns,
’ A A +1
+ 2 ,
p P P, ns np °,
A A
S p )
d d ( y(n-1)d
( ), , B B d
(n-1)d*ns (n-1)d*"*ns (n-1)d*"*ns, x=1 8
ns ( y) (n-1)d
( X) x+y=8 10 B,
ds ds (n-1)d°ns" ? d
(n-1)d s (n-1)d®
: d ds d
S : d p ds
ns
foof f , (n-2)° *(n-
1)d’ *ns’, ,
7.2.3

1. (Z7)



20

(Z)

(shiel
ding effect) (Slater JC)
oy o ( )

( ) o (oi=>0) o ,
0) )

(1s), (2s2p), (3s3p), (3d), (4s4p), (4d), (4f), (5s5p), (5d), (5f), (6s6p)

o=0,
o0 =0.35(1s ,0 =0.30)
nsnp ,(n-1) 0=0.85,(n-
2) o =1.00
nd nf : c=1.00
7-2 Sc 3d Oi
:Sc 1§ 2¢2p'3< 3p’ 3d' 4

(1s)* (252p)° (33p)° (3d)" (4s)’
03¢=18x 1.00=18.00

(2) (01) (Z"):
Z =27-0 (7 - 13)
-
A 7z ?
E = -2.179x 10 *° RN E=-1312 ~ < kJ mol *
(7 - 14)
ya n n
n
n 1 2 3 4 5 6
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7-3 2p 3s
‘Na  Z=11, 1§28 2p°38
ZZ*p:Z_Gi Z’:S:Z'O_i
=11- (2x 0.85+7x 0.35) =11 - (2x 1.00 + 8x 0.85)
= 6.85 .
yAR 7" 2
Bp= - 2.179x 107" —~ Bos= -2.179x 10" — =
- 185 6.85 °? : s 2.2 2
= -2.179x 10 50 = -2.179% 10 3.0
= - 26x 107 () = -1.2x 10 ()
E35> E2p
7-4 19K 3d 4s
3d . K 1€2¢2p°3¢3p°3d" ;
4 ., K 1€ 252p° 3 3p’ 45

*

Zsa =19 - (18x 1.00) =1.00 Zi=19- (10x 1.00 +8x 0.85) = 2.2
Eoa = - 2.179x 10" "x (1.00 3.0)" = - 0.24x 10" **(J)
Eie= - 2.179x 107 *x (2.23.7)" = - 0.77x 10" "*(J)

Eis< BEsa, 10K 4s , 1528 2p°3€ 3p 4s
7-5 21SC  Bq Ess
:21SC 1€ 2§ 2p’35°3p 3d' 4<

Z?’*d:21 - (18X 1.00) =3.00 Z4*s =21 - (10)( 1.00+9%x 0.85 + 1x 0-35) =3.00
Esa= - 2.179x 10" *x (3.00'3.0)" = - 2.2x 10" (J)
Eis= - 2.179x 10" x (3.00/3.7)* = - 1.4x 10" *(J)

Eis> Esq, 213C 4s ,
4s 3d
z , ,
I , n ,
Eis< Bos< BEss  ; Eop < Esp< Bap  ; BEsa < Esa < BEsa  ; Ear < Esg
; n ,
I : : Ens < Enp < Ena < En
n | , : Ess  Esd :
19K Ess < BEsa; 21SC , BEas > Esuq, 7-4, 7-5
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Z : 1,
0.35 (n-1) , ,
(n-2)
7-8 z
Na Mg Al S P S Cl
z" 2.20 2.85 3.50 4.15 4.0 5.45 6.10
Sc Ti \% Cr Mn Fe Co Ni Cu Zn
yal 3.00 3.15 3.30 2.95 3.60 3.75 3.90 4.05 3.70 4.35
La Cée Pr Nd Pm Sm Eu Gd Tb Dy Ho Er Tm Yb Lu
z" 3.00 2.85 2.85 2.85 2.85 2.85 2.85 3.00 2.85 2.85 2.85 2.85 2.85 2.85 3.0
2. (r)
(r)
: (van der
Waalls)
(covalent radius) Cl; : Cl
198 pm, CI ra = 99 pm ,
(metallic radius) : 266 pm,
rzn =133 pm

(van der Waals radius)

7-14
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7-14 Ch(s)
7-9
7-9 “( pm)
H He
37.1 122
Li Be B C N O F Ne
152 111.3 88 77 70 66 & 160
Na Mg Al S| P S d Ar
153.7 160 143.1 117 110 104 99 191
K Ca < Ti Y O Mh Fe C N Qu Zn Ga G As < b Kr
227.2 197.3 160.6 144.8 132.1 124.9 124 124.1 125.3 124.6 127.8 133.2 12.1 122.5 121 117 114.2 198
Ro & Y Zr Nb Mo Tc Ru Rh Pd A C In SO S Te I Xe
247.5 215.1 181 160 142.9 136.2 135.8 132.5 134.5 137.6 144.4 148.9 162.6 140.5 141 137 133.3 217
Cs Ba La Hf Ta W Re Os Ir Pt Au Hg TI Pb B Po At Rn
266.4 217.3 187.7 156.4 143 137.0 137.0 134 135.7 138 144.2 160 170.4 175.0 154.7 167
Fr Ra Ac
210 20 187.8
Ce Pr Nd Pm Sn Eu &d Tb Dy Ho Er Tm Yb Lu

182.5 182.8 182.1 181.0 180.2 204.2 180.2 178.2 177.3 176.6 17/5.7 174.6 194.0 173.4

Th Pa U Np Pu Am Cm Bk o Es Fm Md

1/9.8 160.6 138.5 131 151 184

No

Lr




Ce Lu
(lanthanide contraction) : Hf,
Ta, W : Zr,
Nb, MO y ] 1
3.
(1) +1
, (ionization energy), 1,
M(g) M7 (g)+e lL=AE= E[M"(g)] - E[M(9)]
+1 + 2
] I2’
, 'kd mol *,] eV
J. eV , - kJ mol " * ,
Imol
Il |2 |3 |4 |5 |6
I/ k3 mol -1 578 1817 2745 11578 14831 18378
* 1< o< I3< |4 ,
* Ian la< Is< s 1, 12, I3 :
3s,3p : l4 ,
, Al ,
., [7-10
eVv: , ,1 eV 1 1V

1eV=1.602x 10 ¥
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7 -10 h( :kd mol™ 1)
H He
1310 2372
Li Be B C N o F  Ne
519 900 799 10% 1401 1310 1680 2080
Na Mg Al g P S d Ar
24 736 577 786 1060 1000 1260 1520

K Ca < Ti Y O Mn Fe C N Qu Zn Ga G As & ©br Kr
418 50 632 661 648 653 716 762 75/ 7H 7H 08 57 762 966 941 1140 130
Rb & Y Zr Nb Mo Tc Ru Rh Pd A G In S S Te I Xe
402 548 636 669 653 694 699 724 74 808 7R &6 H6 M7 833 870 1010 1170
Cs Ba La Hf Ta W Re Os Ir Pt Au Hg TI Po B Po At Rn
376 502 540 531 760 779 762 841 887 866 891 1010 500 716 703 812 920 1040

Ce Pr Nd Pm Sn Eu &d Tb Dy Ho Er Tm Yb Lu

528 523 530 536 543 HS7 5% 564 572 581 539 597 603 524
Th Pa U Np Pu Am Cm Bk cf Es Fm Md No Lr

%90 50 50 600 58 58 58 < 60L 608 619 627 63 642

8 ,
(A) ,
(electron &finity), A A (
)
X(g) +e X A
O(g) + e o) A= -141 kJ mol "
O (g)+e o A, =844 kJ mol "’

-1

Az
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A ( - A )
= A]_ H
7-11
7 -11 Ay ( :kJ mol 1)
H He
- 72.9 (+21)
Li Be B C N (@] F Ne
- 59.8 ( +240) - 23 - 122 0+ 20 - 141 - 322 (+29)
Na Mg Al S P S Cl Ar
- 52.9 ( +230) - 44 - 120 - 74 - 200.4 - 348.7 (+ 35)
K Ca Ga Ge As Se Br Kr
- 48.4 ( +156) - 36 - 116 - 77 - 195 - 324.5 (+ 39)
Rb Sr In Sn Sh Te | Xe
- 46.9 - 34 - 121 - 101 -190.1 - 295 ( + 40)
Cs Ba Tl Pb Bi Po At Rn
- 45.5 ( +52) - 50 - 100 - 100 (- 180) ( - 270) ( + 40)
ns np’, p :
2 6
, , ns np ,
( )
4. (X)
(electronegativity)
E(A—B) =[ E(A—A)x E(B—B)]”?+96.5(xx - X&)> (7 -15)
E(A—B), E(A—A) E(B—B) A—B,A—A B—B ,
kd mol " ( )iXa,Xe A B 196.5

XF:4.0,

(Mulliken) - (Allred - Rochow)
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7-6 H,,Br, HBr 436 k} mo"',193 k} mad'' 366
kd mol™ ', H Xu=2.1, Br X Br
(7 - 15):

E(H—Br) = [ E(Br—Br)x E(H—H)]"*+96.5(Xe - Xu )
366 = (193x 436)"% + 96.5(Xer - 2.1)°

Xer=3.0
7-12 (X») :
2.0 , 2.0
7-12

H
2.1
Li | Be B| C|N|O]|F
1.0[1.5 2.0/ 2.5]|3.0]3.5]4.0
Na | Mg Al | si| P | s | c
0.9]1.2 1.5]1.8]2.1]2.5]3.0

0.8|1.0(2.3|1.5(1.6|/1.6|1.5(1.8|1.8(1.8|11.9(1.6|1.6|1.8|2.0]2.4(2.8
Rb [ Sr Y Zr [ Nb| Mo| Tc| Ru| Rh | Pd | Ag| Cd | In | Sh [ Sb | Te I
0.8|1.0(1.2|1.4(1.6|1.8|1.9(2.2|2.2|2.2|1.9(21.7|1.7|1.8|1.9]2.1|2.5
Cs| Ba| La| Hf | Ta| W Re| Os | Ir Pt | Au| Hg | TI Pb | Bi Po | At
0.710.9(12.0|1.3(21.5|1.7|1.9(2.2|2.2|2.2|2.4(1.9|1.8|1.8|1.9]2.0(2.2
Fr Ra | Ac
0.7]10.9(1.1

7.3

, CO: :
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7.3.1

(ionic bond)

(positive ion)

Na Cl

1916 (Kossd W)
(negative ion)
Cs + F Cs' + F '
2
Z. 2. €
vV @ =- " (7 -16)
y 2+, Z , €
: NaCl ,
11, : NaCl

(ionic compound)

(lattice energy)
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, U
1 mol , kJ mol * .U ,
(Born) - (Haber) NaBr:
.\ ) AH, = U
Na (g) + Br (9) NaBr (cr)
AH; () DHs ( )
AH, (E /2) 1
Na(g) Br(9g) 5> Br2(9) At Hu ( NaBr)
AH, ( ) AHy ( )
1
Na(s) + EBrz(I)
A H, =108.8 kJ mol "’ AH, =15 kJ mol "*
A Hs =493.3 kd mol "’ AHs =96 kJ mol ™"
AHs = -324.6 kd md* At Hm (NaBr) = - 361.1 kJ mol **

AtHn =AH: +AH; +AHs +AHs +AHs +A; Hn
U=A+Hm -AH: -AH2 -AHs -AHs -AHs

= (-361.1-108.8-15-493.3- 96+ 324.6)kJ mol **
= - 749.6 kd mol " *

138840z, z. A 1

U= - r 1- = (7 -17)
U , kd mol *: 138840 kJ mol ~*

d pm m ; d : (re +
0K , 1 mol

U , AU - AH, AH AU
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r.) , pm; z., Z. A
(Madelung) : ( 7.6 ) : CsCl,NaCl  ZnS
, A 1.763,1.748 1.630; n , N

, 7-13
, n
7-13
He Ne Ar,Cu’ Kr, Ag* Xe,Au®
n 5 7 9 10 12
NaBr :
z. =z. =1,A =1.748, n= (7+ 10)/ 2=8.5, d = (95 + 195) pm = 290
pm,
U= - 138840x 1x 1x 1 .748 1- 1
a 290 8.5
= -738 4 (kJ ma ')
( 7'6) 1
(7-17) : Z+, Z. A : d
Z.,2 , (A ), d
! ’ d ) y 7 = 14
7 -14 NaCl z,d
NaCl NaF NaCl NaBr MgO ScN TiC
/ pm 231 276 290 205 223 223
z,= 2. 1 1 1 2 3 4
I K 1261 1119 1048 3098 3140+ 90
* 3.2 2.5 6.5 7 8 8 9
a/ 10 6K -1 39 40 43
* 10
7.3.2
CsF, NaBr, NaCl
H,, N,

HCl, CO2, NH3
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(covaent bond)

1927

H-
theory),

1s

(E)

(

pm

VB

1s

7 - 16a),

20 30
(Heitler W) (London F)
H: 1931

(vaence bond

1s

: 7-15 :
: E
E.+ E( Ea, Eb a b ),
H :
) E ]

( 7-16b) 74

JE.= -436kJ mo *,

7-15



22

Cl

7-16
1s ) l-IJls
2.
° A,B ) '
, H—H H—CI , H
3p A,B
, N= N
N 2p He
A , B
., A B : AB;
A ,B , B
A , B
) , A~B

1s

H.O
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H H- H
H, , Hs H
: : NH;
(p,d,f)
s s , p,d,f
7-17 1s Cl 3px
7-17 s Px
H X Cl,
b. H d X . H
X ;
c. H y4 d H
Cl HCI
7.3.3



M , : BM
b =0, NG: ,NO, G
) M n
M= n(n+2)BM (7 -18)
M
lOZ ] ’ OZ
1932 : (Mulliken R S)
- (Lennard J E Jones) (molecular
orbital theory), O
2.
MO ,
P,
) Ei
E,
E=Y NE
N i , B Wi
Y
’ ’ HZ

H 1s Ya, Yy
P =GCPa+ Gy
Y =GCWa- G Yo
C,C , G = G,
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, , (bonding or_
bital) ; (v ) ,
] (a.ntl_
bonding orbital) 7-18
Ea, B H , E ,E
3.
7 - 18
4.
, 2
7-19 7 - 19 a, b ,
Oz Ti2p a O2p T2 (@7 =
; Nz,Cz,Bz b yO2p Tl2p
(o,
T[) “ P L ,
[ P L
, 2 2s O2s 0252 6 2p 6
,2 (0} O2p 0-2*p,4 Tt T[Zpy,T[ZpZ T[Z*py,
T[Z*p T[Zp T[Zp y ’ T[;p
T[Z*p
7-20 2s 2p
P , P
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7-20

n=2



7.3

1s 1s ,
: 1s
, H> : 7-21
O,
8 : O, 16
- 19a
: 7 -22 ( O1s
) Tl2p
T[Z*p ,
) O2s 0'2*5
(02,)° (M), (M2)°, O
Tl2p
(T[Zpy)2 (TTZDZ)Z T
LLU
T, Tt
, 7 -19b

717-22 O

1s

O1s

7-21 H;
O,
2p
, O
7-23
7-23 N

O

14
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2 (Tzp))"s (T2 )" (02p))° N
5.
N2
N2 [ (015)° (015) (025) * (025 ) * (Tt2p)” (1020, ) (025 )]
N2 , n=1

N2 [KK(025)" (025 ) (Ttzp, ) (Tt2p,)* (025, )]
7-7 0,0 O

: Oz[(Gls)Z(Gfs)z(st)Z(Gz*s)z(Gsz)z(ﬂzpy)z(ﬂzpz)z(ﬂz*py)l(ﬂ5p2)1]

o) , O o |, T

O [(015)*015)° (025)° (02:)* (020 )° (Tap )* (Ttzp )* (T )* (1125 )]
o} O : nz*py
o) ) Tt ) )
G [(01s)" (015)7(025)" (02)" (02 ) (T2p )* (T2 )” (T2 )7 (T2 )]
G O , Tizp : T2p

o

7.3.4

3 p X,VY, Z

a. , Y(6, ) (Px);

(Py, P2)

X ,dzz,dxz- y2 dyz 0) ,dxy dxz



7.3

( u ), P
, Tt
(u) 7-20
Tt
(0) , (0)
Tt
0)
P P
Tt

(9)
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o
o
: 7-25
o
2P«
02*px 2py 2pz
Tt
o

O 2s

2px

T[Zpy ) T[sz

7-24 ©

Tt
@)
3
) I_I3
N2
O2s
02p
Tt
, o
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0] H- , O1s )
o H, , O1s : o
o o o He
) O1s ) 0'1*5 Tt
T T ,
1 m ) T
7.3.5

(parameter of bond)

1.
(bond order)
=1;N= N =3
- 2
- 2
G, [KK (025)" (025)" (02p )° (ﬂzpy)2 (ﬂzpz)z(ﬂz?})y)1
(T )'1,  =(8-4y 2=2
; ; He 0,
7-8 7-7
Oz = 2
0: =(8-5)/2 =32
0; = (8-6)y2=1

Q,0 05 , O,
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o G
2.
(bond energy)
E , kJ mol *
, 298.15 K
AB(Q) A (g) + B(g) A: Hn = E(A—B)
A B
HCI(g) H(g) + Cl(g) ArHm (HCl) = E(HCI)
N= N(g) 2N (g) ArHn (N2) = E(N2)
, E(A—B) D(A—B),
Cl (9) 2CI(9)
A Hm.208.15(Cl) = E(ClL) = D(ClL) = 247 kJ mol '
NHs
N—H
NHs (g) H(g) + NH2(g) D; = 433.1 kJ mol "'
NH: (g) NH(g) + H(g) D,= 397.5kJ mol !
NH(g) N(g) + H(g) Ds = 338.9 kJ mol "’
NHs (g)
E(N—H) = D(N—H) = (D, + D, + Ds)/ 3
= (433.1+ 397.5+ 338.9) kJ mal 7 3
= 389.8 kJ mol !
7 - 15
3.

(bond length) , : m pm
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7 = 15 ]
H—F, H—Cl,H—Br, H—I ,
7 -15 (298.15 K)
kJ mol ! pm kJ mol ! pm
H—H 436.00 74.1 F—F 156.9+ 9.6 141.2
H—F 568.6+ 1.3 91.7 Cl—cl 242.95 198.8
H—ClI 431.4 127.5 Br—Br 193.87 228.1
H—Br 366+ 2 141 .4 |—1 152.55 266.6
H—1 299+ 1 160.9 c—C 346 154
O—H 462.8 9% cC C 610.0 134
S—H 347 134 c=C 835.1 120
N— H 391 101.2 O O 497.31+ 0.17 120.7
C—H 413 109 S S 424 .6+ 6 188.9
S—H 318 148 N= N 948.9+ 6.3 109.8
Na—H 201+ 21 188.7 C= N 889.5 116
4.
(bond angle)
e [13 o” rn
X
7-16
7-16
/ pm

NO, 120 134° \Y )

co, 116.2 180°

NH; 100.8 107.3°

ccl, 177 109.5°
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) (polarity), (polar bond)
; (nonpolar

bond) ,
(bonding mo-

ment) ,
b= q
q ; ,
M - (G m)

JUuo = 3.57x 10°°°G m,

q=p/ 1= 3.57x 10" °G m (127x 10" **m) =2.81x 10 *°C

( ) = 1.602x 10” *°C,
5= 2.81x 10 *°Q (1.602x 10 *C) = 0. 18( )
H—CI 18 %
: ( ) ! (
) , ,
CsF 8%
7.4
7.4.1
(valence - shell electron - pair repulsion), VSEPR

1940 (Sidgwick N V) (Powel H M) ,
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(Gillespie R J) (Nyhadm R S)
1. VSEPR
. ( ) ) (
)
+ VSEPR
( :
: 7- 17 7- 26
7-17
VP 2 3 5 6
26 A
( =Y )
>

2. AXmEn
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( ) AXnEn , A X
( X), m
( ). E A
, N
VP A ,
VP= m+ n
m , N A :
n= A - m
- 2
(7-19)
’ NOZ
n=(5-2x2)/2=12 n=1
AX nE, , ,
A + -m
n = 5
(7 - 20)
m n : VP 7-17 7-26
) A (n=0),
] ] ( 7'12)
V SEPR AXmEn 7-18
7-9 H:O" SG;i° n VP,
. Hs O n=(6-1-3x1)y2=1 VP= m+n=3+1=4
VP
Serl n=(6+2-4x2)2=0 VP= m+n=4+0=4

VP
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7 -18 VSEPR AXmEn
AX E, AXnEn [ m| n
BeCl
AXZ ECZ
HCN
NO;
AX s AX,E | 4|1 SF,
SO;
CIF;
AX,E NO, AXsE, | 3| 2
Brk,
v T
AX Mol axee | 2] 3 'Clz
4 Solzl_ 253 Ié
AXSE NFs AX SFe
6|0
s SR ¢ IN=2
H,O
AX,E, AXsE [ 5| 1 I'Fs
H,S
i
AX PFs AX.E, | 4| 2 ICl;
’ SF,0 42 4
7 -10 VSEPR CHs,H2O,NH:z

n=(4-4x1)/2=0

VP=m+n=4+0=4
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CH,
H.O n=(6-2x 1)/ 2=2 VP=m+n=2+2=4
H,O , , v
NH; n=(5-3x 1)/ 2=1 VP=m+n=3+1=4
NHs , ,
CHs ,H.0,NH; ,
109.5°, N Hs ,H0 ,
, CH;,NH; ,H. O
7-1 d,c O CICCl CICO
:CkC O C
n=(4-2x1-1x 2) 2=0 VP=m+ n=3+0=3
n:01 1
cC O , , clcd : 120,
CiCO 120°
7-12 V SEPR Sk
n=(6-4x 1) 2=1 VP=m+n=4+1=5
9r, : 9
a. o9 (lp bp3); 9
(bp bp3);
b. 9 (Ip bp2); 9
(bp bp3);
, b , SF4 b,
7.4.2
H20

H—O 90, 104.5°



7.4

C : 2§2ﬁ,
o, :
(Slater JC) 1931
1.
( )
(hybrid orbital)
2.
S P
S p
P ns
P
Y2 s Y2 p :
180, 7-27
, BeH. , Be
: Be
H
P Be
(1525°), Be
: , Be 2s
2s 2p sp
sp’ sp’ ns
Y3 s 23 p :
: 7 - 28a BFs

1§2§2ﬁ,

(hybridization)

: d, f
np
7-27 sp
2p ,
, H
np ,
120,
3 o 1 2s
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2p
2
Sp
3 3
Sp Sp
CH,4
3
sp
7 - 29a
4 sp’
7 - 29b

353p

Y 4

2p
7-28b

7-28

ns

P
, 3
BR

np

, 4
34 p
109.5° 4
o (C—H)
d
1 3s

BFs:

2526

Sp

, PCls
3d

109.5,

P



7.4 281

7-29 4 CH.
, s d d
3.
L] Sl p
N,O :

252p°, NHs , 2s  2p sp’
2s : : sp3 S

s 3 P

, , 109.5,
: 7-30
7-30

sp’ H 1s , H. O
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3

, sp S ,
y y H2 O
104.5, \ , 7-31 H;S, OF,, SCl,
7-31
V SEPR ,
7-13 :NH, , PCL, SO,
Bre
N H4_+ PCI3 SOZ BrF2+
n (5-1-4x1)2=0 (5-3x1)2=1 (6-2x 2)/2=1 (7-1-2x 1Yy 2=2
VP=m+ n 4 4 3 4
VP
9’ sp’ sp° sp’
Y% Y
7.5
(crystal)
(amorphous solid) : (

) :



7.5

7.5.1
1.
(
X
)

- 32

7.3

(anisotropy) ,

(isotropy)

7-32

(unit cell)



, a, b,
a,B,y : 7 - 33
2.
7-33
) : 7 , 7 7-19 7
7-19
a=b=c a=B=y =9C NaCl, CsCl, CaF,, Cu
a= bz c a=p=y=9C Sn0O,, TiO,, NiSOy,, Sn
a= bz c a=p=90C,y = 120° Agl, (Si0,), ZnO,
a=b=c a=B=y# 9C <120 (CaCO3), Al,04, As,Bi
az bz c a=B=y =9C HI1O3;,NaNO,,MgSO,,
az bz c a=p=90,y >9C KCIO;,KNO,, S
az bz ¢ oz Bzy CuSO,4 5H,0, K, Cr,0,
. (ionic crystal)
: NaCl Na' cl’



7.5

(SiC)

7.5.2

(SiO:)

(B.C)

100

(AIN)

(3410 ),

28.5

- 34

12
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(

12

N
6 mg
: N
(energy band)

N=6.02x 10°),

2p
3s

12

3s

3s,
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3s , 3s
3s 3p
(
, 7 - 36
x 107 %] ,
7.5.3
— (
1.
(polar

(nonpolar molecule)

3p :
, 38 3p

), Cl2,N2,COz2,H20

molecule) ,
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. HCI,CO
, : ,  Pi, S
SO, CO» , , CO;
: SO,
(dipde moment)
(Deébye PJ W) 1912
1 7 -37
: d , (m);
7 - 37:
u=qd
SI (G m), (D)
1D = 3.336x 10 *°G m
H20 U (H20)=6.17x 10" *°G m=1.85D
: M =0, ; M :
7-20
7-20
u/ 120G m u/ 10 %G m
H, 0.0 HF 6.4
N>, 0.0 HCI 3.4
CO, 0.0 HBr 2.6
CS, 0.0 HI 1.3
CH, 0.0 H,O 6.1
ccCly, 0.0 H,S 3.1
CcO 0.37 SO, 5.4
NO 0.50 NH; 4.9




Cm

7.5 280
NH:; BCs
u U (NHs) =5.00x 10 °°G m, p (BCl;) = 0.00
,BC|3 y NH3

2.

( ) , : 7 - 38
(induced dipole) :

, E
M = aE

a : (polarizability) :

1” ] ]

7 - 38
, , ( )

3.

(van der Waals)



: ( 7-39)
(disperdon force)

(induced force) :

: : 7 - 40c
(orientation force),
7 - 40b :

(London force)
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7 - 40
, 7 - 21 , HCI
: 83%, :
(H:O,NH; HF )
7-21 (T=298.15 K, d =500 pm)
-30 - 30
W 10°PG m ol 10707 10 22 10" 22] 10°22] 10" 2] I %
He 0.00 0.203 0.00 0.00 0.05 0.05 100
Ar 0.00 1.63 0.00 0.00 2.9 2.9 100
Xe 0.00 4.01 0.00 0.00 18 18 100
cCl, 0.00 _ 0.00 0.00 116 116 100
HI 1.40 5.20 0.021 0.10 33 33 100
HBr 2.67 3.49 0.39 0.28 15 16 94
HCl 3.50 2.56 1. 0.36 7.8 9.4 83
NH; 4.94 2.34 5. 0.63 5.6 11.4 49
H,O0 6.14 1.59 11.9 0.65 2.6 15.2 17
, , 1 2
, HX HCIl - HBr - HI
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( COoCh,C, ) ,

O
4.
,  NHsz, H.O HF
H, O H.S, H,Se H.Te H. O ,
, HF
(HF).,HCOOH (HCOOH),
, 59.0 kJ mol "',
(HF), 7-41
(hydrogen bond)
7-41 (HF), (HCOOH),
X(X F,O,N
1 X 1)
(Y)
) X 1)
L] X ,
. X(Y)
X—H X(Y) , H X(Y)
F,O,N, Cl,S

F—H F>0—H O>N—H N>0O—H CI>0—H S
7-22



7.5

7 -22
/ pm / kJ mol "1
F—H F 270 28.0 HF
255 28.0 (HF),, n< 5
O—H O 276 18.8 H,O( s)
285 18.8 H,O(1)
N—H F 268 20.9 NH,F
N—H N 338 5.4 NHs
N= C—H N 320 13.7 (HCN),
40 k3 mol " * , :
X—H Y :
X, Y : Y , X Y
, X—H Y H
Y X—H ,
X—H ., X—H Y 180°
Y , ,
HNO:z :
—NGO,,—COOH, —CHO,
—CONH:
, 7 - 42
7 -42
H,S

HF HClI ,H.0O H.S



: DNA RNA
a - (C 0) O (— NH) H
(C O H—N) DNA
7.6.1
1
; ns,
M , , ns’ np’,
: X
7-23
1s° H* 1s°
2 1s? Lit,B&" 1s?
+ 2+ 3+ 2.6
8 ( ng npP N:il \ IVIZg , Al 2322p6
K™, Ca 3s°3p
Cu*,zn?*, Ga* 3s23pf3d10
18 ng np® nd® Ag*,Cd*,In®* 424p84 10
Au* H@* , TI¥* 5s25p°5d!0
(18+ 2) (n-1)s’(n-1)p° In*, Sn?*, Sp3* 45°4p°4d05¢
(n-1)d¥ng T, PR?*, Bi®* 55?5p°501%6 &
Fe3* 3s23p°3cd°
(9 17) ns np? nd! ° cr3* 3s23p°3d°
Pt* 5525p°5d°
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, 7 - 23
A
B , +1 , Na',K",cu" ,Ag"
,Na" K" 8 , Cu ,Ag’ 18 ,
NaCl ,  CuCl,AqdCl
7.6.2
AB :
1. NaCl
7 - 43a . NaCl . AB
(Cl ) (Na" )
, Na' 6 Cl |,
Cl 6 Na
( ) : NeaCl ,Na’ 6,Cl"
6, 6 6
7-43 Nad,CsC  ZnS( )
NaCl

, AgCl
2. CCl
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7 - 43b , CsCl
8 8, Cs" ClI’
11
CsCl CsCl, CsBr, Csl, RbCI, ThCI, TICI,NH, Cl,
NH4Br
3. ZnS
ZnS , ZnS ZnS
; , AB
ZnS ( Zn : S
), nS Zn
S : ;
4 | 7 - 43c;
, 4 4
ZnS BeO, BeS, BeSe
4.
: (ionic
radius) X
, [ -24
7-24
/ pm / pm / pm / pm
Li* 68 NP * 72 BE" 135 c 260
Na’ 95 St’ 102 Cu” 72 N>* 11
K" 133 = 120 zn” 74 N 171
Rb’ 148 st 71 Fe’ 64 o 140
Cs’ 169 Pb'* 84 cr’ 64 S 184
cu’ 96 BE " 31 Mn 80 F 136
Ag’ 126 Mg 65 B’ 20 cl’ 181
Fe' " 76 cg” 99 APlP* 50 Br- 196
co’ 75 st 113 ol 15 | 216
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r(Na ) >r(Mg ") > r(AF")

S P , ,

r(Li")<r(Na" )< r(K')<r(Rb"):r(F )< r(Cl )< r(Br )<r(l)

r(Li") = 68pm r(Mg") = 65 pm

r(Na" ) =95 pm r(Ca’ )= 99 pm

r(Cu” )= 96 pm r(Cd”) = 97 pm
10 170 pm

r(F€ " )(64 pm) < r(FE ) (76 pm) < r(Fe) (124 pm)
r(CU" ) (72 pm) < r(Cu”)(96 pm) < r(Cu) (128 pm)
r(Pb' ") (84 pm) < r(Pb’")(120 pm) < r(Pb)(175 pm)

: 130 250 pm

r(Cl")(181pm) > r(Cl)(99 pm)

5.
NaCl ,
NaCl ,Na' Cl’ ,
7 - 44a ,
: 2(r+ + r. )2: (2r. )2, r./ r. = 0.414
7 - 44b

, r+/ r. >0.414 , ,



298

, Il 0.732
3 7 - 44c
r./ r. <0.414

7 - 44
| 7-25
7-25
rod o
0.225 0.414 4 ALS
0.414 0.732 6 NeCl
0.732 1.00 8 CsCl
7.6.3

7.5.3



7.6

1.
18, (18 + 2) 2 > (9 17) > 8
, a
- 26 )
7-26
/ /
10 %G m? v ! pm 10°°c m? v°! pm
Li* 0.034 68 y3+ 0.61 93
Na* 0.199 95 La3* 1.16 104
K* 0.923 133 cH 0.0014 15
Rb* 1.56 149 g4t 0.0184 41
Cs* 2.69 169 Ti4* 0.206 68
Ag* 1.91 121 ce*t 0.81 101
Be** 0.009 31 = 1.16 136
Mg®* 0.105 65 cl 4.07 181
ceg’ 0.52 99 Br- 5.31 196
Sr2t 0.96 113 | - 7.90 216
B * 1.72 135 02?- 4.32 140
Hg?* 1.39 110 s?- 11.3 184
B3+ 0.0033 20 Se? - 11.7 198
AlSY 0.058 50 TE?" 15.6 221
Sc3* 0.318 81
18, (18 + 2) > (9 17) > 8
+ + + +
K ,Ag , Ag K



18, (18 + 2)

Ag+ ’ ng+

: Ag
2
cd ", Hg*" :
, , 7 - 45
7- 45
, 27
7-27

pm pm pm pm

NaF 231 231 AgF 246 257
MgO 210 205 AgCl 277 302
AIN 187 221 AgBr 288 320
SC 189 301 Agl 299 337
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Adl, 0.56, NaCl ,
ZnS NaCl, MgCl,, AICls , SiCl, 3 ,

Na+ ’Mg2+ ,A|3+ ,Si4+ ’

, al , M—Cl ,
Si—Cl : NaCl MgClz,
AlCls , Sicl,

3.

AgX ,Ag" 18 , , X
F,Cl" ,Br , I’ , AgF
,AgCl, AgBr, Agl : :

, NaCl, K. SO, ; )

, K> CrO4 , ,

Ag’ ,  AgBr, Agl , AgCrO,
AgBr . Agl
BeCl, ,MgCl,, CaCl; , SrCl, , BaCl, , Be’ "
: 2 : Cl-
BT A , BeCl,
A , :
, HgCl,,Hgf®~ 18

, HgCl,
, HgCl,
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pm

[.7

(1)
(3)

CaF, Cc’:l2 * 8 , , F-
CaF
Cafl
, 7 - 46
2
1 $
120°,
2 2
Sp (sp
P
18 )
c—C 340
7 - 46
BN ( )

(2)
(4)



(1) (2) (3) (4) (5)
(6) (7) (8) (9) (10)

11.

H Fb, O HCI N, G B
13.
(1) (2) (3)
(4) (5) 0 Tt (6)
(7) (8) (9)
(10) (11) (12)
(13) (14)
(15) (16) sp, 50", 5’
14. ?
(1) s S g ,p p I
(2) sp’ 1s 3p 4 g
15. ? ?
16. AB ? ?
17. ? "
18.
(1) Agl 4 4,
(2) , Al,Ag,Cu ;
(3) MgO , ,Cu(s)
(4) BaSQ« ,Balz ,Hgl2 ,NHs ,CCl



(5) HF HCl, HCl HI
19. ? ?
(1) :

(2) ;

(3) : ;
(4)

20.

(1)
(2)
(3)
4. :
(1) 3d (2) 4s
5. :

oF 10 Ne 2sMn 29 CU 24Cr 55 Cs 72Lu
6. (1) , (2) (4
(1) Na(z=11) [Ne]3s (3) (z=24) [ ?] 3d4s
(2) 1S 25 2p° 3’ 3p’ (4) Kr(z=_) [ ?]3d°4s4p
7.

S K" P Ag° MKt Co”

N NN 5
w N e
1
H

11
21
35
48
60
82

4p , 5
(1) A,B ;



(2) , ( )
10. 4 A,B,C , 1,2,7, A,B,C
A,B 8, C 18,

(HC A 2

(2)B C 2

11. 4

(1) (2) (3)

(4) (5) (6)

12.
+1 2

(1) 2 ?

(2) :

13. , ?

(1) ng np’ (2) n np (3) ng np’ (4) ng np’

14. 36, 3

, n=4,1=0,m=0, m =

(1) ;

(2) ? ?

15. H,O(g) H20:(g) At Hm - 241.8 kI mo™ ', - 136.3 kJ md " *;
H2(g) O (0) 436 kd mol™* 493 kJ mol * H0O 0—O0

16. NH: (g) ArHm = - 46 kJ mol"*,He N—NH (g) Ar Hm = 95 kJ md ",
E(H—H) =436 kd mo "', E(N= N) = 946 kJ ma * E(N—H) E(H.N—NH,)

17. o} , o ,2,0 G ,

18.
(1) FEO FeS (2) AsH; NHs  (3) NHs NFs  (4) CCl. SiCl
19. PCl; , 101°, BCk

20. 2
(1)
(2)
21. , ? ?

H.  He He' Be G N, N,
22. H—F M =6.37x 10 °°C m F
H—F
23.



0C

NH. CG: BCh PCs (9) SiFs” HsO" XeF, SO,
24.  VSEPR
PC; SO. NO sd, sSnd; Bri
25. : :
26. :
Mn* Hg' " B’ s’ BE "
27. ,
?
Cy:-34.1 O : - 183.0 N;: - 198.0
Hy: - 252.8 :181.2 Br,:58.8
28.
(1) NaF KF CaO  KCl (2) SR, SiIC  Sid,
(3) AIN  NH; PH; (4) NS CS; CO
29. NH;, H. S, BeH, , CH, 4.90x 10°°°C m,3.67x 10 °°C m,
m,0C m
(1) ;
(2) ;
(3)
30. ?
CS CO; CH; Cl H:S SO
31. ,
MnS CaO AgBr RbCl Cus
32. :
(1) Cl' ,S° (2) F,O°° (3) F€" ,Fe "
(4) Md*,ct* (5 Cl,I° (6) K" ,Ag’
33.
Mg * Li* Fe* '’
34.
CO N HBr( ) N:  NHe HF
35.
(1) AgF AgCl ;
(2) Cu” CuxX r./ r. > 0.414, ZnS ;
(3) PB’" HG " I ., Pbl; ,Hgl,
36. o A( A+ Ar)



MgO = - 601.7 kJ mol *; 0, (g) =497 kd md " *;
MgO =3824 kd mol” *;Mg =146.4 kd mol™ *;
Mg(g) I, =737.7 kd mol™ *, I, = 1451 kJ mal **
37. , K Br
38.
39.
?
40. CuF, CuCl, CuBr, Cul r«/ r- NaCl ,
nS ?

41. (1) Write the possible vaues of | when n=5;

(2) Write the dlowed number o orbitals (a) with the quantum numbers n = 4,1=3; (b)
with the quantum numbers n = 4; (c¢) with thequantum numbersn = 7, | = 6, m= 6; (d)
with the quantum numbers n = 6, | = 5.

42. How many unpaired dectrons are in atoms of Na, Ne, B, Be, Seand Ti ?

43. What is dectronegativity ? Arrange the members o each of the following sets of dements
in order of increasing eectronegativities:

(1) B, Ga, Al, In (2) S, Na, Mg, d (3) P, N, Sb,Bi (4) S, Ba, F, S

44 . Write the eectron configuration beyond a noble gas core for (for example, F, (He) 2¢
2p°) Rb, La, Cr, F€", C/* , TI, Po, Gd, Sr** T and Lu.

45. Predict the geometry of the following species (by VSEPR theory) : SnClz, Is , [BFs] ,
IFs, SFs, SOi ", SiHs, NCls, AsCls, PO}, CIO; .

46. Use the appropriate molecular orbitd energy diagram to write the eectron configuration
for each of the following molecules or ions, caculate the bond order of each, and predict which
would exist.

(1) i (2) He (3) He' (4) H; (5) H3

47. Which of these species would you expect to be paramagnetic ?

(1) H&® (2) NO (3) NO© (4 N (5)CO (6) B (7) O

48. The boiling points of HCl, HBr and HI increase with increasng molecular weight. Yet
the mdting and bailing points of the sodium haides, NaCl, NaBr and Nal, decrease with increa
sing formuaweight. Explan why the trends opposite.

49. For each of the following pairs indicate which substance is expected to be:

(1) More covdent :

MgClL or BeCl, CaClor ZnCl, CaCl, or CdCl,
TiCkor TiCls SnClLor SnCl, CdClor Cdl,
ZnO or ZnS NaF or CuCl FeCl, or FeCl;

(2) higher melting point :
NaF or NaBr Al,Gsor FeOs; N& O or CaO
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feeng

(nanostructured substances)

1 100 nm

(1)

4x 10° , :

6 GPa, 623 K ,
(2)

nano’
20 60

4 nm, 21 nm
, ZrTiCuNiBeC
5 nm

5000

90



M(OR)., M Si,Ti,zr,Al,B R

. 1.4x 10° Pa, 800 ,
, Na: GesSio MnCl, ,

. NaGe GeCly , 2 9n¢$m Ge
Cdl,

(3)

: (chem. labon a_
chip)

DNA DNA
, DNA cd”’ DNA
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, Na S, 5 6nm Cds
] MOSZ ]
2.
( )
( 1 ) ]
(1)
TiO , ,
SO, ( 870
-1
m- g ) ’ ’
23 nm 32
nm AlLOs TiO; 62 nm Al,O; 2
pm  TiOy,
(2)

SiIC ; )

, 2x 10 *°g , ,



1V

0.4 mm

SC,



( Coordination Compound and
Complexometry)

(coordination compound)
75%
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8.1
8.1.1
CUz(OH)zSO4
CuSO; + 4NHs [CU(NH3)4]SO4
, [Cu(NHs).1°" SO:
N Hs [Cu(NHs)4]*"
Cu2+ ’
[Cu(NHs)a]™"
[CO(NH3)3C|3] ,
Cl Co’*
( )
)
(inner),
(outer) , [Cu(NH:)4] SO
[CU (NH3)4 ] SO4
1 1
1.
(central ion)

Na[ BF4] B( ),K:[SiF] Si( ) NHi[PK] P( )
[Ni(CO)s], [Fe(CO)s] Ni, Fe
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(ligand),

(unidentate ligand)

( )
(
NH; ( en),
3.

nation number)
[CU( NH3)4] SO

2+

[Pt(en).]?" Pt

NHs;, H.O,CN ,X (

NHs, NCS’
F,Cl" ,Br , I’

SCN-

GO (

2

4(  6) 6( 4)

( multidentate ligand)

0X)
NHs
2x 2=4
141618 )
+2 + 3

: B(

[AICL],

[ Co(NH3)2(NG;)4] -

H.O,0H"
CN , CO

NH:—CH;—CH,—

(coordi-

8)
AP*
[BF:]
AP

=(+3)+0x 2+(-1)x 4= -1



8.2

K. [PtCl] 2

Pt( )

8.1.2

1.

K2[SFs]

K[PtCls (NHz)]

2.

[ Co(NH3)6]Brs

[ CoCl, (NH;)s H.O] Cl

[ Co(NH3)2 (en)2] (NGs)s
3.

[PtCh (NHs)2]
[Ni(CO).]

—ONO: ,—NGO;:

8.2

()

,—CN':

(

)

()
()

,—NCS:

, 1980
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8.2.1
(valence bond theory)
. M L
, (donor) :
: (accepter) : ML
[Co(NHs)e]”" NHs Co™”
e ’ (
3d,4s,4p,4d) :
8-1
8-1
2 sp Ag(CN)z , Cu(NHz);
3 sp Hgls , CuCl;
4 sp® Zn(NH3)3*, Co(SCN)2-
4 dsp? PtCl3", Cu(NHz)3*
6 spPd? Fe(H,0)§", FeR"
6 o’ sp® Fe(CN)3~, Cr(NH;)g"
(n-1)dnsnp : (n-1)d
: (inner orbital coordination compounds)
nsnpnd : nd ns, np
: (outer orbital coordination
compounds)

, C( CN,CO ),N( NO;5 ) |,
, , (n-1)d
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" CN° [Fe(CN)s]®™ CN’
, , CN’ Fe" Fe " 3d 5
d , 4s,4p o sp°
6 CN , ,
, ns, np, nd ,
Fe" F’ [FeFs1° F ,
Fe* , 4s,4p  4d
6 sp o F e’ F
Co’ o NH, , [Co(NHs)s]” ",
[Co(NHs)e]®" 8 18
(18+2) , ,(n-1)d
n )
M= n(n+2) (8- 1)
MB
m .S A m’:n ‘Ue ,

Me= 9.274078x 10" *A m’
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8-2
m g m pg
0 0 3 3.87
1 1.73 4 4.90
2 2.83 5 5.92
, [FeFs]®" m=5.45x 10 A m?,

3 2

-2
1 _ 5.45x 10_24 A M _ ;5 gg
Ue 9.27x 10 °* A m
8-2 5
[ Fe(CN)6]®" m=2.13x 10 A n?,
m_2.13x 10° 2 A m’
- - 24 2 =2.3
Ue 9.27x 10 * A m
1 Fe" 3d 5
, [FeFs]®" [Fe(CN)s]°" Fe" 3d
8.2.2
1928 (Bethe) (crysta field theory)
( H.0, NHs)
1.
( ) :
, 5 d

d ’ dxy,dyz,dxz,



ds. yz,dz2 5 ) 5 d
,d
) d b
; : d
: 8-1 0,
8-1 d
8-2 ,dxz—yz,dz2 X, VY, Z
) dxy,dyz,dxz
dx?- y?,d: ,
, dXZ_ y21d22’ Q}
dxy,dyz,dxz, tZg
d )
& t2g
(crysta field splitting), Ao 10 Dq Ao S
t2g €&
€ g
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’ AO
| <Br <Cl° SCN <F <OH <GO. <H,0
<EDTA<NH:<SO: <CN~ CO

: , Do
CO,CN , | ,Br ,Cl
: Ao Ao :
[Fe(H20)s1°"  [Fe(H:0)6]°" Ao 13700 cm™ " 10400 cm ™"
, Do
AN X < <
d d , ,
(crystal field stabilization energy, CFSE) ,
,d
, 0, &
2E( &) t2g 3E(tg) ,

2E(@) +3E(ty) =0
E(e) - E(tg) =40



8.2 1

E(g)=+3 5A E(tyy) = -2 5A0

1% y5A01 t29
2 5Ao
aJ t29 )
& Ne, f2¢ Nt ,
CFSE( )= -2 5A0n+ 3 500 Ne
= - (0.4 - 0.6ne)Ao (8 - 2)
, : Ao : Nt Ne
A0 ) ] )
8-3 d
8-3 d
dn
tog & CFSE tog & CFSE
dt 1 1 -0.4A, N 1 - 0.4A,
o oot 2 - 0.84, T 2 - 0.84,
o (S 3 - 1.2A, oo 3 - 1.2A,
L t 4 -0.640 |t 1t % 2 - 1.64,
o oot 1 tot 5 0.04A4 tLotoLt 1 - 2.0A,
of Tl (I 4 - 0.4 N N 0 - 2,40
d’ Lt 1 1 3 - 0.8Ag L A 1 1 - 1.8Ag
d® (R S 1 2 -1.2A IR S ] 1 2 -1.2A
d’ Tttty Tl 1 - 0.64, (NN A T 1 - 0.64,
go [ttt toLt 0 0.04, [ SO B} toLrl 0 0.04,
2.
1
d,d,d , . d
t29 ) d d8,d9
] y d tZg
7
, d e d,d,d,d



P2

8 1
tZg T
tgg%
(
P> Ao,
Ao> P ,
( F ) Ao
, CN
JAYS , Ao > P,
[Fe(CN)s]®"
d d
1 2
d d
Ti(H20)8" V(H20)s"
6 7
d d

Fe(H.0)5"

3

d
Cr(H:20)s"

8

d
Ni(H.0)5"

4

d
Cr(H20)5"
d9
Cu(H;0)%"

5

d
Mn(Hz20)s"
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) d ) t2g
q , d-d d-d
by & : (\) (0)
No=E(@)- E(tg) =W ="hA=ho
v , h , C h ¢ :
( cm ) , (lcm ' =
1.986x 10 *°J)
, 10 000 30 000 cm™* ,
(13 200 25000 cm %) Ti(H,0)3"
, 20400 cm~* ,
, Ti(H20)8" d
] tZg QJ y t2g QJ
Do
AO ) ’
y AO AO 7
Fe(H.0)i"  Fe(H.0):* Ao 13 700 cm™* 10 400
cm 7, , : ,
, Ao [Cu(H20)4]*"
, 12 600 cm [Cu(NHz)4]?"
, 15100 cm™ " ( ) ,
NHs  H,O . [Cu(NHs).]*"
8.3
( )

[CU(NH3)4]SO4' H-0 )
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[CU(NH3)4] SOr H20

NaOH

[Cu(NHz)s]>" +S0; +H,0

: Cu(OH):

2 +

NaS , Cus , Cu
CU2+ NH3 y
[Cu(NHs)4]*" ,

2 +

CU " + 4NHs [Cu(NHz)4]?"
(coordination equilibrium)

8.3.1

2 +

Cu N Hs [Cu(NHs)4]"

_ c([Cu(NHs)4]*")
YT g(ed) & (NHs)

(8 -3)

Kmy (stability constant), Kwy :

KMY ’
[CU(NH;J,)4]2+

2 +

[Cu(NHs)4]?" Cu" +4NH;

_ c(CU ") ¢ (NHs)
c([Cu(NHz)s1*")

(8 -4)

Kad (instability constant) Kd

Kuy =7 —
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M L ML »

(stepwise stability constant)

M+ L ML,
Ky = c(ML)
" T (M) (L)
ML +L MLz,
c(ML,)
Kz =
c(ML)c(L)
MLn- 1 + L MLn, n
K. = c(ML ,)
"7 ¢(MLn-1)c(L)
8-4
8-4 ( )
lg Ky lg Ky lg Ks lgK4 lg Ks lg Kg
Zn(NH,)3* 2.37 2.44 2.50 2.15
Hg(NH;)3* 8.8 8.7 1.0 0.78
Zn(en)3* 5.77 5.05 3.28
Ag(NH3), 3.24 3.81
Cu(NH3)3"* 4.31 3.67 3.04 2.30
Cu(en)3* 10.67 9.33
Ni(NH3)2* 2.80 2.24 1.73 1.19 0.75 0.03
AlFE- 6.10 5.05 3.85 2.75 1.62 0.47
8 - 4 y ’
4.

: Bn (cumulative stabili-
ty constant)
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B: = K __c(ML)

~c(M)c(L)
c(ML;)
= K, K, =
Pe = K e =My @ (1)
c(MLn)
n = K1 K Kn = . 8-5
S c(M) ¢ (L) (8-9)
8-1 0.10 mo- L ‘[Ag(NHs)2]" 0.2 mol- L'"NHs 0.10
mol L *[Ag(NHs)2]" Ag’
0.10 mol L *[Ag(NHs)2]" Ag’ x mob L°* ,
Ag® + 2NHs  [Ag(NHs).]"
/ mol L°* 0 0 0.1
/ mo: L * X 2x 0.1- x
c(Ag") : (0.1- x)mok L "= 0.1mol L *,
_CIAI(NH9)1") - 0.1 _y 15y 19
c(Ag" )¢ (NH:) x(2x)*
x=1.31x 10°°
0.2mot L 'NHs Ag’ ymot L™,
Ag" +2NHs [Ag(NHs).]"
/ mol L°* 0 0.2 0.1
/ mol L°* y 0.2+2y 0.1-y
c(Ag") , (0.1- y)ymot L "= 0.1mot L' " , 0.2+2y= 0.2mot L™ ",

_ S([Ag(NHs)]1") __ 0.1
c(Ag )¢ (NHs)  yx O.

y=2.23x 10"’
, 0.2mo L 'NHs ,Ag”

=1.12x 10
7
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NHs

(

[FeFs]’™ +6H" Fe'" + 6HF
c(F€')C(HF) _ c(FE' )P (HF) & (F ) 1

8.3.2
: ( )
, , M™ + xL- ML
M" : M" :
L ,
, M" ,
. ML pH
1.
CN™ ,F H ,
’ H+ H+
) 1F_
Fe’” [FeFs]®” (¢c(H")>0.5mol L")
" F HF , F ., [FeFs]®"
Fe’ |
Fe' + 6F [FeFs]”
+
6H"  6HF

:<x[Feﬁqs')€(H*)"q{Fd%]g')&(H*y S(F ) Kuy(Ka)®

) KMY ) 1 Ka

[Ag(NHs)s ] HNO:;, , [Ag(NHs)2]"
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[FeFs]® , pH , = ,
Fe'" +6F [FeFs]®
+
30H" Fe(OH)s !
2.
, . [Cu(NHs).1*"
Na S , CuS , ,
[Cu(NHs)s]?"  CU" + 4NHs
+
S CuS!
[Cu(NH:)4]?" + & CuS! + 4NHs
< - ¢ (NH;) _ ¢’ (NHs) L c(Cu)
c([CU(NH3)41?")c(S ) ~ ¢([Cu(NHz)s]1* ) c(S )" c(Cud™)
~ 1
K ([Cu(NHs)4]*") Ks (CuS)
— 1 _ 21
=2 1x 10°x 6.3x 10 ® - 10
, CuS
. [Cu(NHs)4]*" K =1 (Kuy Ks), Kwmy , Kep ,
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AgCI(s) Ag" + CI’
+
2N H; [Ag(NHs).]"

8-2 1mLO0.2mol L *AgNG; : 1mLO0.2mo L' Kd
AgC , ?
Agd [Ag(NHs).]" , [Ag(NHs)2]" ,
[Ag(NHs)2]" 0.1mot L', C1 0.1mol L*

AgCl + 2NH; [Ag(NHs).]" +CI’
c([Ag(NHs)>]1") c(Cl" ) _ c([Ag(NHs)-]1") c(a” ) Cc(Ag")

¢ (NH;3) ¢ (NHs) c(Ag”)
= K ([Ag(NHs)2]") Ksp (AgCl) =1.12x 10"x 1.8x 10 *
=2.02x 10°°
c([Ag(NHs).]")c(Cl") 0.1x 0.1 :
C(NHs) = > .02% 107 = Zox 10 ° - 2-22(mak L)

1

2x 0.1=0.2 mo- L °,
(2.22+0.2)mot L *=2.42mol L *

Ksp KMY
8-3 0.1mol L°* [Ag(NHs).]" K Br . KBr
0.1mol L ™", AgBr ? K ([Ag(NHs)2]" ) =1.12x 10", Kg (AgBr) =5.0
% 10 13
[Ag(NH:)2]" c(Ag’ )= xmot Lt
Ag+ + 2NH; [Ag(NH3)2]+
/ mol L' X 2 X 0.1- x
[Ag(NHsz)21" , 0.1- x=0.1, K
Ag(NHz),1"
:0(2[ a( 3)2]+ ): 0.12:1_12>< 10
c(NHs)c(Ag' ) x(2x)
x=1.31x 10°°, c(Ag") =1.31x 10 °mot L *
c(Ag ) c(Br ) =1.31x 10 *x 0.01=1.31x 10 ° > Ksp (AgBr)

AgBr
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[ Fe(SCN)e]®"

3+

SnCl, ,
Fe >

1Fe 1)

2+

Fe
[ Fe(SCN)6]®"

2+

2[Fe(SCN)s]’ ™ + Sn

Fe +e Fe
I, +2e 21

, Fe

Fe' + I

F,Fe"

Fe*

FE€" + 1 2I, + 6F°

8-4 [Ag(NHs)z]Jr + e

[ Fe(SCN)6]® ,

6SCN~ +Fe "
+

2+

Sn
+ 12SCN”~ +Sn' "

2 +

2+

2Fe

E (Fe'/ Fe")=0.771V
E (14 1) =0.536V

PR

Fe* + 1 2l
F [FeFs1°,

[FeFs]® ™ + I

Ag+ 2NH,

K ([Ag(NHs:).] ) =1.12x 10’ ,E (Ag'/ Ag) =0.799V

c(Ag")
Ag" + 2NHs

(1)

K ([Ag(NHs)2] ")

[Ag(NHs)2]"

_ o([Ag(NHs)21")
~ (NHs) c(Ag")

c([Ag(NH:)»1")

c(Ag") =

c([Ag(NHs)2]1") = c(NHs)=1mol L *,

1

K ([Ag(NHs)2]") ¢ (NHs)

1

1

c(Ag’) =

(2)  E ([Ag(NHs)2]"/ Ag)

E(Ag'/ Ag) = E (Ag'/ Ag) +

K ([Ag(NHs).]"

)~ 1a2x 10 89 10"

0.0ﬁ9Vx lgc(Ag” )

= 0.799V + 0.059VIg(8.92x 10 ®) =0.382V

,c([Ag(NHs)2]") = ¢(NHs) = 1mot L~

1

Sn

2+

4+

Fe + Sn

Fe’*

,E(Ag’/ Ag)
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[Ag(NH3)2]+ +e Ag+ 2NHs
E ([Ag(NH:).]"/Ag)=0.382V

Ag’
4.
[HgCl. 1% ' [Hgls1? ", [Fe(NCS)s]’~ F°
[FeFs]® ™,
[HgCl.]?™ +4l° [Hgl.]®™ +4Cl
[Fe(NCS)s]® " +6F [FeFs]° " + 6SCN”
, K ([Hgls]®" ) > K ([HgCL]® " ); K ([FeRs]’ ) > K ([Fe
(NCS)e]”")
8-5 [Ag(NH:)2]" + 2CN’ [Ag(CN)2]" + 2NHs
, K ([Ag(NHsz)2]")=1.12x 10"; K ([Ag(CN)2] ) =1.0x 10**
« - CUAJ(CN)2]" ) E(NHs) _ _Cc([AG(CN).]") C(NH:) c(Ag)
c([Ag(NHs)2]1" ) €(CN" )  c([Ag(NHs)2] ) ¢(CN") c(Ag)
_ K ([AG(CN)] ) _1.0¢10° _g g, 44
K ([Ag(NHs)2]") 1.12x 10
[Ag(CN)2]"
8.4

(chelate
compound)
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8.4.1

8.4.2

Ni? *
3.9x 10"

2+

NI

NH; —CH,—CH,—NH- ( en)
C/¥* en ,
CH:, NH, NH: CH;
Cu”
CH, NH: NHz CH;,
( ) ()
, 12
Ho N—NH;, ,
[Ni(H20)6]*" + 6NHs  [Ni(NHs)s]*" + 6H20
[Ni(H20)6]°" + 2en  [Ni(en).]*" +6H,0
, K
, [ Ni (NH3)6]?" ,

AG = - RTInKwmy
AG =AH - TAS

INnKwy =A S/ R-AH [/ RT
: AS AH

(1)
(2)

9.1x 10’

AH



O - Ni
N - Ni AH
(1) NHs
(2)
[Ni(H20)6]""
8.5
(complexome-
try)
8.5.1

[—N(CH2COOH):]



(ethylene diamine tetraacetic acid) , EDTA
- O0CH,C CH, COOH
N° CH: CH,
HOOCH:C CH,COO"
EDTA : HaY H
, , H
EDTA . HeY EDTA
(0.02g (100g H.0) *,22 ), (NaH.Y- 2H, O,
11.1g (100 g H.0) ', 22 )
(NTA) (CyDTA)
(EGTA)
8.5.2
,EDTA
. . . c(H") c(HsY " _
He Y’ H' + HsY K, =SH) (zf’ ) _ g0
! C(HeY )
R . c(H") c(HsY _
HsY H™ + H.Y K, = HJC(HY) -0
2 C(H5Y )
+ . C(H+)C(H3Y_)_ - 2.0
HaY H™ + HsY Ka, S(H:Y) =10
_ . _ c(H") c(H2Y?" _
HiY ™ H™ + HY’ i, = ALY ) gz
4 C(HsY )
+ 3-
HY?™ H'+ HY® o, = SHALCCEY) g0
5 c(H2Y" )
+ 4 -
HY®" HY + v K. = c(H )C?{Y ):10-10.26
6 c(HY" )
,EDTA HeY*" ,HsY ", H.Y,
HaY ™, H.Y*  HY’™  Y* ,
: pH 8-3
8-3 , pH<0.90 ,EDTA HeY? " :
pH 0.97 1.60 , HsY"™ . pH 1.60 2.00
: HsY ; pH 2.00 2.67 : HsY ; pH
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8-3 EDTA

2.6/ 6.16

3

HY™ ; pH= 12

8.5.3

EDTA

11

8 -4
2+

Ca
EDTA

CuY”™

EDTA

Ha Y™

pH

;  pH 6.16 10.26 :
Y*

6, EDTA

4 -

Y
(M002), Y 2 1

8-4 EDTA-Ca
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M+ Y MY
__Cc(MY) )
K =5(M) e(Y) (8 - 6)
EDTA
8.5.4
EDTA , | |
M + Y MY
OH" L H* N b OH-
M(OH) ML HY NY MHY MOHY
M(OH)n MLn HGY
MY , MHY
MOHY ,
M Y
H* L 1
1.
EDTA , v
Yt JEDTA , ( pH
effect) a{Y(H)} ,
EDTA c(Y') vt
c(Y*)
__clY')
Y(H)} = -
a{Y(H)} (v )
_C(Y4')+C(HY3')+C(H2Y2')+ + c(HsY?")
B o(Y')
3 - 2 - 2+
g SHC) SR el
c(Y" ) c(Y" ) c(Y')
=1+ c(H" )B1+ C(H")B2+ + C(H")Be (8 - 7)
®-7n , a{Y(H)}
,EDTA 8.5

EDTA pH
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8-5 EDTA pH
pH lga{Y (H)} pH lga{ Y (H)} pH lga{ Y(H)} pH lga{ Y (H)}
0.0 23.64 3.8 8.85 7.4 2.88 11.0 0.07
0.4 21.32 4.0 8.44 7.8 2.47 11.5 0.02
0.8 19.08 4.4 7.64 8.0 2.27 11.6 0.02
1.0 18.01 4.8 6.84 8.4 1.87 11.7 0.02
1.4 16.02 5.0 6.45 8.8 1.48 11.8 0.01
1.8 14.27 5.4 5.69 9.0 1.28 11.9 0.01
2.0 13.51 5.8 4.98 9.4 0.92 12.0 0.01
2.4 12.19 6.0 4.65 9.8 0.59 12.1 0.01
2.8 11.09 6.4 4.06 10.0 0.45 12.2 0.005
3.0 10.60 6.8 3.55 10.4 0.24 13.0 0.0008
3.4 9.70 7.0 3.32 10.8 0.11 13.9 0.0001
2.
L,
L
: (complex effect)
a{M(L)} , Yt
M c(M") c(M) :
_c(M)
G{M(L)} - C(M)
_ (M) + ¢(ML1) + ¢(MLz) + + c(MLn)
- c(M)
_1+C(|\/|L1) c(ML,) +C§MLn)
- c(M) c(M) c(M)
=1+ c(L)B+ S (L)B2+ +c"(L)Bn (8 - 8)
,OH ,OH ,
: a{ M(OH)}
_c(M)
a{M(OH)} = (M)
_c(M) + [M(OH)1} + [M(OH)2} + + ¢[M(OH) n}
B c(M)
=1+ c(OH)B: + € (OH)B2 + + " (OH)Ba (8 -9)
pH  lga{M(OH)}
L OH’ ,
a(M)=a{M(L)} +a{M(OH)} (8 -10)
8-6 pH=11.0, ¢(NH;) =0.10 mot L~ a(Zn)

(8-7),
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a{Zn(NHs) "} =1+ c¢(NH:)Bs + ¢ (NHs)B2 + ¢ (NH:)Bs + ¢ (NH:)Bs

:1+102.37-1.0+104.81-2.0+107.31-3.0+1O9.46-4.O:105.49
,pH=11 ,0{Zn(OH)} =10°"*
a(zn) =a{Zn(NHz)} + a{zn(OH)} - 1=10"* +10°* - 1= 10"’
3.
Y
M c(M) (8 -6) c(M),
EDTA c(Y') c(Y),
Kup = c(MY) _ c(MY)
c(M)c(Y) a{M(L)} c(M)a{Y(H)}c(Y)
: Kmy
“a{M(L)}a{Y(H)}
Ig Kuv =Ig Kuy - lga{M (L)} - Iga{Y (H)}
a{M(L)} a{Y(H)} , Kuy
(conditional stability constant)
, Ky
8-7 pH=2 pH=5 ,ZnY

lgK (ZnY) =16.36
,pH = 2.0 ,lgg{Y(H)} =13.51, Ig{Zn(OH)} =0
IgK " (ZnY) =IgK (ZnY) - Iga{Y(H)} - lga{Zn(OH)}
=16.36 - 13.51- 0=2.85
K ' (zZnY) =10°%
pH=5.0 ,lga{Y(H)} =6.45, Ilga{Zn(OH)} =0
IgK " (ZnY) =IgK (ZnY) - lga{Y(H)} - lga{Zn(OH)}
=16.36-6.45- 0=9.91
K ' (ZnY) =10"*

8.6

8.6.1

EDTA

(8- 11)
(8-12)



pM , c(Y) :

EDTA ca” ,
c(Ca” ) =0.01000 mol- L', V(Ca& ") =20.00 mL, c(Y) =
0.01000mot L™ *, pH= 10,
JgK (CaY) =10.7,Ign{Y (H)} =0.45
lgK (CaY)= IgK (CaY) - lga{Y(H)} =10.7 - 0.45=10.25
K (Cay)=1.8x 10°
. c(Ca")=0.01000 mot L', pCa=2.0
. ca’ pCa
18.00 mL ( 90.00%)

2.00 mL
(20.00 + 18.00) mL

c(Ca ") =0.01000 mol L *x =5.3x 10" “ mot L *

pCa = 3.3
19.98 mL( 99.90%)

0.02 mL
(20.00 + 19.98) mL

c(Ca ") =0.01000 mol L *x =5.0x 10" ° mot L *

pCa = 5.3
. Cay , ca’
CaY

B - 20.00 mL
c(Cay) =0.01000 mot L “x (20.00 + 20.00) mL

1

=5.0x 10 *mot L~

c(Cad ") =c(Y),

' c(Cay) c(CaYy
K '(cav)=—d&¥) _ _ clCar)
(CaY) =72y oY)~ é(cd’)
oGty e —SCAY) 0005000 L o ioir

K (Cay)  1.8x 10"

. 22.02 mL ,EDTA 0.02 mL,

3 -1 (20.02 - 20.00) mL
c(Y) =0.01000 mot L “x (20.00 + 20.02) mL

c(CaY)=5.0x 10 °mot L™,

1

=5.0x 10 * mot L~




(cd ) = _c(CaY) _ 5.0x 10°°
K (CaY)c(Y) 1.8x 10”x 5.0x 10°°
=5.6x 10 °(mot L ')
pCa=7.3
, pCa : EDTA
, EDTA ca’
pH : 8-5
8-5 EDTA ca” 8-6 IgKuy
8-5 , pH ,
pH pH :
, pH=6 ,IgK

(Cay)=1lg K (CaY) - lga {Y(H)} =
10.7- 4.8=5.9,

, MY

( 8 - 6) Ig K
|g Kuy ,
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: ()
( 8 - 7)!
: M ( <
0.1%) , c(M) Kuy= 10° c¢(M)=0.01mot L *
10°,
Kuy= 10° (8 - 13)
8.6.2 pH
) Y4-
Yt , pH
Y*
( pH), pH,
, Kmy a{Y(H)},
( pH)
IgK " =1gK - lgn{Y(H)},
( 8-13),IgKuv= 8,
IgK - Ig{Y(H)}= 8
lga{Y (H)}< IgK -8 (8 - 14)
lga{ Y (H)} , pH,
pH pH :
IgK (MgY)=9.12, Iga{Y(H)} <9.12-8=1.12, pH 9.7
lgK (CaY)=11.0, Iga{Y(H)}< 11.0-8=3, pH 7.3
lgK (FeY) =24.23, Iga{Y(H)}< 24.23-8=16.23, pH 1.3
lg Kmy pH , ’ 8-8
pH
Fe' ", pH 1.3; Zn*" ,pH 4



3A2

8-8 EDTA

MY® + 2H

8.7

8.7.1

(metallochromic indicator)
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M + In MIn
: : M
In MIn, ,
) ) Y4-
, MIn In ,
MIin+Y MY + In
Y
Y
y - ( )
8.7.2
1. T(EBT)
T , 1-(1- -2 - ) -6 -
-2- -4 - T ,
,  NaH:zIn
_H+ _H+
Holn© . HIn* CIn’
+H +H
pH <6 pH7 11 pH > 12
pH<6 : ,

. pH 7 11 , ,



pH 9 10.5

3- ,
13.7
ca’ ,Mg’"
Mg(OH),

13, MQg(OH):

8.7.3

(MY)

pH : pH>12 | ,
) T 1
Ccd" ,Mg" ,Hg " , 11
Mg " (pH = 10),
Mg® " + HIn* Mgin~ +H"
MgZ+ ’
Mg ™ +HY® MgY? +H"
Mgin’ Mg", Mgin Hin®"
Mgin~ +HY®" MgY?™ + HIn®*"
, , NaCl 1 100 ,
2 - -1-(2- -4 - - 1- ) -
pH <8 , pH 8.0
pH 12 13 ca”
ca” (pH =12.5) pH>12 Mg’
Mg’ , : pH
1 100
(MIn)

MIn , ,
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(blocking) pH = 10 T
Ca2+ ’Mg2+ ,A|3+,Fe3+ ,CU2+ ,C02+,Ni2+ T,
( AI3+ ’ I:e3+ )
KCN( cu’,Co ", Ni’T),
2.
3.
, T Mn( ),Ce( ) :
8.8
8.8.1
1.
2.
, pH
’ A|3+ ’ A13+ Y4
, AT , AL
1) ) A|3+ 1)
A’ , pH = 3.5,
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Y : pH 5 6,
, zn’"
3.
N , M
N
M ( ) + NL ML N( )
JAgTYY ,
Ag’ [Ni(CN)4]* Ag’ ,

2+

2Ag" + [Ni(CN).]>"  2[Ag(CN),] ~ + Ni

, Ni® "
4.
Y* Y*
K" K2Na[ Co(NO2)s]- 6H20, ,
Co* " , K* PO;
MgNH4 POy 6H,0, HCI ,
, ,  Mg*”
Mg'* PO;
8.8.2
1.
, Fe" zn®’
, pH=2 , Fe' ",
zZn** Y zn’" Mg’ ,

2+ 2 +

pH 5 6 ", Mg
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Ig Kwmy 6 ,
2.
, , (mas_
king method) (masking agent),
, ca ",
Mg L FeT  APT , ,
Fe'" L APT vt
’ ca’, Mg NaF,
NaCN ; :
JgK (FeY ) =24.23, IgK (Fey?" ) =
14.33, pH =1 Bi’ ", Fe’ ,
( C) Fe’ =
Fe'”
, ca’ Mg , NaOH, pH > 12
Mg®” Mg(OH )2 ca’
3.
zn’ " Mg” , pH =10 KCN,
zn’ " [Zn(CN).]* Mg ",
Mg , [Zn(CN)4]* ,
zn’ "
[ZNn(CN)4]?" +4HCHO+ 4H,0 Zn'" + 4HOCH,CN +40H"
Zn’", KCN znt"

, HCHO



8.8.3
1.
0.01 0.05 mot L *
ca’ Cay’ ",
,Zn0,CaC0s MgSOsr 7H, 0
2.
(hard water)
(tota hardness) :
CaO0O CaCOs;
| mg CaO 1 10 mg CaO
, pH = 10, T ,
T Yv ca’, Mg’
Cay’ > MgY? >Mgin  >Caln’
T, Mg Mgin’
ca” , Mg * ,
Mgln’ Mg * EBT ,
,  NaOH pH = 12, Mg®”
Mg(OH). , ca’ ,
ca”
ca’, ,

Ca



(1) (2)
(3) (4)

4. [Cr(NH3)s]®" cCr( ) d
NH; ? ?

0 N o O
N
N

AgC
AgBr ; NaS O AgCl  AgBr

10. ? ?

11. ? ?
12. ? ?

13. pH=10 , (
pH=10 Mg

Na[Ag(SOs):] [Cu(CN)4]*" [CoCls (NHs)s3] [CrC1(NHs)s]*"
Na[SiFs] [Co(C:O)s]°" [PtCl (NHs):] [ Zn(NH3)4] (OH):
2. AgNO; Pt(NH; )6 Cls AgCl, Pt(NHs)sCls
1 4
3. , Co(NH;)s BrSO,
BaCl, BaSO, , AgNGO:s

[Mn(H0)s]>" [AQ(CN)2] [Cd(NH3)s]?" [Ni(CN)4]>" [Co(NHz)s]*"

5.
(1) Ki[Mn(CN)s] m We = 2.00
(2) (NH:)2[ FeFs (H20)] m pe =5.78

Br

) ?
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6. 1.0L 0.10 ma AgCl, ?
7. Ky
[Cu(NHs)2]" +2CN” [CU(CN)2]  + 2NHs
[Cu(NHs).]%" + zr’" [Zn(NHs).]*" +CU”
8. Ag +e Ag E =079V, Kwy
(1) Ag(CN), +e Ag+ 2CN~
(2) Ag(SCN), +e’ Ag+ 2SCN’

9.50mL 0.10mot L " AgNO : 0.932g mL™ ' NH:18.24%
30 mL, 100 mL, Ag’

10. 9 10 mL 0.10mot L*'  KBr , AgBr ?

AgBr , ?
11. ?
H,O (HO—OH) H, N—CH,CH;—NH; (HoN—NH;)

12. :

(1) [Ag(NH;s)2]" ? ?

(2) [Co(SCN)4]* [Co(NHs)e]*" [Co(SCN).]*

. [Co(NHs3)s]*" ?

13. 1L0.01mo L ‘KCN AgCl

14. Zn’*

15. CaC050.4206 g, HCI , 500.0 mL
50.00 mL, : 38.84 mL

1.000 L, NaH Y- 2H.0 ?

16. 100.00 mL, pH=10.0 T . ¢(HsY) = 0.01050
mol L°* : 19.00 mL

17. 0.1000 g, MgNH4 PO,

, c(H,Y) =0.01000 mol L* , 20.00 mL
RO

18. 0.5000 g 100.0 mL

25.00 mL, pH=6.0, PAN . c(HsY) =0.05000 mol L * cu’’
'’ 37.30 mL 25.00 mL , pH =10, KCN cu’’
" H, Y Mg ™, 4.10 mL yA
Ha Y : 13.40 mL cu’ ,zt* Mg

19. How many unpaired eectrons are present in each of the falowing ?

(1) [CoRs]°™ (high spin)
(4) [Mn(CN)s]*" (low spin)

(2) [Co(en)s]°" (low_spin)
(5) [MnCk1*" (high spin)

(3) [Mn(CN)6]>" (low_spin)
(6) [RhCls1°" (low _spin)

20. Assume that you have a complex of atransition metal ion with a d configuration. Can you
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tell weather the complex is octahedrd or tetrahedrd if measuring the magnetic moment establishes
that it has no unpared dectrons ?

21. Cdculate the concentration of free copper ion that is present in equilibrium with 1.0x
10" ®mot L "[Cu(NH;s)s]°  and 1.0x 10 "mot L™ *NHs.

22. The formation constant for [ Fe(CN)s]® " is 1.0x 10'*; that for[ Fe(CN)s]* " is 1.0x
10°" s this consistent with the difference in CFSE between the two complexes ?CN ~ is a strong
field ligand in both complexes.

23. A 25.00 mL sample of unknown containing F€ * and CU " required 16.06 mL of
0.05083 mol L *EDTA for complete titration. A 50.00 mL sample of the unknown was treated
with NH: F to protect the F€ " . Then the CU’ " was reduced and masked by addition of thiourea.
Upon addition of 25.00 mL of 0.05083 mol L "EDTA, the F€" was liberated from its fluoride
complex and formed an EDTA complex. The excess EDTA required 19.77mL  of 0.01883 mol
L *Pb’" to reach an endpaint using xylenol orange. Find the concentration of Cu** in the un-

known.
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feeng

Au(CN): ,

Hf,

Zn

1.86 g

K> ZrFs K> Hst

3.74 g(20

),

, NiS

1

100 g 0.125 mot L

HF

Zr



EDTA

Pu

EDTA



( Ultraviolet and Visible Spectropho-
tometry)

1.
2.
3.
4.
5.
6.
( spectrophotometry)
( )
1 10upg L™*

2% 5%



9.1

9.1

9.1.1

200 400 nm

2.9979x 10°

ms

hd A

6.626x 10 > J s
9-1

400 750 nm

(9-1)

(9-2)

10-1 100nm

100 200nm
200 400nm
400 750nm
0.75 2.51m
2.5 5.Qum
5.0 100Qum
0.1 100cm

1 1000m
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9.1.2

(monochromatic light) ,

/ nm

400

450

480

490

500

560

580

600

650

450

480

490

500

560

580

600

650

760

(@bsorption spectrum)

9-2

525 nm

)\max



9.2 —_— - 3B7

KM nO4 ) 1
; 9-2 KMnG:
9.2 — -
9.2.1 -
(Lambert) (Beer) 1760 1852
o e, 9-3
c, b, 9-3
lo
lg~— = kcb

lg— , : lg 7 (absorbance) ,



A
lo
A=1g7 = ko (9 - 3)
t
(9 -3) -
It .
I 0 mn (transmit-
0
tance), T , ,
I
A:lg_ozlgl: kcbh (9 -4)
I T
K :
, K
: k b ¢
c gL ', b cm ,k a ,
(absorption coefficient) , L.g *cm *, (9 - 3)
A = abc (9 - 5)
(9 - 3) C mot L', b om, k K
K (molar absorptivity) , L- mol " cm™*
1 mol L%, 1ecm
K 1) 1)
K :
K 10° : K
10° 10° (9 - 3)
A=kbc (9 - 6)
K a
K= Ma (9-7)
M
9-1 25.0ug (50 mL) * o’
600 nm , 2.0cm T=50.1%, a K M(Cu) =64.0g

mol !



9.2 —_—

T=0.501, A= -1gT=0.300,b=2.0cm

-6
_ 25 | _ } _
c=220x10 g_5 o, 99 4g Lt
50 Ox 10 "L
- A = abc,
gz A 0 300
bc 2 0cmx 5 00x 10" “g L™*

=3.00x 10°L g cm™*

K = Ma
=64.0g md 'x 3.00x 10°L g - cm’
=1.92x 10°'L mol"* em™*

9-2 , 1lcm , T, 2 .cm
?
A= -IgT= abc
T=10 *°
bh=1lcm ,T,=10 *=T
h=2cm ,T,=10°*=T°
K , ( Sandell)
-2
., Hgcm ,
A=0.001
, ugcecm® S K
A=0.001=kcb
Cb:O.001
K
c mot L', mol (1000cm’) *, b cm,
mot (1000 cm®) " *, M(g mol %)
) S’
_ cb 6 _ 3
S= 1OOOX Mx 10" = cbMx 10
(9-8) :
_M
K
9-3 ,50 mL 50.0pg, 2.0cm
0.701,
A=0.701,b=2.0 cm, M(Nb) =92.9 g md "*
-6
50 O0x 10 g -1 08x 10 °mol L

“50 0x 10 °Lx 92 9g md "’

cb

S
(9-8)
(9-9)
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K:—A\:
bc
(9-9),

S=

9.2.2

0.701

2 0cmx 108x 10 “mol L

S

M 92 99 mad *

— =3 25x 10°L md % cm™*

K 3 25x 10°L md % cm

— =2 86x 10 ‘ug cm ’

, 0.01mok

L-

1



3+

- , KSCN Fe
Fe(SCN)s,

Fe(SCN)s Fe’* +3SCN”

Fe( SCN )3 ’ ! -

9.3 -

9.3.1

(light source) ,
320 3200 nm : 360 1000 nm
6 12V :

: 150 400 nm , 200 400 nm

( monochromator) :

360 700 nm,
200 1000 nm, -

(absorption cell) ( )

, 0.5cm,1cm,2cm,3cm 5cm,
0.5%,



(detector)
, 200
(display)
(T) (A) ,
! ) y 9 = 5
9-5
2.
721 751
721 721 360 800 nm,
9-6 721 ,



9.3 -

7P1-G

721 122 :

9-6 721
3 L4 5 6
8 9 10 . 11 12
200 1000 nm 9-7
9-7 751-G

- 721
; (300 1000 nm) ,

(200



300 nm);

A A

9.3.2

625 1000 nm
200 625 nm

751 - GW

A A

1
>
1
>
1
—~
)
>
N
1
e
>
H
~



9.3

10

10

I <
I

o
©
]
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9-4 Bi2
mg, 1000 mL
0.618 B2
A=a bc
L A
be

BlZ

9.4

9.4.1

(color reaction),

_A
_a _¢e¢b
a a
361 nm a =20.7Lg "cm’ %
361 nm , 1.00 cm
0 618

(30 1000)x 1

=206 (L g~ cm?)

-1 -1

(color reagent)

10 )



9.4

9.4.2

M+ R

MR

MR
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MRn,

9.5

9.5.1



9.5

0.7(

9.2.2

9.5.2

20%

65% )

)\ max

)\ max

0.2



- A= -IlgT=kbc

_dlgT= - 0434dnT= - %‘dT:Kbdc
dc 0434
c TIgTdT
Ac 0434 _
c TIgTAT (9-10)
ac AT
C
AT=0.5%, (9 - 10)
ac_ . , 9-12
C
Ac
' C
( )
T 20% 65% ,A—CC<2%, 9.1
T=36.8% ,%3:1.32%,
0.2 0.7( 65% 20%)



9.6

9.6.1

1. 1,10 -
1,10 -

, 9.3
)
1,10 -
Fe* 31
1 1 2+
N N
3 - + Fé’f - Fe 3
I\ N
3
Amax =512 nm,k  1.1x 10' L mo " cm™ ' pH 3 9
, 0.5 8ug mL " ,
- pH=4.5 5.0
e, Fe’*
(HCIOx)
H3PO4, HNG; ,H3PO4 (NH4)2MOO4

(NH4)3 PO+ 12M 00s

H3POs + 12(NH4).M00O, + 21HNGO;
(NH4)3PO4' 12M0o0O; + 12NHsNOs + 12H,0



C Mo( ) Mo( ),
: Amax =660 nm,
9.6.2
A= A+ Ao+ Az + + A,
1.
9-13a,A,B , )\'rAnax,)\Bmax
A B
9-13
2.
9-13b,A,B ., A Aba B Aha
Ao A max A,B Ar A,
A max A =K1 bc(A) +k 3 be(B)
A b A, =K5 bc(A) +Ks be(B)
K’f,Kf A B Ao ,KQ,KZB A



)\B
, A,B c(A) c(B)
: 2 3 :
9.6.3
1.
M ’
CHd Cu : 1
A :
9-14 ,
D,D
9-14 9-15
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M+ nR MRn
M . R Cu Cr M R
o + &= c( )
___Ou
XM= + R
e = Cr
"™ v + cr
Xm ( XR ) , XM y
XM( XR) )
, , M R
L] MRn y A, A
1XM( XR) ) Il 9'15
9-15 MR, A, :
) B ) A’l
X n
XRrR Cr
n=_=_
XM Cm
Xk = Xv =0.5, n=1 MR : Xk =0.67 , Xy =0.33, n=2
MR;
9.6.4
A max ,
( ) n
TT , -1 n- T

)\max,)\min, K max y



35

, : ( Woodward)
(SCOtt) A max 3
- (Woodward-Fieser)
A max
)\ max )
A max
] )\max
1. ? ?
2_ -
3.
4. ?
5.
6. ? ?
7. ?
8_ -
9. ? ?
10.
1. 1cm , 0.30, ?
3cm ,
2. 1.0 cm 60% 5.0cm
3. 1.00 mmoal HIn5 1.0 L pH ,
1.0 cm 615 nm p Ka
pH 1.00 2.00 7.00 10.00 11.00
A 0.00 0.00 0.588 0.840 0.840
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4. 0.0250 g, 95% 1.0L , 380 nm
1.0 cm 0.760 ?(
95% 380 nm Ik =4.13)
5. : 0.056 mg 2.0mL 50 mL ,
1.0 cm 508 nm A =0.400 a, K
S (M(Fe)=56g ma ')
6. 0.500 g, 100 mL ,
10.0 mL 50 mL , M’ MnQ; :
520 nm 2.0 cm 0.50,
( Kszo=2.3x 100 L mol"“ ecm ', M(Mn)=55g mol ' )
7. Amx 240 Nm, K 1.7x 10'L mad * ecm™*,
314.47 g md * ?
8. A B , A 282 nm 238 nm
70L g cm' 270Lg - om'; B A B
1cm , Amax 282 nm 0.442, Amx238 nm
0.278, A
9. (M=323.15g md )2 00 mg 100 mL , lcm
278 nm 24.3%
10. 0.0500 g , 250 mL , HCl
2 mL , 100 mL 0.02 mol L™ *HC , 263 nm 1.0 cm
41.7%, «k 12000 L- mol " cm !, 100.0 g
mol ~* 263 nm a

11. A sdlution containing 1.00 mg iron (as the thiocyanate complex) in 100 mL was ob-
sarved to transmit 70.0% of the incident light compared to an appropriate bland. (1) What is the
absorbance of the solution at this wave length ?(2) What fraction of light would be transmitted by
a solution of iron four times as concentrated ?

12. Amines (weak base ) form sats with picric acid (trinitrophenol) , and all amine picrates
exhibit an absorption maximum a 359nm with a molar absorptivity of 1.25x 10*. A 0.200 g
sample of aniline, CsHs NH. , isdissolved in 500 mL water. A 25.0 mL diquot isreacted with pi-
cricacid in a 250.0 mL voumetric flask and diluted to volume. A 10.0 mL diquot of thisis dilu_
ted to 100 mL and the absorbance read at 359 nmin al1.0 cm cdl. If the absorbance is 0.425,
what is the percent purity of the aniline ?

13. Potassium dichromate and potassium permanganate have over lapping absorption spectra
in 1mol L 'H:S0s. K2Cr207 has an absorption maximum at 440 nm, and KMnQ:has a band at
545 nm. A mixtureis anayzed by measuring the absorbance a these two wavelengths with the fol-
lowing result: Asso = 0.405, Asss = 0.712 in a1.00 cm cdl (approximate; exact length not
known) . The absorbances of pure solution of K,Cr, O, (1.00x 10 ° mot L™ ') and KMnQy (2. 00

x 10" mot L™ ")in 1 mol L™ "H. SO, using the same cell gave the following results:
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ACr,440 20.374, ACr,545 = 0.009, AMn,440 =0. 019, AMn,545 = 0.475. Cdculate the concen-

trations of dichromate and permanganate in the sample solution.
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Mo (

), Ti(

DNA

G- 250

—OH

), V()

—C

O



( Selected Methods of Modern Instru-
mental Analysis )

20
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10.1

10.1.1

RT au" RT
Ev"™/m = EnM""wm +Fln — Ev ™/ wm +FlnaMn+
Ev™wm , au "
, aMm , 1 (10 - 1) ,
E, ()
, (
( ) ,
[
m = Em"tym - E
Em™/iwm,
10- 1
, ()

(10 - 1)

(10 - 2)



10.1 31

(indicating electrode) ,
(reference electrode)

Ag ) 1. ;2. ;3.

Ag’ +e Ag
RT

E(Ag'/ Ag) = E (Ag'/ Ag) + Fna (Ag") (10 - 3)

: : (10 - 3)

E(Ag'/ Ag) = E (Ag'/ Ag) + 2R 195 (ag”)

= E (Ag'/ Ag) + Sga(Ag’) (10 - 4)

25 : n=1 , $S=0.0592 V;
n=2 , S=0.02% V,

, AgCl cl ,
cl

AgCl+e Ag+ Cl
E(AQCI Ag) = E (AgCl Ag) - Sga(Cl ) (10 - 5)
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Cl

HgCl (s) + 2e

MpXm+ me

Evm x 'm = Em x 4
n m n m

Fe' +e Fe
) :
E(FE€'/ F€*)=E (Fe''/
: 25 , (10 -5),(10 - 6)

(HgCl,)

2Hg + 2ClI°

E(HgCl/ Hg) = E (HgClJ/ HQ)

(10-8),

10 - 2

KCI
KCI

- Siga(Cl”) (10 - 8)

Cl

Cl :

KCl

nM + mX"’

Mm - Sgax"™

3+
Fez+)+slg a(Fe )

a(Fe')
Fe* Fe°
(10 - 7) S
, 10.1.2
10 - 2
1 P 2.
4. 5

(10 - 6)

3+

Fe ,

(10 - 7)



10.1 33

KCI KCI :
KClI 0.1mot L ",1mot L, ,
KCI (saturated calomel electrode,
SCE), 25 0.242 V
Ag - AgCl (>80 )
,Ag - AgCl 25 : KCI
Ag - AgCl 0.199V
10.1.2
1.

(ion selective electrode, ISE) 20 60

(membrane potential )

( ) :
: (
)
( )
( pH !
) pH
2. pH 10-3 pH
pH H
1. D 2.
pH pH 3. 0.1 mot L YHCI; 4. Ag - AgCl
10 - 3 e e

;7.
( : N&O, 22%; CaO,
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6% Si0,,72%)
0.1 mol L *HCI

Cl-
pH
SO,
Na O
pH
mm (
Na’ H”
SO N8(+ y T
10- 4

, 0.03 0.1 mm
Ag - AgCl Ag - AgCl
H+
SO, ,
Na* ,
O
O S O Na
O
H" ,
10°° 107
HCI )
H" ) SO H{ ,+ Na
E =E E
H” ,
H* , pH
+ pH
H” (dn*, )



10.1 335
H+ (aH+‘ ) , H+
aH+, > dH+’ ) H+
(
)’ 1 )
10- 4
RT, au” RT, au”
E =E +zF|na(H+ = E +F|ndH+ (10 - 9)
z , H : z = ,
: H
RT, &’
E E + c In o (10 - 10)
dn” an’, H*
H : E =E,
dnw*, =dn’ , (10 - 9) (10 - 10),
_RT, au",
E = = In "
E H
E = K+%_InaH+, (10 - 11)
, ( ) :
, : E
E Ag - AgCl
1 1 pH
E = E(AQClI Ag) + E
= E(AQCV AQ) + K+%rlnam, =K +ﬂlnaH*,
E =K - %pH (10 - 12)
25 ,
E =K -0.059pH (10 - 13)



pH pH
pH pH
; pH ,
10 - 5 3,4
pH “ " (akaline
error)
H” ,
H” ,
Na' , K"
pH : H
, H'
Na' , K"
’ 10-5 pH
1. Corning 015
pH> 10 ’ H* 2. Corning 015
Na' K 3. Corning 015
’ . . ! 4. Beckman - GP
, Na ,K 5. L & N Black Dot
, 6. Beckman Type E
pH o
H ( pH ) o
Na" K"
Li2O
Na" , pH
(pH<1) pH ,
(acid error) “ 3 :
1, pH
( <1 >14
pH S .H
, Na"
, Na" ( K7)
pNa (

SIO2:71%
3.

10  pH 10

yH2S0,;
,HCI;
,1 mol L INa*;
,1 mot L INa*;
,1mot L INat;
,1 mot L *Na*

pH
: pH
Na O,
0O 14 pH
l 1
?
K+

)N&O:11%; Al O;:18%;
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10 - 6
(LaFs)

L *NaF 0.1 mot L *‘NaCl ,

- AgCl

(EUFz)

1

10 ° mot L~
PH 5 6
F HF,

OH’ LaFs

10

LaF; + 30H"
La(OH);

0.1 mol

Ag

10- 6

1. 2. (0.1
mol- L-1 NaF 0.1 mol- L-?

NaCl); 3. Ag - AgCl

(10 - 14)

10.1.3)

La(OH)s + 3F"
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10.1.3

(10 - 17)

(10 - 18)

(direct potentiometry)

pH
I | pH
E=ZE -E
(10 - 13)
Eem = K' - —2'30F3 “loH -
Eo = K - 22303RT |,
F
: pH
Eemf,s: K - 2-30F3 RTpHS
e o= K- 2.303 RTpHX
F
(10 - 16)
H _ H + Eemf,s- Eemf,x
PRx=PHs* "5 303 RT E
pH

(10 - 15)

(10 - 16)

(10 - 17)

(10 - 18)
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pH 10 - 1
10-1 pH
L KH,PO, - NaHPO,
(0.05 mot L "1)|(25 )| (0.05mot L) [ 0.025mot L-2)|(0.01mot L-1)|(25 )
0 1.666 — 4.003 6.984 9.464 13.423
10 1.670 — 3.998 6.923 9.332 13.003
20 1.675 — 4.002 6.881 9.225 12.627
25 1.679 3.557 4.008 6.865 9.180 12.454
30 1.683 3.552 4.015 6.853 9.139 12.289
35 1.688 3.549 4.024 6.844 9.102 12.133
40 1.694 3.547 4.035 6.838 9.068 11.984
2.
) F- ]
Il |
Eemt=E - E
(10 - 14) ,
2. RT i 2. RT i
Earr = K - 2928 iga(F ) - £ = k- 232 ga(F )
(10 - 19)
(10 - 19) ,
Eemt = K+Mlgai (10 - 20)
zZF
a | , Z (10 - 20) :
Eem lgc
Eemt lga



(10 - 20) , (
a=yiG,y: | :
Y
:11 )
Yi <1,
: Eent  IQG :
( 10 -
7)1
Yi
, 10- 7
1 D 2.
) ) Yi
( 4.1.2) :
e -K+2'303RTI --K+2303RTI _+2303 RT
emf — ZiF g&— ZiF gy' ZiF

0.1mol L' NaCl

lgc



10.1 391
F : HAc - NaAc
pH 5.0 : Fe’  APT F
£
(total ion strength adjustment buffer, T1SAB)
TISAB,
VX; CX,
Y,
Eemr.1 = K+M-IgycX (10 - 21)
zF
G(G & 50 100 ), Vs( Vs A
Y 50 ¥ 100)
_ 2 303RT, , &Vx+ G Vs
Eemf,2 - K+ ZF |gy Vx + Vs (10 = 22)
(10 - 21) (10 - 22) K vy (10 - 22) (10 -
21),
- _2 303RT, G&Vx+GVs
A E= Eemf,Z = Eemf,l - ZE Ig Cx( Vx+ Vs)
Vsl’l Vx, VS+ VX: VX 1
Cs Vs N
cX:T(lo“’s-l) . (10 - 23)

S=2.303RT/ zF,AE
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3.
: 1 mV
4%,
8%
10.1.4
( potentiometric ti_
tration)
10 - 1
(
)
1.

10 -



10.1 33
’ ) 5 10 mL,
1 2mL 0.05 0.1 mL
10- 2 AgNGs NaCl
AgN03
L E(vs.SCE) mV AV AE AHAV A%H A V?
m
5.00 62 10.00 23 2.3
15.00 85
5.00 22 4.4
20.00 107
2.00 16 8
22.00 123
1.00 15 15
23.00 138
0.50 8 16
23.50 146
0.30 15 50
23.80 161
0.20 13 65
24.00 174
0.10 9 90
24.10 183
0.10 11 110 200
24.20 194
0.10 39 390
24.30 233 2800
0.10 83 830
24.40 316 4400
0.10 24 240
24.50 340 - 5900
0.10 11 110 1300
24.60 351 '
0.10 7 70 00
24.70 358 -4
0.30 15 50
25.00 373
0.50 12 24
25.50 385
0.50 11 22
26.00 396
2.00 30 15
28.00 426
E-V 10 - 2
, E - ( 10 - 8a)
: E -
AEAV-V AHAYV
10 - 2 , 24.10
mL 24.20 mL



AE _194-183
AV 24 20-24 10 10

(24.10 + 24.20) mlU/ 2 = 24.15 mL

: AHAV-V \% AHAV

: ( 10 - 8h)
AHAV - V

24 .30 mL

AE AE
AE AV 2a33mi AV 2425m  _ 830 -390 — 4400
- V24 35 mL - V24 25 mL 24 35-24 25

, 24.40 mL

A°E 240 -830
AV? 24 45-24 35~ - 5900

24.30 mL  + 4400 24.40 mL - 5900,
( ) 24.30 mL  24.40 mL

(24.30 + x) mL, X

4400 - (_- 5900) _ 4400 - 0
24 40 - 24 30 ~ (24 30+ X) - 24 30

4400
To3og =0 04 mL

Xx=0 10 mLx

24 .34 mL

’ , [11 XY ”



10.2

EDTA )

10.2

10.2.1

(atomic absorption spectrophotometry, AAYS)

10-9

324.7 nm
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10 -9

10.2.2

10 - 10 3 4,
( 10-10 3)



10.2 307
( 10 -10 1 2)
(resonance line)
( )
lo
Il
o L
|
A:Ig—|0= KLC (10 - 24)
(2500 10 - 10
3000 K),
(lo _ 24) 1, 2. 03,4, 5.
o 3 4 ;6.
C : C C
k, (10 - 24)
|
A=Ig—|0= kLc (10 - 25)
(10 - 25)
10.2.3
(
10 - 11
9-6 9-7
- ( )
( )
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12

10 - 11

10 - 12

10 -



10.2

2250

2%

),

2950

:10.

11,

(NZO1

p12.

mg L



10 - 14 a
6.5 mm 28 mm
Ar, ;
( 10-14a )
10- 14 a b.
( ) 20 100puL
, ( )
( : ) (
) , 10 - 14b ,
, 2 3
, , ( 5%
10%),
3.



10.2

( 10 - 11)

10.2.4
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Cx ,
(Q)+ CX), AXIAX+OI

x = Kcx
Axio = k(o + &)

C (o + ) ,

Ax

C =~
§ Ax+0' AXCO

(10 - 26)

(10 - 26) Ce

( Cx),

Ck,Cx+ 0, Cx+ 20 Cx + 30,
AX,Al’A21A3 1 !
10 - 15 ,

10 - 15
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50% 200 %

10.2.5

10.3

10.3.1

(chromatogrgphy)
: ( mobile phase) ,
(stationary phase)

)
(gas chromatography, GC) ,

(liguid chromatography, LC)



( )
10.3.2
1.
( : )
: (par-
tition coefficient) K:
_ -5 ]
K= = (10 - 27)
( 10-16 B ) ;
(
10 - 16 A ) 10 - 164,
10 - 16b ( Ka> Kg)
2.
- : ( )
: 10 - 17a :

(retention time) ts
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10-16 a

10 - 17

) , 10 - 17b
(dead time) ty

(corrected retention time) tr

(relative retention value) ra: ,

t’Rz_ﬁ

by = =

(10 - 28)



y (h) ( )
. (Y)
. (Yy2): , Y=1.70 Yy
3.
, : 10 - 18b ,
: 10 - 184,
10 - 18
(column efficiency)
(number of the theoretical plates) N
N=5 54 = 2—16Ez 10 - 29
S Yy Y (10 - 29)

y tR Y1j2,Y ’

(resolution) R
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tr, - tr,
RV 2(Y.+ 1) (10 - 30)
: R=1
98%; R=1.5 , 99.7% R=
1.5
(rz1), (N) 10 - 18a
1 2 ,
;10 -18b 1 2 a :
, ;10 - 18c 1
2 , ,
10.3.3
1.
21
2.
()
1) ] (
) )
m=fiA (10 - 31)
(10 - 31) : [ mi ,
A fi, ,
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f i

m;

A=1065hYy> (10- 32)
A=0.5 h( Yo.15 + Y0.85) (10' 33)
Yo.s5 0.15 0.85
) (10 = 31)
, i ( )
) 1 ( ) :
f'm,i _ m/ Ai

fi - f’m’S - n.lJ As (10 - 34)

(normallization method)

( ) 100% n
M, M, My, m, [
Wi
Aifi
Arfi+ Afo+  + Afi  + Anfn

mi i
W = m (10 35)

(internal standard method)
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mi  fiAi
Ms - fs As

(10 - 36)

(externa standard method)

10.3.4

10 - 19,

( N2z, H2 )
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4 6 mm

(

Al; O;



10.3 111

. 1 2m ,
. ’ 10-11
10 g ()
( <400) (<500 )
10.3.5
1.

(high performance liquid
chromatography, HPL C) :

10 - 20

10 - 20
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5 10um)
18

3.9 4.5 mm,

C18

15 30 cm

30000 m

10

10

- 12
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1. Describe the principle of potentidmetry.

2. Make a comparison in principle, instrument and applicable areas between UV and visible
spectrophotometry and atomic absorption spectrophotometry.

3. Describe the basic principle underlying all chromatographic processes.

4. Classify four different types of chromatography, describing the stationary and mobile
phases.
5. pH H” ? pH

6. pH ? pH pH

7. TISAB TISAB
? ? TISAB ? TISAB

10. ? ?
11.

12.

3.25 , SCElI H | pH

pH = 4.00 0.209 V 0.312
V,0.088 V, pH

4. 25 , 25.00 mL, TISAB 25



414

mL, SCE ( )  0.1372 V; 1.00x 10°°
1.00 mL, 0.1170 V( SCE) ,

mol L *

5. What would be the observed potentids at 25 if the following half cedl were connected
with a saturated cadomd eectrode ?
Fe* (0.00200 mol L™ "), FE* (0.0500 mol L ') |Pt
6. Describe the fdlowing terms: indicating electrode, reference dectrode, the dkaline error
o a pH glass electrode, retention time, dead time, corrected retention time, number of the theo-

retical plate, resolution.
7. ? ?

8. ? ? ?
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feeng

MICROELECTRODES INSIDE LIVING CELLS

To understand how nerve and muscle cells work, an accurate knowledge of the
intracellar ( ) ionic composition is necessary. The figure below shows the
design of a microelectrode used to make intercellular measurement of K" and Cl .
The glass tip is drawn out to microscopic dimensions. Insde this tip a droplet of
liquid ion exchanger is held by capillary action. To make a measurement, the cell
must be impaled with this electrode and aso with a reference electrode of amilar
dimensons.

pH MEASUREMENT OF BLOOD

Because the equilibrium constants of the blood buffer systems change with
temperature, the pH of blood at the body temperature of 37  is different than at
room temperature. Hence, to obtain meaningful blood pH measurements that can
be related to actual physiological conditions, the measurements should be made at
37 and the samples should not be exposed to the atmosphere.

Generally, venous( ) blood is taken for pH measurement, athough arterial
( ) blood may be required for specia applications. The 95% confidence limit
range ( )for arterial blood pH is7.31 7.45(mean 7.40) for all ages and
sexes. A range of 7.37 to 7.42 has been suggested for subjects at rest. Venous
blood may differ from arterial blood by up to 0.03 pH unit and may vary with the
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vein sampled. Intacellular erythrocyte( ) pH is about 0.15 to 0.3 unit
lower than that of plasma( ) .



( Chemistry of Element)

ds

el o A
)
e
o

11.1
11.1.1

112 92

0.7% 11-1
10 99.2%



418

11 -1
(0] Si Al Fe Ca Na K Mg H Ti
! % 48.6 26.3 7.73 4.75 3.45 2.74 2.47 2.00 0.76 0.42
, 11- 2
17 ( H,O)
11-2 ’
I % I %
Cl 1.8980 B 0.00046
Na 1.0561 S 0.0004
Mg 0.1272 c( ) 0.0003
S 0.0884 Al 0.00019
Ca 0.0400 F 0.00014
K 0.0380 N( ) 0.00007
Br 0.0065 N( ) 0.00002
C( ) 0.0028 Rb 0.00002
Sr 0.0013 Li 0.00001
| 0.000005
*
: U,Zn,Cu,Mn,Ag,Au,Ra
50
9 3
( 1.4x 10" km") , ,
3
R 7.0x 10" kg ,
) 02 ) N2 )
: 11-3 ( )
11-3
! % I % I % I %
N, 78.09 75.51 CH, 0.00022 0.00012
O, 20.95 23.15 Kr 0.00011 0.00029
Ar 0.934 1.28 N,O 0.0001 0.00015
CO, 0.0314 0.046 H, 0.00005 0.000003
Ne 0.00182 0.00125 Xe 0.0000087 0.000036
He 0.00052 0.000072 O; 0.000001 0.000036

11.1.2
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: (metal) (nometal)
, B—S—As—Te—At Al—Ge—Sbh—Po
, : S ds d f

: (generd ele-
ment) (rare element) :

(Li,Be, ), ds :

(essential element) ( ) (toxic element)

11.2 s

11.2.1 s

S A A
A H , Li,NaK,Rb,Cs,Fr 6 ;A Be, Mg, Ca,
S,Ba,Ra 6 Fr Ra 11- 4 S

S ( H ) ns , ns :

+1( A) +2( A) Li,Be
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11-4 s

Li Na K Rb Cs Be Mg Ca Sr Ba

3

2¢ 3st 4g 5st 6 252 3¢ 4 58 65
1.23 1.57 2.03 2.16 2.35 0.89 1.36 1.74 1.92 1.98
1.52 1.54 2.27 2.48 2.65 1.11 1.60 1.97 2.15 2.17
180 97.8 73.2 39.0 28.6 1285 650 851 774 859
1336 883 758 2700 670 2970 1117 1487 1366 1537

/g cm’ 0.53 0.97 0.86 1.53 1.90 1.85 1.74 1.55 2.63 3.62
0.6 0.4 0.5 0.3 0.2 4 2.0 1.5 1.8 /
/ kJ mol"! |502.3 495.9 418.9 403.0 375.7 899.5 737.8 589.8 549.5 502.9
/ kJ mol "1 / / / / / 1757.2 1450.7 1145.4 1064.3 965.3
1.0 0.9 0.8 0.8 0.7 1.5 1.2 1.0 1.0 0.9
IV -3.04 -2.70 -2.931 -2.925 -2.923 -1.85 -2.375 -2.76 -2.89 -2.90
) ’S
3.
( H ) :
11.2.2
1.
2. ()
NaOH (KOH) , CO:, CO;

N& CO: (K.COs), NaOH NaOH (K OH)
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, : ()

NaOH(KOH) ,
3.
, 10 Na COs-
10H:20, ) ,
NaCl + NH3 + CO: + H20 NaHCO: I + NH4Cl
2NaHCO:s NaCOz + H201t + CO:21
4.
, NaCl 0.9% NaCl
, Na, NaOH, Na COs, Cl,
HCI
5.
2850 :
MgO : : MgO

(3MgO 4SiOz H:0) ,

, : 2615

Ca(OH)2, : SOz,
P.0Os
CaO+ SO, CaSiOs;
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3Ca0 + P,0s Cas (POs)2
, , Si,P

6.
MgClz 6H, O ) ) )
MgCly 6H.O 530 | MgO  HCl
MgCl> 6H.0 MgO + 2HCIt +5H:0
, M gClz , HCl M gClz 6H. O,
MgCl, M gCl;
MgC|2 6H, O )
M gCOs
: CaCl> 6H20 ,
CaCl; CaCl, : ;
NHs , CaCl> 4NH; ,C&Clz 4C,Hs OH CaCl,
( 32.5% -50 ), ,
7.
,CaS0Os 2H20 , , ;
120 ,
2CaS0Os 2H,0 (CaS04)» H.O+ 3H.0
; , CaSOx
2H. 0, ,
) ) NH4 CI
CaCOs + CO» + HO  Ca(HCOs)»
, Ca( HCO3)2
Ca(HCGO;3)2 CaCO; + CO, + H; O
CaO,
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11.3 p

11.3.1 p

6

p ns np' , p

+2, +4, +6 ns

B,Al,Ga +3, TI +1
P ( )

C|21021N2 ; ) ’
, C,S,B

, Si,Al

11.3.2
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: 1.5 -1.66V,

H2SOs, HNOs , H2. SOy,
HNOs HCI H2SO,

2A1 + 6HCI 2AICI; + 3H2 1
2Al + 3H, SO, Alz (SOs)s + 3H2t
2Al + NaOH + 2H,0 2NaAlO; + 3H2 1

2.
Al Os
a - Al;Os,B -
AlbOs,y - AlLOs ;
a - AlLOs, ,Al(OH)3 a- AlGs
a - AlGOs , ,
a - Al20Os Cr20:  a - AlLQGs,
( ) a -
ALO; a - AlLG; : :
, , Y -
Al Os :
3.
CO; 0.03% ( ) CO.,
CO;, : “ ”
CO: , (-78.5 ), CO: ,
: - 70 - 80
CO; , , ,
CO; CO; ; CO,

; CO;



11.3 p 25
CO; , CO,
CO:
4.
) : 380
400 N&B.O-, 878
Na.B;O; + CoO 2NaBO; Co(BO:):
: : pH 9.24
S.
, : 83 NO: HNGO:s
AHNOs ( ANO; + O, + 2H,0
NO: :
NO : ,
NO:, NO,N,O NH.
Cu+4HNG; () Cu(NGs)2 +2NO; +2H:0
Mg+ 4HNOs () Mg(NOs)2 + 2NO; + 2H,0
3Cu+ 8HNOs () 3CU(NOs )2 + 2NO + 4H,0
AMg+ 10HNGs () AMg(NGs)2 + N2O+5H:20
AMg+ 10HNG; ( ) AMg(NGs; )2 + NHsNOs + 3H.O
1 3

Cl
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700 1000

4NH; + 50, bt . Rh 4ANO + 6H,0
2NO + O, 2NO,
3NO; + H,O 2HNOs; + NO
6.
, 0.40 , 151 )
H, O, H+ + HO,
HO, H+ +O§_
H. O,
HoO +21 7 +2H" I, + 2H,0
PbS+ 4H, O, PbSO, + 4H, 0O
2MnOs +5H20; + 6H " 2Mn°" +50:1 + 8H20
Cl,+H.0; 2HCI+ Ot
2H> O 2H, O+ O,
O H:20,
, 3% 90% H, O,
7.
10.4 338 ,

, H, SO,
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, HNG:s :
H.SO, () + NaNGs NaHSO, + HNOs
, S0;,S S ,
, H" HSO. ,
Ko, =1.2x 10" °
8.
) X2 ) F, ,Clz,Brz,lz
y F2—>C|z—>BI’2—>|2 CIZ
, - 35 6x 10° Pa P
(FZ H20 ),Clz,Brz,lz
Br,
2 | I3
I, + |- |3
11-5
F2 ]
(CF.CIBr,CBr.F, ) (CCl; F) ( )



428

11 -5
H>
HX
HCl HBr
HF O, HCIO(Cl,) HBrO(Br,) HI HIO(L)
Pt Au
X2
-
CIZ ’
Br:
Br. (G H4Br?)
|2 , ( ) ( CHls)
9.
HCl
36% 38%, 1.199 cm 2, HCI 32%
) ( KMnO4)

2KMnG, + 16HC

2KCl +2MnCl; + 8H, O+ 5Cl, 1



11.3 p

H.SO. () + NaCl NaH SO, + HCI
10.
NSOz 5H,0
Nao S O; , ,
$05 +2H" H,O+SI +SO0,1
Na’ZSZOS ) !
Na$S0s +4Cl2 + 5H20 NaSOs + H2SOs + 8HCI

2N S0Os + 1, 2Nal + Nao S O¢
Na S O3 ;
NaS Os : ,

’ CN_ ’
11.

] y = 33
- 77 , 1 700
(NH3 Hzo), ) !
NHz H.O NH, +OH K, =1.8x 10°°
NHz; + HCI NH,Cl
NHs; + H: PO, NHsH>PO,
Pt,
ANHs +50, 4NO+6H,0

2NHs + 3Cl, N2t + 6HCI
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2NH; + 2Na 2NaNH; + H.
N2 H2 NH3:
N> + 3H> 2N H;
N H4Cl Ca(OH): NHs:
2NH,Cl + Ca(OH ). CaCl, + 2NHzt + 2H20
( )

, ( : )
11.4 d
11.4.1 d
d B B , ,
1.
d (n-l)dlgns12 :

d (Pd ) (n-1)d ns

.d 1 2 :

] !d
2.

d d :
) (9), (3407 ), (22.61
gcon ), (5687 )
3.
d :
(n-1)d, ns , ns
,(n-1)d ,
: +2
d (n-1)d

ns, np
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., Fe(CO)s,Ni(CO). |,

d :
d-d d,d® , d-d :
, d
11.4.2
1.
, (0.42%),
1680 |, 3260 4.59 cm’
(
57%) :
2.
, H,S, H,SO: , K1, FeSO,
) Cr3+ ) )
Cr,O' +6Fe" +14H" 2cr’t + 6Fe’” + 7H,0
Cr,0} +6l +14H" 2Cr " + 3, + 7TH, O
, , (cr®*)
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, MnO,

2KMnO, KoMNnNOs + MnNO, + Ot
KM nO. KM nO. ,
, KMnOy Na SO;
2MnO; +5S05 +6H" 2Mn° " +580;  +3H, 0 ( )
2MnO; +3S05  + H,O 2MnO,! +3SC,~ +20H  ( )
2MnO;, +SC5 ™ + 20H° 2MnO;  +S0;  + H,0 ( )
, Fe*
C:0: ,H,0,, SO5
MnO, +8H" +5F€ " Mn*® +5F’" + 4H,0

2MnO; +6H" +5H,0;

2500 :

500 FQ O4 y ’

Fe(NOs)s,NO NHs ; ,

2Mn* " + 50, + 8H,0

C ’
7.85g cm °, 1539
150 :
Fe, O 570
, Fe”®
Fe(NO3)2 I}
1200 , Fe;C,
CoCly 6H,0 CoCl,

, Co( )
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, CoCly 6H,.0 ,
CoCl,

52.3 90 120

y COCIZ ’
11.5 ds
11.5.1 ds
ds B, B : (Cu, Ag, Au) (Zn, Cd,

Hg) 1 d p 1
1.
ds (n-1)d®°ns" ?, s ,
S ,
; ds S d , p, nd

2.
ds , , ; , ;

(n-1)d , :

: d ,ds

) (Hg) b

,ds

, 1g 3 km , 1.0x 10" “ mm
3.
1
, ns ns :
, Cu,Ag,Au
, ns , (n-1)d , Cu",
AU’ "

f COZ ’



: HNG:s H, SO,
+ 2, +1
Ho " . HgC.
Zn,Cd, Hg
: , 300
HgO HgS
: 4 2
11.5.2
1.
CuSOs 5H,0 , ,
CuSOr 5H,0 , 250
CUSO4 ’
2CuS0; + H.O [Cl (OH)SO4] * + HSOs

Cu+2H.SO.( ) CuSO, + SOt +2H,0



11.5 ds 435
2.
: 208 , 440
2AgNGs 2Ag+2NG:t + Ot
Ag+2HNG;( ) AgNG; + NO;t + H,0
3AQ+4HNO: () 3AgNO; + NO;1  + 2H,0
: 10% AgNOs
3.
, 10
,100g 3339 ZnCl,: ,
ZnCIZ ’
ZnCl> H:0 H[ZnC|2(OH)]
2H[ZNnCl2(OH)] + FeO H20+ Fe[ZnCl2(OH) ]2
chl2 ’ 1] n’

) ZnCl,

, ZnCl2
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ZnCl; H.O : Zn(OH)CI
ZnCl, Zn  ZnO
ZnCl ZnCl,,
4.
, (549 K) ,
HgClz ,
, HgClz ,

2HgClL + SICL ()

Hg.Cl, + SnCl; ( ) 2Hg!
Hg" Sn’’
HgCl, 1 1000
, HgO
HgSOs  NaCl
Hg2C|2
H92C|2

.S ?1A  1IA

N o oA WDN P
N

HgCl. + Hg

, ZnCl,
HC

SnCl,

Hg.Cl,1 + SnCl,

+ SnCl,4

HgCl.

’ HgCIZ



, ZnCl2 ?

1. H:0; ,

(1)

(2) ;

(3) ;
(4)

(5)

(1) SnCl; ,

(2) ZnCly H, O ZnCl,
(3) H, S ;

(4) “ "
(5) NaOH ,

(6) : KI

ANH; (g) + 50 (9) 4NO(g) + 6H.O(9)

(1)
(2) 800 , ?
5.
6. H.0; 20.00mL 0.5mot L™ 'Kl
Na S G I, Na SOs 40.00mL H. G
7. H2SO,,NaOH(s), Cad, ,P, G NHs,

? ?

,  0.5000mo+ L *

8. ? ?

9.

(1) ?

(2) : CaCQO; ,Ca(OH).,CaCl, CasO., ;

(3) Br, o ( )

(4) NaCl, NaBr,Nal ?

10. How could you quickly distinguish between the following pairs of white solid substances ?
Write chemical reaction for each:

(1) MoCk and BeCl;
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(2) NaHCGO; and NaCGs;;

(3) Ca(OH)2 and Ca0;

(4) NaHCGO; and NaHSO; ;

(5) NaCl and Nal

11. Chlorine gas can be prepared by adding dilute HCl (aq) dropwise onto potassium per man-
ganate crystas, KMnQ,. The KMnQ, is reduced to M’ (aq) . What volume (in liters) of 1.50
mol L *HCl(aq) is required to react with 12.0g KMnQ, ?



( MgO,Al20s,ZrC: )

(Siz Na) (SIC) (ZrC)
(Al203) ’

, ZnO - LI,O - CrnOs - V205

, C,Ale, - Sis Ns, TIOz,CaO - Al,Os NaO - ALOs; - SO,

CaO- PG



Ni - Ti,Ag - Cd,Cu - Cd,Cu - Al - Ni,Cu - Al - Zn
( )

: - 253 :

20
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1968 Mg - Ni 1974,
Ti - Mn , ,

, LaNi5,
LaNisHe ,

Ni - Co 1200 ,Ni - Cr - Fe
1200 ,



( Separation and Preconcentration)

lygL -,

(separation) (precon-
centration)



12.1 43

12.1
( precipitation)
12.1.1
1.
NaOH , ( AP, zn",
Pb’" ) !
pH 9 :
Fe'"  APT Fe(OH)s, Al (OH)s
Ag",cu”",zn®" ,cd®" ,Co’ ", Ni®T NHs
pH, ( ZnO,
MgO,CaCO3 ) pH1
2.
40

0.3 mol-



L' HC H.S ,cu’’ ,Pb’",cd”,Ag" ,Bi’" ,Hg" " ,AS"
H.S , ,pH
2 , Zn>" 'pH 5 6 ,Ni",Co’ ,Fé"
HZS 82- 1]
12.1.2
] 12 = 1
12 -1
ca*,sr?t ,Ba* , Th( ), Fe3* ,AR*  Zr( ),Nb( ),
Ta( )
(N - 1 9 H,SO, T Ti( ), V() ARY cr*t, cott,
) Ni2+
( 3+
) ARt
12.1.3
, ; (carri-
er), 1 !
: ( coprecipitation) :
= Hg"" , H.S , HgS

, PbS



12.2 -

2+

NI

BaSO, - PbSO, , BaSO, - RaSO4,CdCO3 - SrCOs

2+

’ NI ’

Ni®* ,

: NaCl, Ca(NGO:s)2

(solvent extrac-
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traction) Ni
1mot L°" HC
2.
A A
c(A)w
, Ko

(distribution ration)
G

Ko,

2+

,Ni?* ,
pH= 9 ,
, Ni* "
, (counter ex-
- , , 0.5
1 1) NI2+ 1
: A
c(A)o
_C(A)
KD - C(A)W (12 - 1)
(distribution coefficient)
: A
o , D
S
D= . (12 - 2)
) ) D =
Dz Kb , D>1,
, D 10
(percentage extraction) E
A x 100%
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12.2 -
= G Ve 009 2.3
_C0V0+CWVWXl & (1 ) )
v Vo,
D
E="""y_x 100% (12 - 4)
D+ V.
VV\/ VO )
, D, D , ,
1, (12-4)
E=—2—x 100% (12 - 5)
“D+1 0
D E
D 1 10 100 1000
E % 50 91 99 99.9
9.9% ,D 1000 , D
y le Vo, ’ ’
1 ) D 1
VW mO,
, mq , (mo -
m1),
D_&_(mo- m) Vo
TG m/ Vu
Vuw
M= Mo Ky + v,
, Vo n , Mn
M= Hvet+ V (12 - 6)
12-1 1, 100 mL, 1,10.00mg  90mL CCl
£(1) 90 mL :(2) 30 mL, (D=85)
: (1) 90 mL Cdl,
- 100 mL B
M =10.00 mgx o590 mL + 100 mL -~ 0-13 M9



_(10.00 - 0.13)MY. ;110r — on 70
E 10.00 mg* 100%=98.7%

(2) 30 mL CCls

3

100 mL = 0.00054 mg

85x 30 mL +100 mL

E= (10.00 - 0.00054)mg

ms =10.00 mgx

x 100% =99.99%

10.00 mg
12.2.2
1.
( )
, NP
. NPT ,
CHCl;, CCl, 8 -
2.
(ion_association complexes) :
mot L~ 'HCI : Fe" Fe’"  d°
H” [ (CH;CH.),0H] ",

[ (CHsCH,),OH] " + FeCl, [ (CHsCH),OH] " [FeCl4] "~

FeCls ,
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12.3
(ion exchange) ,
12.3.1
1.
(ion exchange resin)
H+
(—SG: H),
(—COOH) (—OH)

R—COOH R—OH

pH >4

pH>9.5
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R—SO;H + M R—SO;M +H "~
|v|+ ’ H+
M H” M7 , ,
, OH
[—N(CHs)sCI],
(—NH) [ —NH(CHs)] [—N (CHs)2]

R—N(CHs)s OH ,R—NHs OH ,R—NH, (CHs) " OH , R—NH (CHs),
OH" , OH" ,

R—N(CHs)s OH ™ + X~ R—N(CHs)s X~ +OH"~

[—N(CH2COOH):]

2 + 2 +

, Co

2+

, NI

CHo CH CH. CH CH. CH CH, CH

SG:H SO H 0O:H
CH CH. CH CH, CH CH. CH CHq

SO H O:H SG: H
CH, CH CH CH CH, CH CH. CH
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: ,—SO; H H
3.
(degree of cross linking) (exchange capacity)
: (crosslin_
king reagent)
; : 4% 14%
, mmol g *
: 3 6 mmol g'1
12.3.2
(affinity)
1.
:Na" <Ca&" <Fe' <Th( )
'Li" <H" <Na" <NH; <K" <Rb" <Cs" <Ag" <TI"
MgZ+ <Ca2+ < Sr_2+ < Ba2+
2.

F" <OH <CH;COO <HCOO <ClI" <NO;, <CN <Br <NO; <
HSO, <I| <CrQ; <SO;°

12.3.3
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4 6mol L ‘HC

HCl :

12.3.4

H :
NR—SO:H + M"*
OH
NR—N(CH3z)s OH ™ + X"
e
H" + OH’

90 %

HCI,NaOH  NaCl

(R—S0:)nM + nH"

[R—N(CHs)3] o+ NOH "

OH H20:

H-0



12.4 453

. BaSO, , Fe’",ca’ ,
BaSO, BaSO, ,
, FeT,cd’ , HSO4
, Fe'",ca’
,Li",Na" , K" :
Li",Na" K" , ,
Li* <Na" <K', HCI
JLit , Na", K",
Li",Na K’ , JFe”
9mot L°' HC , ,
Fe* FeCls . AP ,
FeCls | Fe'’
3.
, AG - 50W - X4 AMP,CMP,
GMP UMP
4.
, [ —N(CH2COOH), ] ,
Zn,Cu,Ni,Co Cd , 2 mol L~ "HCI



12.4.1
(thin_layer chromatography)
(
(
(R)
12 - 2 : (R)
12 -1
_-a
R = b
R 0 1 R= 0,

, R

12 -

Ry
0.02

(12 - 7)



12.5

12.4.2

12.4.3

12.5

Rr

, R

100 250

110

12 -

R
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12.5.1
(supercritical extraction) (supercritica
fluid) 20 80
1.
12 - 3 : T
TC y p pC ’ y
12 - 2 : : : :
L] T’ p
: 12 -4 :
12 - 3 12- 4

12 -3 TA, TB, TC
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12 -2
/ kg L™t / m? st / kPa s
103 10°° 108
0.3 0.8 10°7 10°8 108 107
1 <10°° 10-6
2.
12 - 3
CO. ;
12 -3
Td K pd MPa Td K pd MPa
co, 304 7.37 562 4.83
406 11.28 305 4.88
647 22.05 370 4.20
- 13(CCIF3) 302 3.92 553 4.07
- 11(CCI3F) 471 4.41 282 5.05
592 4.06 365 4.56
, CO
3.



CO;
CO,

12.5.2

(membrane)



12.5

( microporous membrane)

: Inm 0.03um
40%
(dense membrane) : 19%,
0.5 1nm
(asymmetric membrane) :
, (0.1 2um)
(100 200p m) :
(composite membrane)
(ion exchange membrane) :
2.
( microfiltration)
(ultrafiltration)
: 12 - 5
A B
( ) 1 )
( )
: 500 12 -5

10
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(dialysis) :
( )
: (hemodiaysis) ,
(electrodialyss)
12 - 6
2,4 :
2,4
) 214 1)
3 ,
12 - 6
: 20
) I:es+ ,A|3+ ’Ca2+ ’ Mgz+ ’ Mn2+ ,CI‘3+ ,CU2+ Zn2+
NHs H,O ?
2
3.
4
2

R—COOH, R—NH: RCOR ?

NHa Cl



?
?
BaSO, so T, Fe*
s BaSO, : Fe'" ?
10.
11. R ?
12. : ?
1. 9.6 50mL
:(1) 50.0 mL 1 (2) 25.0 mL
10.0 mL 5 ,
2. , 100mL , 1.0mL
53% 10 mL 1.0 mL ?
3. Ka =6.5x 10 °, ,
Ko = 100 pH 5
4. 1.200g H" , ,  Nad
, , 0.1000 mot L *
, 22.10 mL,
5. 100.0 mL , ca’ Mg
0.1000 mot L°*  NaOH : 10.00 mL,
6. NaCO; K,CO; 1.0000 g, H
0.5000 mot L~ *NaOH , 30.00 mL Na: COs
7. Feé* ,Co" NP” - - HcCl
13 cm, 5.2cm, Cd&°
?
8. A B,
R 0.45 0.65 2 cm

(FeS)

0.150 mok L *

, (3)

NaOH

K2COs

Ry

?

9. If the distribution ratio for substance A is9.0, what is the minimum number of the 5.00
mL portions of ether that must be used in order to extract 99.9% of substance A from 5.00 mL of
an aqueous solution that contains 0.0400 g of substance A ?What weight of substance A is removed

with each extraction ?

10. A 100 mL portion of a0.1000 mol L~ *aqueous solution of the weak acid HA isextracted

with 50.00 mL of CCla. After the extraction, a25.0 mL aliquot of the aqueous phase was titrated
with 10.00 mL of a0.1000 mot L~ *NaOH. Cdculate the distribution ratio of HA .
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11. A 50.00 mL sample of y mol L~ *MgCl, was passed through astrongly acid cationic resin

in the H* form. The euent and washing were titrated with 30. 70 mL of 0.0998 mol L *NaOH.
Calculate the value of y.



(Solid_phase extraction, SPE) 20 70

- SPE :
, SPE
(Solid_phase micro extraction, SPM E) 1990
Waterloo Pawliszyn
, , : Pawliszyn
SPME , ( )

(fiber) ,

, Pawliszyn

SPME

(liguid membrane extraction, LME)

, : (

(Membrane extraction with a solvent interface, MESI)
M ESI



MESI



kg
S
A
K
mol
cd
)
m?
m
Pa
J
C
\Y;
10t da 101 d
10° h 102 c
10° k 1073 m
10° M 107 © u
10° G 10°° n
1012 T 10- 12 p
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4. ( )
min
[ ] h
() d
L
mL
eV
t
R 8.314510 Jmol % K1
Na 6.0221367x 1023 mol ~1
c 2.99792458x 108 m st
h 6.6260755x 10~ * Js
e 1.60217722x 10 1° C
F 96487.309 Gmol ' JV L mo
T { T} ={ t} +273.15¢( ) K
a Na Ea
A p E
c Q a
d; r B
D; s Y
G S A
H T 8
I U g
k V p
K w ¢
m W (4]
M Xg E
n Yi m ] ( )




(298.15K , 100 kPa)

B A¢Hp, A¢Gp S
kJ mol ! kJ mol " * J mol "t K-
Ag cr 0 0 42 .5
Ag® ao 105.579 77.107 72.68
AgBr cr - 100.37 - 96.90 107.1
AgCl cr - 127.068 - 109.789 96.2
AgCl; ao -245.2 - 215.4 231.4
Ag,CrO, cr - 731.74 - 641.76 217.6
Agl cr - 61.84 - 66.19 115.5
Agl, ao — - 87.0 —
AgNO, cr - 124.39 - 33.41 140.92
Ag, O cr - 31.05 - 11.20 121.3
Agz PO, cr — - 879. —
Ag,S cr(a - ) - 32.59 - 40.69 144.01
Al cr 0 0 28.33
ARt ao - 531. - 485. -231.7
AICl, cr - 704.2 - 628.8 110.67
AlO; ao - 930.9 - 830.9 - 36.8
Al,O4 cr( ) - 1675.7 - 1582.3 50.92
Al(OH); ao[ AlO; (ao) + 2H,0(1)] - 1502.5 - 1305.3 102.9
Al,(SO,)3 cr - 3440.84 - 3099.94 239.3
As cr( ) 0 0 35.1
AsHg g 66.44 68.93 222.78
A0 cr - 1313.94 - 1152.43 214.2
AsS cr -169.0 - 168.6 163.6
B cr 0 0 5.86
BCl, - 403.76 - 388.72 290.10
BF; - 1137.00 - 1120.33 254.12
B, Hy 35.6 86.7 232.11
B, 0, cr - 1272.77 - 1193.65 53.97
B(OH); ao - 1344.03 - 1153.17 102.5
Ba cr 0 0 62.8
Ba* ao - 537.64 - 560.77 9.6
BaCl, cr - 858.6 - 810.4 123.68
BaO cr - 553.5 - 525.1 70.42
BaS cr - 460. - 456. 78.2
BaSO, cr - 1473.2 - 1362.2 132.2
Be cr 0 0 9.50
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B A¢Hp A¢Gp S
kJ mol ~* kJ mol ~* J mol % K1

Be?* ao - 382.8 - 379.73 -129.7
BeCl, cr(@) - 490.4 - 445.6 82.68
BeO cr - 609.6 - 580.3 14.14
Be(OH), cr(@) - 902.5 - 815.0 51.9
Bi* ao — 82.8 —
BiCl, cr -379.1 - 315.0 117.0
BiOCI cr - 366.9 -322.1 120.5
Bi,S; cr - 143.1 - 140.6 200.4
Br- a0 - 121.55 - 103.96 82.4
Br, | 0 0 152.231
Br, a0 - 2.59 3.93 130.5
Br, g 30.907 3.110 245.436
C cr( ) 0 0 5.740
C cr( ) 1.895 2.900 2.377
CH, g - 74.81 - 50.72 186.264
CH;OH | - 238.66 - 166.27 126.8
CoH, g 226.73 209.20 200.94
CH3COO~ a0 - 486.01 - 369.31 86.6
CH3COOH | - 484.5 - 389.9 124.3
CH3COOH ao - 485.76 - 396.46 178.7
CHCl, | - 134.47 - 73.66 201.7
ccl, | - 135.44 - 65.21 216.40
C,HsOH | - 277.69 - 174.78 160.78
C,HsOH a0 288.3 - 181.64 148.5
CN- ao 150.6 172.4 94.1
co g - 110.525 - 137.168 197.674
CO, g - 393.509 - 394.359 213.74
CO, ao - 413.80 - 385.98 117.6
C,04" ao -825.1 - 673.9 45.6
CS | 89.70 65.27 151.34
Ca cr 0 0 41.42
ca’* a0 - 542.83 - 553.58 -53.1
CaCl, cr - 795.8 - 748.1 104.6
CaCO; cr( ) - 1206.92 - 1128.79 92.9
CaH, cr - 186.2 - 147.2 42.
CaF, cr - 1219.6 - 1167.3 68.87
CaO cr - 635.09 - 604.03 39.75
Ca(OH), cr - 986.09 - 898.49 83.39
CaS cr - 482.4 - 477.4 56.5
CasO, cr@) - 1425.24 - 1313.42 108.4

Cd cr 0 0 51.76




B A¢Hp, A¢Gp S
kJ mol " ! kJ mol " * Jmol "t K!?
Cd** ao - 75.9 - 77.612 -73.2
Cd(OH), cr - 560.7 - 473.6 96
Cds cr -161.9 - 156.5 64.9
cl- ao - 167.159 - 131.228 56.5
Cl, g 0 0 223.066
Cl, ao - 23.4 6.94 121.
Clo- ao -107.1 - 36.8 42.
ClO; ao - 103.97 -7.95 162.3
Clo; ao -129.33 - 8.52 182.0
Co cr( 0 0 30.04
Co?* ao - 58.2 - 54.4 - 113.
Co®* ao 92. 134. - 305.
CoCl, cr - 312.5 - 269.8 109.16
Co(NHj3)3* ao — -189.3 —
Co(NHj3)2* ao -584.9 - 157.0 146
Co(OH), cr( — - 450.6 —
Co(OH), cr( - 539.7 -454.3 79.
Cr cr 0 0 23.77
CrCl cr - 556.5 - 486.1 123.0
Cro;- ao - 881.15 - 727.75 50.21
Cr,04 cr - 1139.7 - 1058.1 81.2
Cr,02 ao - 1490.3 - 1301.1 261.9
Cs cr 0 0 85.23
Cs* ao - 258.28 - 292.02 133.05
CsCl cr - 443.04 - 414.53 101.17
CsF cr - 553.5 -525.5 92.80
Cu cr 0 0 33.150
cu” ao 71.67 49.98 40.6
cuw?* ao 64.77 65.49 -99.6
CuBr cr -104.6 - 100.8 96.11
CuCl cr - 137.2 - 119.86 86.2
CuCl; ao — - 240.1 —
Cul cr - 67.8 - 69.5 96.7
Cu(NH;)3" ao - 348.5 - 111.07 273.6
Cuo cr - 157.3 -129.7 42 .63
Cu,0 cr - 168.6 - 146.0 93.14
Cus cr - 53.1 - 53.6 66.5
CusO, cr - 771.36 - 661.8 109
F- ao - 332.63 - 278.79 -13.8
F, g 0 0 202.78
Fe cr 0 0 27.28
Fe?* ao -89.1 - 78.9 -137.7
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B A¢H,, A Gy, S
kJ mol " ! kJ mol " * Jmol "t K!?
Fe3* ao - 48.5 - 4.7 - 315.9
FeCl, cr - 341.79 - 302.30 117.95
FeCl, cr - 399.49 - 334.00 142.3
Fe,0, cr( ) -824.2 - 742.2 87.4
Fe;0, cr( ) - 1118.4 - 1015.4 146.4
Fe(OH), cr( ) - 569.0 - 486.5 88.
Fe(OH); cr( ) - 823.0 - 696.5 106.7
Fe(OH)Z" ao — - 769.7 —
FeS, cr( ) - 178.2 - 166.9 52.93
FeSO; 7H,O  cr - 3014.57 - 2509.87 409.2
H* ao 0 0 0
H» g 0 0 130.684
H3AsO, ao - 742.2 - 639.80 195.0
H3AsO, ao -902.5 - 766.0 184
H[BF,] ao - 1574.9 - 1486.9 180.
H,BO, cr - 1094.33 - 968.92 88.83
H3BO; ao - 1072.32 - 968.75 162.3
HBr g - 36.40 - 53.45 198.695
HCI g - 92.307 - 95.299 186.908
HCIO g - 78.7 - 66.1 236.67
HCIO ao -120.9 - 79.9 142
HCN ao 107.1 119.7 124.7
H,COs ao[ CO(ao) + H,O(1)] - 699.65 - 623.08 187.4
HC,0, ao - 818.4 - 698.34 149.4
HF ao - 320.08 - 296.82 88.7
HF g -271.1 - 273.2 173.779
HI g 26.48 1.70 206.549
HIO, ao -211.3 - 132.6 166.9
HNO, ao -119.2 - 50.6 135.6
HNO; | -174.10 -80.71 155.6
H3 PO, cr - 1279.0 - 1119.1 110.50
HS" ao - 17.06 12.08 62.8
H,S g - 20.63 - 33.56 205.79
H,S ao - 39.7 - 27.83 121
HSCN ao — 97.56 —
HSO, ao -887.34 - 755.91 131.8
H,S0; ao - 608.81 - 537.81 232.2
H,SO4 | - 831.989 - 609.003 156.904
H,SiO, ao - 1182.8 - 1079.4 109.
H,SiO, ao[ H,S 0;(ao) + H,0(1)] - 1468.6 - 1316.6 180.
H,0 g - 241.818 - 228.575 188.825
H,0 | - 285.830 - 237.129 69.91
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B A¢Hp A¢Gp, S
kJ mol " ! kJ mol " * Jmol "t K!?
H,0, | -187.78 - 120.35 109.6
H,0, g - 136.31 - 105.57 232.7
H,0, ao -191.17 - 134.03 143.9
Hg | 0 0 76.02
Hg g 61.317 31.820 174.96
Ho?* a0 171.1 164 .40 -32.2
Ho* ao 172.4 153.52 84.5
HgCl, ao - 216.3 - 173.2 155
HgClI2* ao - 554.0 - 446.8 293.
Hg,Cl, cr - 265.22 - 210.745 192.5
Hgl, cr( - 105.4 -101.7 180
Hgl; a0 - 235.6 -211.7 360.
HgO cr( - 90.83 - 58.539 70.29
HgS cr( - 58.2 - 50.6 82.4
HgS cr( - 53.6 - 47.7 88.3
I ao - 55.19 - 51.57 111.3
I cr 0 0 116.135
I, g 62.438 19.327 260.69
I, a0 22.6 16. 40 137.2
5 ao - 51.5 - 51.4 239.3
10; ao -221.3 -128.0 118.4
K cr 0 0 64.18
K* ao - 252.38 - 283.27 102.5
KBr cr - 393.798 - 380.66 95.90
KCl cr - 436.747 - 409.14 82.59
KCIO, cr - 397.73 - 296.25 143.1
KClO, cr - 432.75 - 303.09 151.0
KCN cr - 113.0 - 101.86 128.49
K,CO4 cr - 1151.02 - 1063.5 155.52
K, CrO, cr - 1403.7 - 1295.7 200.12
K, Cr,0; cr - 2061.5 - 1881.8 291.2
KF cr - 567.27 - 537.75 66.57
Ks[Fe(CN)g] cr - 249.8 - 129.6 426.06
Ks[Fe(CN)e] cr -59.1 - 450.3 418.8
KHF, cr(@) - 927.68 - 859.68 104.27
Kl cr - 327.900 - 324.892 106.32
KI1O; cr - 501.37 - 418.35 151. 46
KMnO, cr - 837.2 - 737.6 171.71
KNO, cr( - 369.82 - 306.55 152.09
KNO, cr - 494.63 - 394.86 133.05
KO, cr - 284.93 - 239.4 116.7
K,0, cr -494.1 - 425.1 102.1
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B A¢Hp, A¢Gp S
kJ mol ! kJ mol ! J mol "t K-
KOH cr - 424.764 - 379.08 78.9
KSCN cr - 200.16 -178.31 124.26
K,SO, cr - 1437.79 - 1321.37 175.56
Li cr 0 0 29.12
Li* ao - 278.49 - 293.31 13.4
Li,CO;, cr - 1215.9 - 1132.06 90.37
LiF cr - 615.97 - 587.71 35.65
LiH cr - 90.54 - 68.05 20.008
Li,O cr - 597.94 - 561.18 37.57
LiOH cr - 484.93 - 438.95 42.80
Li, SO, cr - 1436.49 - 1321.70 115.1
Mg cr 0 0 32.68
Mg?* ao - 466.85 - 454.8 -138.1
MgCl, cr - 641.32 - 591.79 89.62
MgCO, cr( - 1095.8 -1012.1 65.7
MgSO, cr -1284.9 - 1170.6 91.6
M gO cr( - 606.70 - 569.43 26.94
Mg(OH), cr - 924.54 - 833.51 63.18
Mn cr(a) 0 0 32.01
Mn?* ao - 220.75 -228.1 -73.6
M nCl, cr - 481.29 - 440.59 118.24
MnO, cr - 520.03 - 466. 14 53.05
MnO, ao -541.4 - 447.2 191.2
MnOj a0 - 653. - 500.7 59.
MnS cr( - 214.2 - 218.4 78.2
M nSO, cr - 1065.25 - 957.36 112.1
N, g 0 0 191.61
NH, g - 46.11 - 16.45 192.45
NH; ao - 80.29 - 26.50 111.3
NH, ao - 132.51 - 79.31 113.4
N,H, | 50.63 149.34 121.21
N,oH, g 95.40 159.35 238.47
N,oH, ao 34.31 128.1 138.0
NH,CI cr - 314.43 - 202.87 94.6
NH,HCO; cr - 849.4 - 665.9 120.9
(NH,),CO,4 cr - 333.51 - 197.33 104.60
NH,NO; cr - 365.56 - 183.87 151.08
(NH,),S0, cr - 1180.5 - 901.67 220.1
NO g 90.25 86.55 210.761
NO, g 33.18 51.31 240.06
NO; ao -104.6 - 32.0 123.0
NO; ao - 205.0 - 108.74 146.4
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B A¢Hp, A Gy, $
kJ mol ! kd mol " * Jmol * K?!

N5O4 | - 19.50 97.54 209.2
N5O4 g 9.16 97.89 304.29
N,Og cr -43.1 113.9 178.2
N,Og 11.3 115.1 355.7
NOCI 51.71 66.08 261.69
Na cr 0 0 51.21
Na* ao - 240.12 - 261. 905 59.0
NaAc cr - 708.81 - 607.18 123.0
N&B, Oy cr - 3291.1 - 3096.0 189.54
N&B,O; 10H,0 cr - 6288.6 - 5516.0 586.
NaBr cr - 361.062 - 348.983 86.82
NaCl cr - 411.153 - 384.138 72.13
Ng CO3 cr - 1130.68 - 1044.44 134.98
NaHCO; cr - 950.81 - 851.0 101.7
NaF cr - 573.647 - 543.494 51.46
NaH cr - 56.275 - 33.46 40.016
Nal cr - 287.78 - 286.06 98.53
NaNO, cr - 358.65 - 284.55 103.8
NaNOg cr - 467.85 - 367.00 116.52
NgO cr - 414.22 - 375.46 75.06
NaO, cr - 510.87 - 447.7 95.0
NaO, cr - 260.2 - 218.4 115.9
NaOH cr - 425.609 - 379.49%4 64.455
NgPO, cr - 1917.4 - 1788.80 173.80
NaH,PO, cr - 1536.8 - 1386.1 127.49
NaH PO, cr - 1478.1 - 1608.2 150.50
NaS cr - 364.8 - 349.8 83.7
Na, SO, cr - 1100.8 - 1012.5 145.94
Ng SO, cr( - 1387.08 - 1270.16 149.58
NaSFg cr - 2909.6 - 2754.2 207.1
Ni cr 0 0 29.87
N2+ ao -54.0 -45.6 128.9
NiCl, cr - 305.332 - 259.032 97.65
NiO cr -239.7 -211.7 37.99
Ni( OH), cr -529.7 - 447.2 88
NiSO, cr - 872.91 - 759.7 92
NiSO, ao -949.3 - 803.3 18.0
NiS cr - 82.0 - 79.5 52.97
0, 0 0 205.138
O, 142.7 163.2 238.9
0O; ao 125.9 174.6 146.
OF, g 24.7 41.9 247 .43
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B A¢H,, A Gy, S
kJ mol ! kJ mol " * J mol "t K-
OH" ao - 229.994 - 157.244 -10.75
P 0 0 41.09
P ( - 17.6 -121.1 22.80
PH, g 5.4 13.4 210.23
PO;- ao - 1277.4 - 1018.7 - 222
P,O1 cr - 2984.0 - 2697.7 228.86
Pb cr 0 0 64.81
Pb2* ao - 1.7 - 24.43 10.5
PbCl, cr - 359.41 - 314.10 136.0
PbCly ao — - 426.3 —
PbCO4 cr - 699.1 - 625.5 131.0
Pbl, cr - 175.48 - 173.64 174.85
PblZ- ao — - 254.8 —
PbO, cr - 277.4 - 217.33 68.6
Pb(OH) 5 ao — - 575.6 —
PbS cr - 100.4 - 98.7 91.2
PbSO, cr -919.94 - 813.14 148.57
S cr( 0 0 31.80
- ao 33.1 85.8 -14.6
SO, g - 296.830 - 300.194 248.22
SO, ao - 322.980 - 300.676 161.9
SO, g - 395.72 - 371.06 256.76
S0 ao - 635.5 - 486.5 - 29
SO; - ao - 909.27 - 744.53 20.1
S,05° ao - 648.5 - 522.5 67.
S,0%° a0 - 1224.2 - 1040.4 257.3
SbCl, cr - 382.11 - 323.67 184.1
Sh,S; cr( ) - 174.9 - 173.6 182.0
SCN~ ao 76.44 92.71 144.3
S cr 0 0 18.83
Sc cr® - - 65.3 - 62.8 16.61
SiCl, | - 680.7 - 619.84 239.7
SiCl, - 657.01 - 616.98 330.73
SF, - 1614.9 - 1572.65 282.49
SiF2 ao - 2389.1 - 2199.4 122.2
SO, a - - 910.49 - 856.64 41.84
Sn cr( 0 0 51.55
Sn cr( -2.09 0.13 44.14
St ao -8.8 -27.2 - 17
Sn(OH), cr - 561.1 - 491.6 155.
Sncl, ao - 329.7 - 299.5 172
SncCl, | - 511.3 - 440.1 258.6
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AsHp At G S
kJ mol 1 kJ mol "1 Jmol "% K !
SnS cr - 100. -98.3 77.0
Sr cr(a) 0 0 52.3
Sr2t ao - 545.80 - 559.48 -32.6
SrCl, cr(a) - 828.9 -781.1 114.85
SrC0O; cr( ) - 1220.1 - 1140.1 97.1
SrO cr -592.0 - 561.9 54.5
SrSO, cr - 1453.1 - 1340.9 117.
Ti cr 0 0 30.63
TiCly cr -720.9 - 653.5 139.7
TiCl, I -804.2 - 737.2 252.34
TiO, cr( ) - 939.7 - 884.5 49.92
Tio, cr( ) - 944.7 - 889.5 50.33
Zn cr 0 0 41.63
Zret ao - 153.89 - 147.06 -112.1
ZnCl, cr - 415.05 - 396.398 111.46
Zn(OH), cri®) - 641.91 - 553.52 81.2
Zn(OH)%" ao — - 858.52 —
ZnS - 205.98 - 201.29 57.7
ZnSO, cr -982.8 - 871.5 110.5
‘cr o g ;a0 , , ,b=1mot kg !
NBS ] ,
1998
(2 )
p K p Ki
Hs; Al Og 1 11.2 HOCN 3.46
HAsO, As(OH), 1 9.22 HSCN 0.85
H;AsO, 1 2.20 H,CrO, -0.98
2 6.98 2 6.50
3 11.50 HF 3.18
HsB O, 1 9.24 HI1O 10.64
2 12.74 NH,; 1 9.24
3 13.80 HNO, 3.29
HBrO 8.62 H,0, 11.65
CO, + H,O 1 6.38 H;PO, 11
2 10.25 H; PO, 1 1.30
HCIO 7.50 2 6.6
HCIO, 1.96 H;PO, 1 2.12
HCN 9.21 2 7.20
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p Ki p Ki
3 12.36 HaY 3 2.0
H,S 1 6.97 HaY - 4 2.67
2 12.90 H,Y?" 5 6.16
SO, + H,0 1 1.90 HY3- 6 10.26
2 7.20 1 3.13
H, SO, 2 1.92 2 4.76
H,$ 05 1 0.60 3 6.40
2 1.4 1.7 1 3.04
H,SiOg 1 9.77 2 4.37
2 11.80 2.86
3.75 NH; H,O 4.76
CH3; COOH (HAC) 4.76 H,NCH,CH,NH, 4.07
H,C,0, 1 1.27 7.15
EDTA HeY?2* 1 0.9 8.82
HgY? 2 1.6
“ CRC Handbook of Chemistry and Physcs 74th” .
a.
198 1 lgB2 198 3 19B 4 l9Bs I9B 6
1. F-
Al( ) 6.10 11.15 15.00 17.75 19.37 19.84
Be( ) 5.1 8.8 12.6
Fe( ) 5.28 9.30 12.06
Th( ) 7.65 13.46 17.97
Ti( ) 5.4 9.8 13.7 18.0
zZr( ) 8.80 16.12 21.94
2. Cl’
Ag( ) 3.04 5.04 5.30
Au( ) 9.8
Bi( ) 2.44 4.7 5.0 5.6
cd( ) 1.95 2.50 2.60 2.80
Cu( ) 5.5 5.7
Fe( ) 1.48 2.13 1.99 0.01
Hg( ) 6.74 13.22 14.07 15.07
Pb( ) 1.62 2.44 1.70 1.60
Pt( ) 11.5 14.5 16.0
Sb( ) 2.26 3.49 4.18 4.72
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198 1 1982 IgB 3 1B 4 IgBs lgB e
Sn( ) 1.51 2.24 2.03 1.48
Zn( ) 0.43 0.61 0.53 0.20
. Br-
Ag( ) 4.38 7.33 8.00 8.73
Au( ) 12.46
Cd( ) 1.75 2.34 3.32 3.70
Cu( ) 5.89
Cu( ) 0.30
Hg( ) 9.05 17.32 19.74 21.00
Pb( ) .2 1.9 1.1
Pd( ) 13.1
Pt( ) 20.5
.
Ag( ) 6.58 11.74 13.68
Cd( ) 2.10 3.43 4.49 5.41
Cu( ) 8.85
Hg( ) 12.87 23.82 27.60 29.83
Pb( ) 2.00 3.15 3.92 4.47
.CN~
Ag( ) 21.1 21.7 20.6
Au( ) 38.3
Cd( ) 5.48 10.60 15.23 18.78
Cu( ) 24.0 28.59 30.30
Fe( ) 35
Fe( ) 42
Hg( ) 41.4
Ni( ) 31.3
Zn( ) 16.7
. NH;
Ag( ) 3.24 7.05
Cd( ) 2.65 4.75 6.19 7.12 6.80 5.14
Co( ) 2.11 3.74 4.79 5.55 5.73 5.11
Co( ) 6.7 14.0 20.1 25.7 30.8 35.2
Cu( ) 5.93 10.86
Cu( ) 4.31 7.98 11.02 13.32 12.86
Fe( ) 1. 2.2
Hg( ) 8. 17.5 18.5 19.28
Ni( ) 2.80 5.04 6.77 7.96 8.71 7.74
Pt( ) 35.3
Zn( ) 2.37 4.81 7.31 9.46
. OH"
Ag( ) 3.96
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9B 1 IgB > IgB 3 IgB 4 IgBs
Al( ) 9.27 33.03
Be( ) 9.7 14.0 15.2
Bi 12.7 15.8 35.2
Cd 4.17 8.33 9.02 8.62
cr( ) 10.1 17.8 29.9
Cu( ) 7.0 13.68 17.00 18.5
Fe( ) 5.56 9.77 9.67 8.58
Fe( ) 11.87 21.17 29.67
Ni( ) 4.97 8.55 11.33
Pb( ) 7.82 10.85 14.58 61.0
Sb( ) 24.3 36.7 38.3
TI( ) 12.86 25.37
Zn( ) 4.40 11.30 14.14 17.60
8. P07
Ca( ) 4.6
Cd( ) 5.6
Cu( ) 6.7 9.0
Ni( ) 5.8 7.4
Pb( ) 5.3
9.SCN
Ag( ) 7.57 9.08 10.08
Au( ) 23 42
Cd( ) 1.39 1.98 2.58 3.6
Co( ) 0.04 0.70 0 3.00
cr( ) 1.87 2.98
cu( ) 12.11 5.18
Fe( ) 2.95 3.36
Hg( ) 17.47 21.23
Ni( ) 1.18 1.64 1.81
zZn( ) 1.62
10. S,0%"
Ag( ) 8.82 13.46
Cd( ) 3.92 6.44
cu( ) 10.27 12.22 13.84
Hg( ) 29.44 31.90 33.24
Pb( ) 5.13 6.35
11. H,C,0,
Al( ) 7.26 13.0 16.3
Fe( ) 2.9 4.52 5.22
Fe( ) 9.4 16.2 20.2
Mn( ) 3.97 5.80
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198 1 198 » 198 3 19B 4 lgBs 9B

Ni( ) 5.3 7.64 8.5

zn( ) 4.89 7.60 8.15
12. CH,COOH

Ag( ) 0.73 0.64

Pb( ) 2.52 4.0 6.4 8.5
13. en

Ag( ) 4.70 7.70

cd( ) 5.47 10.09 12.09

Co( ) 5.91 10.64 13.94

Co( ) 18.7 34.9 48.69

cr( ) 5.15 9.19

Cu( ) 10.8

Cu( ) 10.67 20.00 21.0

Fe( ) 4.34 7.65 9.70

Hg( ) 14.3 23.3

Mn( ) 2.73 4.79 5.67

Ni( ) 7.52 13.84 18.33

zn( ) 5.77 10.83 14.11

b. lga {M(OH)}
pH
i1 2 3 4 5 6 7 8 9 10 11 12 13 14

AlR* 2 0.4 1.3 5.3 9.3 13.3 17.3 21.3 25.3 29.3 33.3
Bi%* 3 0.1 0.5 1.4 2.4 3.4 4.4 5.4

(o 0.1 0.3 1.0
(ofs 3 0.1 0.5 2.0 4.5 2.1 12.0
co?t 0.1 0.1 0.4 1.1 2.2 4.2 7.2 10.2
cw* 0.1 0.2 0.8 1.7 2.7 3.7 4.7 5.7
Fe? 1 0.1 0.6 1.5 2.5 3.5 4.5
Fe** 3 0.4 1.8 3.7 5.7 7.7 9.7 11.7 13.7 15.7 17.7 19.7 21.7
Hg?* 0.1 0.5 1.9 3.9 5.9 7.9 9.9 11.9 13.9 15.9 17.9 19.9 21.9
La* 3 0.3 1.0 1.9 2.9 3.9
Mg?* 0.1 0.1 0.5 1.3 2.3
Mn?* 0.1 0.1 0.5 1.4 2.4 3.4
Ni%* 0.1 0.1 0.7 1.6

Ph2* 0.1 0.1 0.5 1.4 2.7 4.7 7.4 10.4 13.4
Tht* 1 0.2 0.8 1.7 2.7 3.7 4.7 5.7 6.7 7.7 8.7 9.7
Znet 0.1 0.2 2.4 5.4 8.5 11.8 15.5
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C. - EDTA
M Ag* ARt Ba* Be?* Bi* ca* Cd?* Co** Co®* cr3*
lg Kyy 7.32 16.5 7.78 9.2 27.8 11.0 16.36 16.26 41.4  23.4
M cuwt Fe?t Fet Hg?* Mg?* Mn?* Ni2* Pb2* St Zret
lg Kyy 18.70 14.27 24.23  21.5 9.12 13.81 18.5 17.88 18.3 16.36
d. - EDTA
(M) EDTA(Y)
KM’Y! )
lgKmy =1gKuv— - Igogv— - Igay
pH M - EDTA Fe( ) Hg( )
Al EDTA ,
pH
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14
Ag 0.7 1.7 2.8 3.9 5.0 59 6.8 7.1 6.8 5.0 2.2
Al 3.0 5.4 7.5 9.6 10.4 8.5 6.6 4.5 2.4
Ba 1.3 3.0 4.4 5.5 6.4 7.3 7.7 7.8 7.7 7.3
Bi 1.4 5.3 8.6 10.6 11.8 12.8 13.6 14.0 14.1 14.0 13.9 13.3 12.4 11.4 10.4
Ca 2.2 4.1 5.9 7.3 8.4 9.3 10.2510.6 10.7 10.4 9.7
Cd 1.0 3.8 6.0 7.9 9.9 11.7 13.1 14.2 15.0 15.5 14.4 12.0 8.4 4.5
Co 1.0 3.7 5.9 7.8 9.7 11.5 12.9 13.9 14.5 14.7 14.0 12.1
Cu 3.4 6.1 8.3 10.2 12.2 14.0 15.4 16.3 16.6 16.6 16.1 15.7 15.6 15.6
Fe( ) 1.5 3.7 5.7 7.7 9.5 10.9 12.0 12.8 13.2 12.7 11.8 10.8 9.8
Fe( ) |[5.1 8.2 11.5 13.9 14.7 14.8 14.6 14.1 13.7 13.6 14.0 14.3 14.4 14.4 14.4
Hg( )[3.5 6.5 9.2 11.1 11.3 11.3 11.1 10.5 9.6 8.8 8.4 7.7 6.8 5.8 4.8
La 1.7 4.6 6.8 8.8 10.6 12.0 13.1 14.0 14.6 14.3 13.5 12.5 11.5
Mg 2.1 3.9 5.3 6.4 7.3 8.2 8.5 8.2 7.4
Mn 1.4 3.6 5.5 7.4 9.2 10.6 11.7 12.6 13.4 13.4 12.6 11.6 10.6
Ni 6.1 8.2 10.1 12.0 13.8 15.2 16.3 17.1 17.4 16.9
Pb 5.2 7.4 9.4 11.4 13.2 14.5 15.2 15.2 14.8 13.0 10.6 7.6 4.6
Sr 2.0 3.8 5.2 6.3 7.2 8.1 85 8.6 85 8.0
Zn 1.1 3.8 6.0 7.9 9.9 11.7 13.1 14.2 14.9 13.6 11.0 8.0 4.7 1.0
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(18

25 )

KSp pKSp KSp pKSp
AgBr 5.0x 10" 8 12.30 BaS, O, 1.6x 10°° 4.79
AgBrO; 5.3x 10°° 4.28 BeCOz 4H,0 1x 10°3 3
AgCN 1.2x 10°% 15.92 Be(OH) »( ) 1.6x 10 % 21.8
Ag, CO3 8.1x 10~ %2 11.09 Bils 8.1x 10°1° 18.09
Ag, C,0, 3.4x 10° 1 10.46 Bi(OH); 4x 1030 30.4
AgCl 1.8x 10° 9.75 Bi OBr 3.0x 1077 6.52
Ag, Cro, 1.1x 10" 2 11.95 Bi OCI 1.8x 10~ % 30.75
Ag, Cr,0; 2.0x 1077 6.70 BiO(NO,) 4.9x 1077 6.31
Agl 8.3x 10 Y 16.08 BiO(NO;,) 2.8x 10°° 2.55
AglO; 3.0x 10°8 7.52 BiOOH 4x 10°10 9.4
AgNO, 6.0x 104 3.22 BiPO, 1.3x 10" % 22.89
AgOH 2.0x 10°8 7.71 Bi,S; 1x 10°9 97
Ag; PO, 1.4x 10° % 15.84 CaCO, 2.8x 10°° 8.54
Ag,S 6.3x 10" 49.2 CaC,04 H,0 4x 109 8.4
AgSCN 1.0x 10" %2 12.00 CaCrO, 7.1x 1074 3.15
Ag, SO;3 1.5x 10" % 13.82 CaF, 2.7x 10" 1! 10.57
A, SO, 1.4x 10°° 4.84 CaHPO, 1x 107 7.0
Al(OH)3( 1.3x 10" = 32.9 Ca(OH), 5.5x 10°° 5.26
AIPO, 6.3x 10 % 18.24 Cag(POy) 2.0x 10°%# 28.70
AlLS, 2x 10”7 6.7 CaSO, 6.8x 108 7.17
AuCl 2.0x 10° 8 12.7 Caso, 9.1x 107 © 5.04
Aul 1.6x 10° 2 22.8 Ca[ SiFg] 8.1x 10" 4 3.09
AuCly 3.2x 10" > 24.5 CaSiO, 2.5x 1078 7.60
Aul, 1x 10° 46 46 Cd(OH), 5 27x 10° 5 14.28
Au(OH), 5.5x 10" % 45.26 CdCO, 5.2x 10" %2 11.28
BaCO, 5.1x 10-° 8.29 CdC,0, 3H,0 9.1x 10-8 7.04
BaC,0, 1.6x 10°7 6.79 Cds (POy) 2 2.5x 10" 33 32.6
BaC,0, 2.3x 1078 7.64 Cds 8.0x 10?7 26.1
BaCrO, 1.2x 10° % 9.93 CeF; 8x 1016 15.1
BaF, 1.0x 10°°© 5.98 CeO, 8x 10°% 36.1
BaH PO, 3.2x 1077 6.5 Ce(OH); 1.6x 10 % 19.8
Ba(NO,), 4.5x 1072 2.35 CePO, 1x 10" % 23
Ba(OH), 5x 10 ° 2.3 Ce,S, 6.0x 10 1 10.22
Bas(POy) 3.4x 10" 3 22.47 CoCO;, 1.4x 10" 18 12.84
BaSO, 8x 10° 7 6.1 CoHPO, 2x 107 6.7
BasSO, 1.1x 10° D 9.96 Co(OH),( ) 1.6x 10°1° 14.8
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Ke PKg Ke PKg
Co(OH)4 1.6x 10 % 43.8 K,SFg 8.7x 1077 6.06
Co3(POy4) 2 2x 10" % 34.7 Li,CO3 2.5x 10°? 1.60
a - CoS 4.0x 10-2 20.4 LiF 3.8x 1073 2.42
B - CoS 2.0x 10" 24.7 LizPO, 3.2x 10°° 8.5
Cr(OH), 2x 10716 15.7 MgCO; 3.5x 10°8 7.46
CrF3 6.6x 10 10.18 MgF; 6.5x 10 ° 8.19
Cr(OH), 6.3x 10" % 30.2 Mg(OH), 1.8x 10° 10.74
CuBr 5.3x 10 ° 8.28 MgSO, 3.2x 107 % 2.5
Cucl 1.2x 10°-° 5.92 MnCO;, 1.8x 1011 10.74
CuCN 3.2x 10° % 19.49 Mn(OH), 1.9x 10° 13 12.72
Cul 1.1x 10° 2 11.96 MnS( 2.5x 10- 10 9.6
CuOH 1x 10° 14.0 MnS( ) 2.5x 10" 13 12.6
Cw,S 2.5x 10 47.6 NasAlFg 4.0x 10°10 9.39
CuSCN 4.8x 10° B 14.32 NiCO4 6.6x 10°° 8.18
CuCO4 1.4x 10° 9 9.86 NiC,0, 4x 10°10 9.4
CuC,0, 2.3x 10°8 7.64 Ni(OH) 5 ( 2.0x 10°1° 14.7
CuCr0Q, 3.6x 1076 5.44 a - NiS 3.2x 10" 1 18.5
Cu,[ Fe(CN)¢] 1.3x 10° % 15.89 B - NiS 1.0x 10° % 24.0
Cu(10;), 7.4x 10°8 7.13 y - NiS 2.0x 10" %¢ 25.7
Cu(OH), 2.2x 10° @ 19.66 PbACc, 1.8x 107 ° 2.75
Cuz(POy)2 1.3x 10~ ¥ 36.9 PbBr, 4.0% 10-5 4.41
Cus 6.3x 10" % 35.2 PbCO; 7.4x 10" 13.13
FeCO, 3.2x 10- 1 10.50 PbC, O, 4.8x 1010 9.32
Fe(OH), 8.0x 10° 15.1 PbCl, 1.6x 10-5 4.79
FeS 6.3x 1018 17.2 PbCro, 2.8x 10" 13 12.55
Fe(OH)s 4x 10° %8 37.4 PbF, 2.7x 1078 7.57
FePO, 1.3x 10~ % 21.89 Pbl, 7.1x 10°° 8.15
Hg,Br, 5.6x 103 22.24 Pb(103), 3.2x 10" 13 12.49
Hg(CN), 5x 10740 39.3 Pb(OH), 1.2x 10~ % 14.93
HgCO; 8.9x 10 Y 16.05 PbOHBr 2.0x 10° 18 14.70
Hg,C,0, 2 0x 10° 8 12.7 PbOHCI 2x 10 4 13.7
Hg,Cl, 1.3x 10° 8 17.88 Pb,(PO,), 8.0x 10°*® 42.10
Hgl- 4.5x 10" 2 28.35 PbS 1.3x 10" 28 27.9
Hg.(OH)> 2.0x 10 % 23.7 Pb(SCN), 2.0x 10°5 4.70
Hg,S 1.0x 10- ¥ 47.0 PbSO, 1.6x 10°8 7.79
Hg,(SCN), 2.0x 10~ 2 19.7 PbS, 0, 4.0x 1077 6.40
Hg, SO, 1.0x 10- % 27.0 Pb(OH), 3.2x 10" 6 65.5
Hg, SO, 7.4x 1077 6.13 Pd(OH), 1.0x 103 31.0
Hg(OH), 3.0x 10~ % 25.52 Sc(OH)3 8.0x 10 3! 30.1
HgS( ) 4x 10" 53 52.4 Sn(OH), 1.4x 10~ %8 27.85
HgS( ) 1.6x 10~ % 51.8 sns 1.0x 10~ % 25.0
K, [ PtClg] 1.1x 10°° 4.96 Sn(OH) 4 1x 10 °° 56
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Ke PKy Ko PKg
Cul 1.1x 10" 2 11.96 Ti(OH), 1x 1040
SrC0O, 1.1x 10° D 9.96 ZnCO4 1.4x 10° 11 10.84
SrC,04 H,0 1.6x 107 6.80 ZnC,0, 2.7x 108 7.56
SrCrO,4 2.2x 10°° 4.65 Zn(OH), 1.2x 10" V7 16.92
SrF, 2.5x 10°° 8.61 o - ZnS 1.6x 10- % 23.8
SrS0; 4x 10°8 7.4 B -ZnS 2.5x 10" %2 21.6
SrSO, 3.2x 107 6.49

(298.15 K)
a.
Eal V Enl V

Lit +e- Li 3.045 Zn%* + 2e- Zn -0.763
K* +e K 2.925 T+ e TI+1- -0.752
Rb* + e Rb 2.925 Cr* +3e Cr -0.744
Cs" +e Cs 2.923 TiOy( ) +4HY + e - 0.666
Ra&2* + 2e- Ra 2.916 Ti* + 2H,0
Ba®" + 2e Ba 2.906 TIBr+e” TI+Br - 0.658
St + 2e” Sr 2.888 TICl + e TI+Cl - 0.557
ca’t +2e Ca 2.866 Sb+ 3H"* +3e SbH,4 -0.510
Na* + e Na 2.714 HsPO3 + 3H' + 3e- -0.502
La®* +3e La 2.522 P( )+ 3H,0
ce’* +3e Ce 2.483 TiO,( ) +4H" + 2e° -0.502
Y3+ + 3e” Y 2.372 T2* + 2H,0
M@ + 2e° Mg 2.363 2CO, +2H™* +2e" H,C,0, -0.49
H, +2e 2H" 2.25 Si02" + 6H" + 4e” S +3H,0 - 0.455
Sc3* + 3e” Sc 2.077 H3PO3 + 3H* + 3e- - 0.454
Be’* 2e” Be 1.847 P( )+ 3H,0
Ti?* + 2e- Ti 1.628 Fe* +2e- Fe - 0.440
AP + 3e” Al 1.622 crt +e cr?t - 0.408
Ti* + 3e” Ti 1.21 Cd* +2e” cd - 0.403
V24 2e” v 1.186 Ti*t +e Ti* - 0.368
Mr?* +2e Mn 1.180 PbSO, + 2e- Pb+ SOf - -0.359
Cr?* + 2e- Cr 0.913 TI* +e- TI -0.336
BeO3™ +4H* + 2e” Be+ 2H,0 0.909 PbBr, + 2e" Pb+2Br- -0.284
H3;BO; + 3H ™ +3e” B + 3H,0 0.870 Co?* +e- Co -0.277
SO, + 4H* + 4e” Si +2H,0 0.857 HsPO, + 2H" + 2 -0.276
H,SiO, + 4H™* +4e” S + 3H,0 0.84 H,PO, + H,0O
V3t + 3e” \Y 0.835 PbCl, + 2e" Pb+2Cl" - 0.268
SO, + 4H™ +2e” St + 2H,0 0.77 V3t +e” vz -0.256




Eal V Ea/ V

Ni2* + 2e Ni 0.250 As,O3+6H" + 6e- 2As+ 3H,0 0.234
VO +4H* +5e°  V+2H,0 0.25 Sb** +3e”  Sb 0.24
CO, +2H* + 2e" HCOOH 0.199 ( KCl ) 0.2412
Cul +e Cu+l- 0.185 PbO +2H* + 2e" Pb+ H,O 0.248
Agl + e Ag+1- 0.152 N, + 8H"* + 6e- 2NH; 0.26
St + 2e” Sn 0.136 Hg,Cl, + 2e” 2Hg+2Cl~ 0.268
PR?* + 2e Pb 0.126 (1 mol KCI) 0.280
CO, +2H™ + 2e” CO + H,0 0.12 2S0Z° + 10H* + 8e- 0. 29
P( )+3H* +3e PH3( ) 0.111 S,05" +5H,0 )
SnO, + 2H™* +2e” SnO + H,0 0.108 Re®* +3e Re 0.300
SnO+ 2H* +2e’ Sn+ H,0 0.104 Chlt + 2e Cu 0.337
S+H*' +2e° HS- 0.065 AglO; + e Ag+ 105 0.354
Fe,O,(@) +6H"* + 6e- 0.051 SO% +8H* +6e S+ 4H,0 0.357

2Fe+ 3H,0 VO?* +2H" +e” V3* + H,0 0.359
VOt +e VO™ 0.044 VOS +4H" + 3e- V2* +2H,0 0.360
Ti** + e Ti3+ 0.04 SbO, +2H* + 2e° S0, + H,0 0.363
[Hgl, 12" +2e" Hg+ 4l - 0.038 Bi,O; + 6H* +6e 2Bi+ 3H,0 0.371
Cul, +e’ Cu+2l° 0.0 SnO%~ + 3H* + 2e° 0.374
HSO; +5H" + 4e’ S+3H,0 0.0 HSnO, + H,O
2H" +2¢ H, 0.000 [HgCl,]2 + 2e Hg+4Cl~ 0.38
sn*t + 4e” Sn 0.009 [Ptlg]%2™ +2e [Pt ]2 +21° 0.393
CuBr+ e’ Cu+Br~ 0.033 2H,S0; + 2H* + 4e”
P( )+ 3H" + 3e PH3( ) 0.0637 S0 +3H,0 0-400
AgBr +e- Ag+Br- 0.071 Co®* +3e” Co 0.4
Si+4H* +4e SH, 0.102 As,05 + 10H" + 10e 2As+5H,0 0.429
NiO +2H" + 2e- Ni + H,O 0.110 H,SO; + 4H* + 4e” S+ 3H,0 0.450
CuCl + e Cu+Cl- 0.137 RUW* +2e Ru 0.45
S+2H" + 2e- H,S( ) 0.142 S,02" +B6H* +4e" 2S+ 3H,0 0.465
SO7™ +8H™ + 8e $° +4H,0 0.149 CO+6H" +6e” CH, + H,0 0.497
Sb,0;+ 6H " +6e” 2%+ 3H,0 0.150 4H,S0; + 4H* + 6e” 0.51
St + 2e” St 0.151 S,0¢" +6H,0
Cw* +e” Cu* 0.153 Cu* +e Cu 0.521
BiOCl + 2H* + 3e- 0.160 15 ( )+ 2e" 21 - 0.536

Bi+ Cl~ + H,0 l; +2e” 31- 0.536
SO2° +4H* + 2e° H,S0; + H,0 0.172 c*+Cl”+e  Cucl 0.538
Bi®* +3e- Bi 0.2 AgBro; +e- Ag+BrO; 0.546
2CW* + H,0+ 2e Cw,O +2H* 0.203 HyAsO, + 2H* +2e” 0.56
SbO* + 2H* + 3e- Sb+ H,0 0.204 HAsO, + 2H,0 )
AgCl +e” Ag+Cl- 0.222 CuO+ 2H " +2e° Cu+ H,0 0.570
[HgBr,1%" + 2e Hg+4Br- 0.223 [PtBr,]?" +2e- Pt+ 4Br- 0.58
CO3™ +3H" +2¢ 0.227 Sh,Os + 6H* +4e- 0581

HCOO™ +H,0 2SbO* + 3H,0
SO3 +6H" + 6e & +3H,0 0.231 [PdCI,]? ™ + 2e” Pd + 4Cl 0.591
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Eal V Eal V

[PdBr,]%" +2e- Pd+4Br- 0.60 N,O, + 4H* +4e 2NO + 2H,0 1.035
2HQCl, + 2e” Hg,Cl, + 2Cl - 0.63 N,O, + 2H* +2e° 2HNO, 1.065
CW* +Br- +e° CuBr 0.640 Bro( )+ 2e” 1.065
Ag,SO, + 2e- 2Ag+ SO?- 0.654 NO,+H"* +e” HNO, 1.07
PbO, + 4H* + 4e” Pb+ 2H,0 0.666 10; +6H"* + 6e- |~ +3H,0 1.085
VO, +4H" + 2e” V3" +2H,0 0.668 Bro( )+ 2e 1.087
[PtClg]%" +2e” [PtCl,]% " +2C1° 0.68 HVO; +3H* +e” VOt +2H,0 1.1
O, +2H" + 2e” H,0, 0.682 2NO; +10H* +8e’ 1.116
2903 + 6H* +4e” S,03° +3H,0 0.705 N,O + 5H,0
TE" +3e Tl 0.71 AuCl; +e- Au+ 2Cl - 1.15
SbO; + 2H* + 2e” SbO* + H,0 0.720 AuCl + e~ Au+ Cl° 1.17
SbO; + 4H* + 2e- SbO* + 2H,0 0.720 ClO; +2H* +2e ClO; + H,0 1.19
[PtCl,]? + 2e” Pt + 4Cl - 0.73 2105 + 12H" +10e" I, + 6H,0 1.195
Feé* +e- Fe?* 0.771 [RhClg]% + e [RhClg] 3~ 1.2
Hg3*™ + 2e- 2Hg 0.788 ClO; +3H"* +2e HClIO, + H,O0  1.21
Ag* +e Ag 0.799 O, +4H" + de- 2H,0 1.229
NO; +2H" +e NO, + H,0O 0.80 MnO, +4H" + 2e- Mm?* +2H,0 1.23
Rh®* +3e- Rh 0.80 2NO; +12H" +10e” N, + 6H,0 1.24
AuBr, +2e AuBr; + 2Br” 0.82 TIE* +2e- TI* 1.25
Hg?* + 2e” Hg 0.854 VO, +6H" +2e” VO*© +3H,0 1.256
Cl* +1 ™ +e” cul 0.86 2HNO, + 4H* + 4e° N,O+ 3H,O0 1.29
HNO, + 7TH™* +6e NH; +2H,0 0.864 Cr,02" +14H* +6e 1.33
NO; +10H"* +8e- 0.864 2Cr®* + 7H,0

NH; + 3H,0 HBrO + H* + 2e’ Br- +H,0 1.33
AuBr; +3e” Au+4Br- 0.87 CO; +8H* + 7e 1 2Cl,+ 4H,0 1.34
2H? Y +2e” Hg* 0.920 2NO, +8H* + 8e- N, + 4H,0 1.35
AuCl; +2e- AuCl; + 2Cl- 0.926 Cly( )+ 2e 1.358
NO; +3H" + 2e- HNO, + H,0 0.934 Clo; +8H" +8e Cl- +4H,0 1.38
AuBr; +e- Au+2Br- 0.956 AWt +2e Au*t 1.40
V,05 + 6H " +2e 0.958 1O, +8H" +8e~ |~ + 4H,0 1.4

2V0?* + 3H,0 2HNO, + 6H " + 6e” N, + 4H,0 1.44
NO; +4H" + 3e” NO + 2H,0 0.96 BrO; + 6H" +6e” Br~ + 3H,0 1.44
Pb;O, + 2H* + 2e” 3PbO + H,0 0.972 BrO; + 5H™ +4e’ HBrO+ 2H,0 1.45
2MnO, + 2H* +2e” 0.98 ClO; + 6H* +6e Cl" + 3H,0 1.45

Mn,O3 + H,0 2HIO+ 2H* + 2e” l, + 2H,0 1.45
Pt + 2e Pd 0.987 PbO, + 4H* + 2e- Pb?* +2H,0 1.455
HIO+H™* +2e” |~ +H,0 0.99 CO; +6H* + 5e” 1 2Cl,+ 3H,0  1.47
VOS +2H" + e VO?* + H,0 0.999 HCIO + H* + 2e” Cl~- + H,0 1.494
AuCl; +3e- Au+4Cl- 1.00 AUt +3e” Au 1.498
HNO,+ H™ +e- NO+ H,0 1.00 Mn3* + e Mné* 1.51
NO, + 2H" + 2¢e NO+H,0 1.03 MnO, +8H" +5e Mn?* +4H,0 1.51
VO~ +6H* +2e- 1.031 Oz +6H" + 6e” 3H,0 1.511

VO?* +3H,0 BrO; +6H" + 5e’ 1 2Br,+ 3H,0 1.52
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Eal V Eal V
2NO+ 2H* + 2e” N,O+ H,0 1.59 H,O, + 2H ™ +2e 2H,0 1.776
HCIO+H™* +e- 1 2Cl, + H,0 1.63 NaBiO; + 4H* + 2 >1.8
10; +2H" +2e 10; + H,O 1.653 BiO* + Na* 2H,0
NiO, + 4H* +2e” NiZ* + 2H,0 1.678 co’t +e” co’t 1.808
2NO+ 4H" + 4e’ N, + 2H,0 1.68 AP +e Ag* 1.98
PbO, + SO2° + 4H* +2e’ 1.682 S,03™ + 2e 2503 2.01

PbSO, +2H,0 Oz +2H" + 2e- 0, + H,0 2.07
Pb** + 2e- Pb? * 1.69 S,03" +2H* +2e- 2HSO; 2.123
Aut + e Au 1.691 MnO3;™ + 4H" + 2e 2.257
MnO; + 4H" + 3e MnO, + 2H,0  1.692 MnO, + 2H,0
BrO;, +2H" + 2e” BrO; + H,O 1.763 Fo+ 2H' +2e” 2HF 3.035
N,O+2H" +2e” N, + H,O 1.77

b.
Eg/ V Eg/ V

Al(OH), + 3e’ Al +30H " -2.30 AsOﬁ' + 2H,0 + 2e’ - 0.67
S03™ + 3H,0+ 4e” Si+ 60H ~ -1.697 AsO; +40H"
Mn(OH), + 2e” Mn+ 20H" -1.55 Ag,S+e’ 2Ag+ S - 0.66
[Fe(CN)g]*™ +2e Fe+ 6CN~ -1.5 SO3™ + 3H,0 + 4e’ S+ 60H" 0.66
Cr(OH), + 2e- Cr+ 20H" -1.41 Au(CN), +e- Au+ 2CN~ - 0.611
ZnS+ 2e” Zn+ S -1.405 | PbO + H,0 +2e" Pb+ 20H - - 0.58
Cr(OH); + 3e- Cr+ 30H" -1.34 2503 + 3H,0+ 4e - 0.571
[ZN(CN)4]?% + 2e- Zn +4CN- -1.26 S,03" +60H
Zn(OH), +2e" Zn+ 20H - -1.245 | PbCO; + 2e- Pb+CQO3" - 0.509
Zn0%" +2H,0+ 2e” Zn +40H" -1.216 | [Ni(NH3)g]?* + 2e- Ni + 6NH3 - 0.49
N, +4H,0+ 4e” N,H, + 40H" -1.15 NiO, + 2H,0 + 2¢” - 0.490
NiS(y ) + 2e- Ni+ S~ -1.04 Ni(OH), + 20H"
[Zn(NH,),]12* + 2e Zn+ 4NH, -1.04 S+2e g - 0.48
FeS+ 2e” Fe+ S?- -0.95 2S+ 2e” S - 0.476
SO, + H,0+ 2¢e SO3™ +20H" -0.93 [CU(CN),] ~ +e” Cu+ 2CN~ - 0.429
PbS+ 2e- Pb + S?° -0.93 Cu, O+ H,O+ 2e” 2Cu+ 20H" - 0.358
HSnO, + H,0 +2e" Sn+ 30H" -0.909 | Ag(CN); +e- Ag+2CN- -0.31
CoS@) +2e Co+ S -0.90 Cu(OH), + 2e- Cu+ 20H* -0.224
Fe(OH), + 2e- Fe+ 20H - -0.877 | NO; +2H,0+ 3e" NO + 40H" -0.14
SnS +2e” Sn+ S?- -0.87 CrO3 " + 4H,0+ 3e- -0.13
NiS() +2e" Ni+ S?- -0.83 Cr(OH); + 50H"
[Co(CN)g]3 + e [Co(CN)gl?- -0.83 [Cu(NH3),]" +e- Cu+ 2N Hs -0.12
2H,0+ 2e" H, + 20H - -0.828 | [Cu(NH3)4]1%" +2e” Cu+ 4NH;, - 0.05
CuS +2e" Cu+ &~ -0.76 MnO, +2H,0 + 2e” - 0.05
Ni( OH), + 2e" Ni+20H" -0.72 Mn(OH), + 20H -
HgS( ) +2e Hg+ S~ -0.69 [Cu(NH3),]2* +e” - 0.01
SbO, +2H,0+ 3e’ Sb+ 40H" -0.675 [Cu(NH3),]* + 2N Hs




Eg/ V Eg/ V
NO; + H,0 +2e” NO; + 20H - 0.01 ClO" + H,O+ e 1 2Cl, + 20H" 0.49
Ag(S,03)3 + e Ag+ 2S,05° 0.017 BrO; + 2H,0 +4e" BrO™ +40H- 0.54
S,0%" +2e” 2S,03" 0.08 MnO; + e MnQOj - 0.558
[Co(NH)g]3" + e [Co(NH)g]?* 0.108 ClO; + 4H,0+8e" Cl- + 80H " 0.56
Mn(OH)3 + e Mn(OH), + OH" 0.15 MnO3™ + 2H,0 +2e” 0.603
Co(OH);+e” Co(OH), + OH" 0.17 MnO, + 40H"
2105 + 6H,0+ 10e” l, +120H " 0.21 BrO; + 3H,0+6e" Br- + 60H" 0.61
PbO, + H,0 + 2e” PbO+ 20H ~ 0.247 ClO; + 3H,0+6e" Cl” +60H" 0.63
10; +3H,0+ 6e” |~ +60H" 0.26 FeO?  +4H,0+ 3e- 0.72
MnO; + 4H,0 +5e" 0.34 Fe( OH) 5 + 50H"

Mn(OH), + 60H ~ BrO~ + H,O+ 2e- Br- + 20H - 0.761
[Fe(CN)g]3 +e- [ Fe(CN)gl*" 0.356 ClO™ + H,0+ 2e- Cl- +20H" 0.89
[Ag(NH3),] " +e” Ag +2NH; 0.373 Cw* +2CN"~ + e [Cu(CN),]"- 1.12
O, +2H, 0+ 4e” 40H - 0.401 MnO; + 2H,0+3e" 1.23
2BrO" + 2H,0+ 2e’ Br, + 40H" 0.45 MnO, + 40H"

Ag,CrO, + 2e- 2Ag+Croz- 0.464 Oz + H,0 + 2¢° O, + 20H - 1.24
10" + H,0 +2¢ I~ +20H " 0.485 F,+ 2e 2F" 2.866
E'/V

Ag* + e Ag 0.792 1 mot L tHCIO,
0.228 1 mot L~ tHCI
0.59 1 mol L~ *NaOH
H,ASO, +2H* + 2e” H;AsO; + H,0 0.577 1 mot L~ *HCI, HCIO,
0.07 1 mot L~ *NaOH
- 0.16 5 mot L - 1NaOH

Audt + 2e-

AUt + 3e

ce't +e

Au*

Au
ce’

N WO NN
o O w o N

N e == T S
o 0 © ~N =N
=N Y =

N
N

0.5 mot L 1H,S0,(
1 mot L~ THNO,(

1 mot L 1HCI

7 8mot L 'NaOH
“lHCIO,
“lHCIO,
“lHCIO,

1 mol L
L
L
6 mot L 1HCIO,
L
L
L

2 mol
4 mol

“lHCIO,
"THNO,
"1HNO,

8 mol
1 mol

2 mol
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E'/V
1.61 4 mot L THNO;,
1.56 8 mol L 'HNO;
1.44 1 mot L 'H,S0O,
1.44 0.5 mot L 'H,S0,
1.43 2 mot L *H,SO,
1.28 1 mot L~ tHCI
Co3* +e” Co?* 1.84 3 mot L 'HNO;
Cr3* +e- cret - 0.40 5 mot L HCI
Cr,03" + 14H* + 6e- cr* +7H,0 0.93 0.1 mot L *HCI
0.97 0.5 mot L *HCI
1.00 1 mot L *HCI
1.05 2 mot L 1HCI
1.08 3 mot L tHCI
1.15 4 mot L tHCI
0.92 0.1 mot L 'H,S0,
1.08 0.5 mot L "*H,%0,
1.10 2 mot L *H,SO,
1.15 4 mot L *H,S0,
0.84 0.1 mot L *HCIO,
1.10 0.2 mot L *HCIO,
1.025 1 mot L tHCIO,
1.27 1 mot L THNO;,
CrO%" + 2H,0+ 3¢’ CrO; + 40H" - 0.12 1 mot L~ *NaOH
Cw* +e- cu* - 0.09 pH = 14
Fe3* + e Fe?+ 0.73 0.1 mot L tHCI
0.72 0.5 mot L "tHCI
0.70 1 mot L~ tHCI
0.69 2 mot L tHCI
0.68 3 mot L tHCI
0.64 5 mot L 1HCI
0.68 0.1 mot L *H,S0,
0.674 0.5 mot L 'H,S0,
0.68 4 mot L 1H,SO,
0.735 0.1 mot L tHCIO,
0.732 1 mot L~ tHCIO,
0.46 2 mot L~ 1H;PO,
0.70 1 mot L *HNO;
- 0.68 10 mol L ~1NaOH
0.51 1 mot L *HCI+ 0.5 mot L 1H;PO,
2 HFP* + 2e” Hg* 0.920 1 mot L tHCIO,
0.28 1 mot L 1HCI
Hg " +2e 2Hg 0.33 0.1 mot L *KCl

0.28 1 mot L - 1KCl




E'/TV

I3 +2e”

I,(aq) + 2e”

Mt +e-

MnO; +8H" + 5e~

3l

2| -

Mn2*

O, + 2H,0 +4e”  40H"

Sh®t + 2e-

sn*t + 2e

SnCIZ™ + 2e-
SnClZ™ + 2e-

Ti*" + e

Sb3+

sn?*

Sn +4Cl”

SnCI2- + 2Cl-

Ti%*

Mn®* + 4H,0

0.25

0.66
0.274
0.5446
0.6276

O O O O O k- P
[00]
N

KCl

4 mot L tHCIO,

1 mot L-

0.5 mol
0.5 mol
7.5 mot

1 mol
1 mol

6 mol

L
L
L

3.5 molt

1 mot
2 mol
1 mol
1 mol
1 mol

5 mol

L
L
L
L
L
L

0.1 mol
4.5 mol

1 mol
5 mol

L
L

0.1 mot
0.2 mot

2 mol L-

tHa

L-1H,s0,
L 'H,0,
L 'H,S0,

“Hclo,
-1NaOH
“THCI

L tHC

“HCl
“Hcl
“IHCIO,
“IHCI
“IHCI
“IHC

L *HCI
L 'H,S0,

“1H,PO,
“1H,PO,

L "1KSCN
L 1H,S0,
H,s0,




10.
,1999
11.
, 1995
12.
,2000
13.
, 1998
14. :

, 1993

, 2001

, 1996



. ; , 2000

15. John W H . Chemistry for changing times . Eifth edition . New York:
Macmillan Publishing Company, 1988

16. Moeeller T,Bailar JC, et d . Chemistry with Inorganic Quantitative A nal-
yds . New York: Academic Press Inc ., 1980

17. Skoog D A, West D M . Anaytical Chemistry . 4th edition . Philadelphia:
Saunders Callege Publishing, 1986

18. Haltzciaw H F, Bobinson W R,Odom J D . General Chemistry with Qual-
itative Analydgs . Ninth edition . Lexington: D . C . heah and company, 1991



3. -0.15, 0.60%
5. 0.155+ 0.004

1. 0.91 mo kg™, 7. 9.56% 0.19,
0.88mo L™ ", 0.016 9.56+ 0.13
2. 100.08 , 100.15 9. w(P.G):8.47%,
6. CoiH20O,, 310.3g mol * 0.09%,0.13%,1.5%,
7. 270.98 K, 373.76 K (8.47 £ 0.11)%, (8.47 %
8.74.1¢g 0.21) %;
13. G H12 O w(SiO):1.61%,

0.08%,0.10% ,6.2%,
(1.61+ 0.10) % ,1.54%,
0.14%, 0.18%, 12%, (1.54

15. 7.1%, 0.44 mot kg '

1. 17 kJ + 0.30) %
3- 425 g 13. 0.005080 g mL *
5- 219.0 kd mol " * 15. 0.03026
7-A H ()= 17. 91.41%

o -1 19. 56.08%

- 1366.8 k3 md
11. T>1110.3 K 21. 31.60%; 45.17%;
. T> .
15. 2.4x 10" > 43.65%
17. 61.7% ,92%
19. 2.6x 10", 8.9x 10"’ s
21. 6.7x 107, 2.5x 10" 3. 5x 10
23. -317kImd "’ 11. 6.99
1 13. 7.21

25.5.0x 10 “md " L's
27. 2.2x 10" *h !

33. -4.73kd mol *

35. 3.70x 10 *°s ' ,676 K

19. 91.28% ,8.72%
23. 0.4918,0.2839
25. 3.4293 g

29. 8.88

31. 0.0582

33. 9.23x 10°* mol L™ *
1. 0.2 g, 20 mL



12.
16.
17.
19.
21.

7.
9.
11

13. 4.38x 10°,3.93x 10',1.59% 10°,1

1.6x 10 *°

1.4x 10" ° mot L~
,0.218 g

9.9

3.53< pH< 6.90

CuCGs

0.79

0.3165

0.610

12.34

1

0.298 V
0.736 V, 0.831V
.0.58 mot L *

17.

18.
19.
21.
23.

1.
2.
15
16
22
36

37.

6.
8.
9.
10

0.4711
0.00672 mot L~
0.912

0.0321 mol L

1

1

4.57x 10" s°*,656 nm
1312 kd mol " *

. 141 k3 mol’
. 391 kd mol*,159 kd md " *
. 43.4%

. 638.7 kd mol *

- 660 kJ mol

1

2.45 mol mL™*

(1) -0.48V, (2)0.352 V
5.4x 10 " mol mL’
.8.67mo mL*

1

14. 4
15. 0.01082 mol L
16. 111.9

17. 0.1420

18. 0.6251, 0.3406, 0.0399
21.4.78x 10 ** mol L1
23.0.01468 mol L *

1

, 4.028 g

1. 50% ,87%
3. pKa=6.63
5. a=1.8x 100 L gem™*,
K =1.0x 10' L md " em
S=5.6x 10" *ug cm™?
7.0.0037 0.013g L "
9. 1.0x 10*
11. 0.155, 24.0%
13. ¢(Cr,G; ) =1.01x 10 °mol L *,
c(MnQ ) =2.95x 10 “mol L™*

3. 2.26, 6.05
4. 3.35% 10 °mo+ L~
5. 0.446 V

1

6. 1.000 mol L™ *
11. 0.405 L

1. 0.0142 mot L™, 90.6%;
0.00446 mot L™ ', 97.0%;
7.07x 10" mot L™ *,99.5%

3. 13

7.0.4

9. 3, 0.039% g

11. 0.03064 mol L°

1
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